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270 T LT 61252 Tk x%66 1 X EATEE A X = - 2 880 5 500 1385
271 [ eLa 61252 7kksickokok 6622 HE SRR X = — 1Y 1 575 5 500 1080
272 X EF 61252 Tskkleloltolok66 14 EATEEEA X A — 4 1 665 5 500 1170
273 XIET 61252 7%k x3k6620 A A XU =} 1 470 5 500 975
274 VN GbLR 61252 7klelokkk662 1 A A XU — R 2 1015 5 500 1520
275 [Ryit 58 61252 Tkttt 66 14 EAEE A X — 4 2 1330 5 500 1835
276 X B 7 61252 7klkololokkek 6627 HA AR X =4 5 1630 5 500 2135
277 RITHR 61252 Tkttt 66 17 EATEE A X —1Y 1 505 5 500 1010
278 VNN 61252 7%k k%566 10 HAEE A X — kY 2 875 5 500 1380
279 AL 61252 THkkkk5k%6626 BT R X A =Y 1 470 5 500 975
280 YIEZE 61252 Tkt 66 19 EAEE A X Y 5 2210 5 500 2715
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281 Yawivdzl 61252 7ickolotok k6610 HE S A X = A 4 1615 5 500 2120
282 SENE 61252 Tkl 66 1X A A X U - 1 440 5 500 945
283 RITHR 61252 7skololok k6616 HA S A X — 1Y 2 1150 5 500 1655
284 XER 61252 7kklolokkk66 15 HA A X — 1Y 1 440 5 500 945
285 R 61252 Tkttt 66 19 EATEE A X = — Y 3 1110 5 500 1615
286 Fhk 612527 kkk k%7215 HE SRR X = — kY 3 1335 5 500 1840
287 BrAt-4 61252 Tskklolstolok66 1 X EAEE A X =4 1 470 5 500 975
288 B 612527 %kkk k4 %%6623 HAEE A X — kY 3 1335 5 500 1840
289 i 61252 7kkkkkk661 | HE S A X — kY 4 1885 5 500 2390
290 et 61252 7sksksokk k66 1 8 EATEE A X = - 1 575 5 500 1080
291 X 7 61252 7tttk 6829 A A XU — R 2 1105 5 500 1610
292 HeATF 61252 Tkl 6624 EAEE A X —1Y 1 595 5 500 1100
293 KA 61252 7tttk 661 2 HA A A X =} 1 470 5 500 975
294 VEEENE 61252 Tkpkdok66 13 ER A X 2 — Y 2 625 5 200 1130
295 TAF 61252 Tskkeieletotolok6623 AR A A X U R 1 595 5 500 1100
296 B A% 61252 7kkokolokkk66 19 HEEE A X = — 1Y 1 440 5 500 945
297 JI Al 61252 Tkl 66 10 EATEE A X = —1Y 3 1110 5 500 1615
298 T4 61252 7klotokktk661 1 HEEE A X = — kY 3 1110 5 500 1615
299 EAmt 61252 Tksokkkik661 1 HE S A X — 1Y 1 440 5 500 945
300 kit 4R 61252 Tkttt 66 13 AR A A X U A 2 875 5 500 1380
301 e 61252 7%k k3k6612 HA A A X Y 3 1110 5 500 1615
302 F i 61252 Tkt 6628 EATEE A X = - 3 1590 5 500 2095
303 XN 612527 %kkkk%%%66 15 HE A A X = — 1Y 2 1150 5 500 1655
304 B 612527 kkkkk%%66 1 4 HA A X =} 2 490 5 500 995
305 [N 61252 Tskkioltotolok6622 EATEE A X — Y 1 595 5 500 1100
306 FIRBR 612527 %kkk ok %%66 1 4 HAEZY F R AU — kY 3 1245 5 500 1750
307 XEH 61252 Tkkloletetolok6625 EEA R B 1 505 5 500 1010
308 3 61252 Tx%kk%%%%6626 EREZ T ROR DU A 1 595 5 500 1100
309 WEH 612527 kkkokiok k6616 B TR A —RY 1 575 5 500 1080
310 KT 61252 Tkskskekekekekek66 12 EREEA RN Y 1 505 5 500 1010
311 RITED 61252 Tkt %6619 AT EA A Y 2 965 5 500 1470
312 RIEM 61252 Tkttt 66 13 EEA R B 1 370 5 500 875
313 RKE~ 61252 Tkskkk3k6622 HAEA EEA TE — 1Y 3 1455 5 500 1960
314 X ZEFF 61252 7kt k66 16 A TR A — 1Y 3 1110 5 500 1615
315 R 61252 Tkl 66 1X R TR = — 4 2 880 5 500 1385
316 Y X=DE 612527 kkkk4k4%661 7 HAEZG TR AT U — R 1 665 5 500 1170
317 Y ER 61252 Tkttt 66 13 EAEZ) F R AT U =4 6 2235 5 500 2740
318 [N %S 611026kkklkkkk6623 A EEATE — 1Y 1 575 5 500 1080
319 RITE 612527k k%%6624 AT ENTA — kY 1 595 5 500 1100
320 ki3 61252 Tskkloltotolok6629 EAEA T A A — 1 440 5 500 945
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321 EREIT 61252 7kksickkik66 15 HEEA EEA A —1 3 870 5 500 1375
322 A2 5k 61252 Tkt 66 13 EREA R =4 3 870 5 500 1375
323 e 61252 7 kkokkkkk662X A2 TR R VYA —1Y 3 1770 5 500 2275
324 MR 1 61252 7scklolokkk66 10 ALY F R AU — kY 1 595 5 500 1100
325 RIEGE 612527 kkkekekkokk66 16 R TR = - 1 440 5 500 945
326 AWAES 61252 7kkkkkkk661 | A TR — 1Y 1 575 5 500 1080
327 HARE 61252 Ttttk k662 1 EAEZ) F R AT U - 1 440 5 500 945
328 HOE4 61252 7%tk %%k6636 HAEZY F R AT JUE =} 4 1340 5 500 1845
329 AL ] 61252 Tkl k6614 A TR A — 1Y 3 1110 5 500 1615
330 = 61252 Tskkloltotolok66 18 R TR = =4 5 1720 5 500 2225
331 AP 61252 THkxkkk%66 1X =tiins: it L — Y 1 595 5 500 1100
332 AR 61252 Tkl 6624 EREA R —1Y 1 595 5 500 1100
333 HEHE 61252 7%k 66 12 B TR = A 3 1110 5 500 1615
334 [ 33k 7 61252 7kkkkkk661 | AT EA—H Y 1 370 5 500 875
335 DARER 61252 Tskklktotolok66 19 EREEA RN — Y 1 370 5 500 875
336 N 612527 *kkk k%466 16 HAEZG TR AT U — kY 1 370 5 500 875
337 RIETH 61252 Tkkelolelolok6626 EREA R =4 2 850 5 500 1355
338 A 61252 kool k0025 R ] — Ry 1 595 5 500 1100
339 £ EAL 61252 7 kkk k4 %%6659 AT EA—A Y 1 595 5 500 1100
340 JER 61252 TkskkekeekekekB627 R RN kY 1 595 5 500 1100
341 LG 61252 7kkickkik 4046 B F R — — kY 1 595 5 500 1100
342 R~ bt 61252 Tkttt 6627 EEA R =4 1 470 5 500 975
343 E 115 61252 7#%kk5k%%66 10 AT EATA =4 1 245 5 500 750
344 o KES 61252 7kkkkkk662 | EA Y TR UAH =} 6 1740 5 500 2245
345 N ulic 61252 T kskskekekekek661 1 E R TR U — kY 3 1110 5 500 1615
346 AIEVT 612527 xkokkkkk661X HEEA EEA — kY 3 1110 5 500 1615
347 HES 61252 Tkl 66 16 EEA R — 1 575 5 500 1080
348 REE 61252 7#%kk5k%%66 10 B TR = =} 4 1115 5 500 1620
349 EIEE 612527k k4%%66 15 A TR A A 3 1110 5 500 1615
350 FEZE 61252 Tkskskekeiekekek66 19 R RN =Y 6 1740 5 500 2245
351 RIBE 6125245 ksickkk 4873 HEEA EEAA A — 1Y 1 440 5 500 945
352 E=151 61252 Ttttk 7219 H AR VU B 2 875 5 500 1380
353 Ll 61252 7%k k%%6634 ER RN = H =} 6 2190 5 500 2695
354 IR EE TS 61252 Tkkkkkk662 1 AU E A YA — R 2 880 5 500 1385
355 2R 61252 kskkekeiekkk 7217 EREORER kY 1 370 5 500 875
356 o 612527 kksckokk 721 1 EREURE A VU4 Y 2 1010 5 500 1515
357 EAIAL 61252 Ttttk 7219 H AR VU B 1 505 5 500 1010
358 Egs A 61252 Tkskkx3k6628 E AR =} 1 470 5 500 975
359 AR 61252 Tkkkk%4%6616 ER RN — kY 5 2120 5 500 2625
360 gz 61252 Tkt 66 13 ERE IR = — 2 490 5 500 995
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361 REE 61252 7kksickkik 7219 B R A A 2 740 5 500 1245
362 e 61252 Tkskk4k6632 E AR =4 — k4 1 665 5 500 1170
363 I Ewal 610121 skttt 6957 by ALY L) — kY 1 505 5 500 1010
364 FHEA 61252 Tkkkkkx4%6629 E R E R — 1Y 2 1240 5 500 1745
365 JIFE 612527 kskskekeekekek66 19 EREORER 2 R 1 370 5 500 875
366 L 6110265 Fickk5k6632 ER RN = H — kY 1 595 5 500 1100
367 FNE 612527k ksikk3k7218 AU E A P — kY 2 1100 5 500 1605
368 B 61252 7%k 210 feRb oy ALY L) — kY 2 965 5 500 1470
369 TEET 61252 Ttk 7217 A E A YA —AY 1 380 5 500 885
370 H#OlVEE 612527k %6628 EA R = — kY 1 575 5 500 1080
371 R 61252 7kksickkiok 7212 FERb R ALY AT — kY 2 740 5 500 1245
372 {5 fi % 61252 Ttk 664X EREORER 2 —1Y 2 965 5 500 1470
373 RE 61252 7Kk x%k6619 B —A =AY 1 245 5 500 750
374 Bl 61252 Tkkkkkx4k6633 ER RN = A — kY 2 1010 5 500 1515
375 HEH 61252 Tkskkekeekokek6643 EREORERN 4 R 3 1110 5 500 1615
376 RSN 612527 *kkk k%466 16 A A P — kY 1 370 5 500 875
377 TYE 61252 Txkkkkkx% 7215 H AR VU — 1 575 5 500 1080
378 A4 A 61252 7kksickkk 6645 B A — kY 2 875 5 500 1380
379 BN 61252 7kkkkkk661 | B InH —H =} 7 2120 5 500 2625
380 AN 61252 Tskkeelolelolok66 14 E AR = =4 2 490 5 500 995
381 A4 612527 %kkkk k%466 16 B A — kY 3 1335 5 500 1840
382 EFant 61252 Tskskioleteotolok 7215 H AR VU B 1 595 5 500 1100
383 MEE 612527 kkokkkik661X E AR A 5 1985 5 500 2490
384 e 61252 Tkkkkxk662 1 AU E A YA — kY 1 595 5 500 1100
385 XA 61252 kskketeekokk 7227 EREORERN—4 — Y 2 875 5 500 1380
386 X F 61252 THkkxkkrkk68 1X R EUR SIE A U — Y 2 965 5 500 1470
387 ZEH ) 61252 Tkttt 68 17 ER RN = —1Y 2 965 5 500 1470
388 ENEH 61252 Tkkkkkxkk6812 BB SIER —H — kY 2 875 5 500 1380
389 Bl 61252 Txkkkkkx%681 1 HE R REN A — 1Y 1 575 5 500 1080
390 BIEE 612527k kikx3k6814 E AR ISR =AY 4 1475 5 500 1980
391 AN 61252 Tkkkkkxk6824 ERERSIEA — kY 1 595 5 500 1100
392 KIER 61252 Tk%skk45£6819 B AR SR —kY 3 735 5 500 1240
393 BIRE 61252 Ttk k68 13 EREURSIER — Y 4 1615 5 500 2120
394 s 61252 Tk x5k6813 B SIER — kY 3 1245 5 500 1750
395 ERE 61252 Takikokkkk68 16 EATEAC SRR =14 1 470 5 500 975
396 T 61252 Tkkkkkxkk6823 EREURSIEA — kY 5 2120 5 500 2625
397 XUJE 3¢ 61252 Tskkeloltolok68 10 E AR ISR —1Y 1 595 5 500 1100
398 TEH 61252 Tkkkk%4%6820 EREURSIER — kY 2 1100 5 500 1605
399 &k 61252 7%k %%6815 BN =W Y 1 370 5 500 875
400 EINiaRT 61252 Tkkiokstotolok68 15 EAEAR RN = Y 2 875 5 500 1380
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401 Mg 61252 THkkkkkx6645 R EURSIER — B 2 740 5 500 1245
402 EiNa= 61252 Tkklolstotolok6825 ER RN = —1Y 2 875 5 500 1380
403 MZERR 61252 Tk%kk%4%6316 BRSNS —Y 1 440 5 500 945
404 4N 61252 Tkkkkkx5k6817 R R SIS U ZH — k4 2 1015 5 500 1520
405 T e 61252 Tsekiciorkk 7210 HRHUR RN U R 3 1245 5 500 1750
406 JE ST 61252 Tkkkkkxkk6642 B SIEA —Y 2 1015 5 500 1520
407 FIARZE 61252 Ttk k6813 E AT RN — 1 440 5 500 945
408 A 61252 7%%kkkk%%6816 BRI —H =4 2 715 5 500 1220
409 ERE & 61252 Tkkskkx5k6815 BRI —H — k4 2 1015 5 500 1520
410 2 61252 Tskkioltotolok68 15 HRHUR KM U =Y 5 1630 5 500 2135
411 Sk Z 61252 Tkkxkkrkk681 1 BRI — Y 4 1840 5 500 2345
412 KK 61252 Tk%skk45£6819 AR R ] 3 1110 5 500 1615
413 R 61252 Tk :6828 EAER SIS =Y 3 1005 5 500 1510
414 BT 61252 Tkkiekiork68 14 EALEAR S 1Y 5 2120 5 500 2625
415 JE g 61252 Ttk 7017 EA RN W — Y 3 1335 5 500 1840
416 ot 61252 Tkokiokx7029 BTN ] 1 575 5 500 1080
417 GE 61252 Tkskkk6822 AR — k4 2 1105 5 500 1610
418 [ aney 612527k k44%7019 EREREN W — 4 1 665 5 500 1170
419 ExRE 612527 wkkkokiork 7017 BRI IIA — 1Y 2 740 5 500 1245
420 ERE 61252 Tsekiciorkx 7010 HA R ERVUH — 2 1105 5 500 1610
421 P 61252 7*xk0kkkkk 701X B ERNA A 3 1095 5 500 1600
422 = 61252 Ttk 7 02X AR — k4 1 575 5 500 1080
423 T Hi bR 61252 7%k x3k7015 EiEEEN A — kY 2 875 5 500 1380
424 PLEH 61252 Tskoktokxk 7014 EREREN A Y 2 1100 5 500 1605
425 ERF 61252 Tk k6846 EAEE R LR A — kY 1 665 5 500 1170
426 okl S 61252 7kickkik7010 EREEEN W — kY 2 875 5 500 1380
427 gk NE 61252 Tsckiciok k6816 EREEENTH — 4 2030 5 500 2535
428 e f g 61252 7kksickkk68 13 HERENZH — 1Y 1 440 5 500 945
429 R % 61252 7ksickkik 701X EEREN A — kY 3 1470 5 500 1975
430 FEAtE 61252 Tsekictotokx 701 1 EREEEN A =4 4 1205 5 500 1710
431 Jiidtt 61252 7kksickkik 6827 B EA YA A 2 715 5 500 1220
432 R4 61252 Tskkelolselok 701X EREEEN N —1Y 2 965 5 500 1470
433 AARE 61252 7kksickkk68 13 HRERERVUAH =AY 4 1250 5 500 1755
434 B pER 612527 kkktok4%7023 EREREN A — 4 1 440 5 500 945
435 A S 61252 Tskesstotortk 7013 HA R R VUH =4 4 1475 5 500 1980
436 ThEE 61252 7#ksokkx3k681 1 B EA YA — kY 2 875 5 500 1380
437 AL 611026kttt 66 17 HEREER A =4 1 470 5 500 975
438 Ji 2 612527 kkk ko 4%68 1 7 ERERERN A =AY 2 490 5 500 995
439 S 61252 Tkkkkkx4%k6815 ER RN W — kY 4 1840 5 500 2345
440 REE 61252 Tsekiciorkek 702X HERERN = — 1 575 5 500 1080
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441 VAL UG 61252 7sckolclokkk68 1 X B EA YA —1 5 1630 5 500 2135
442 [ i 61252 Tkt 701X EAEZR RN — kY 1 370 5 500 875
443 =T 611026%kkkkkk%6616 ERERERN A A 1 595 5 500 1100
444 WA 612527k k446816 EREREN A — kY 1 595 5 500 1100
445 FRE 61252 Tskkkelelelolok6820 HERERN A — Y 1 595 5 500 1100
446 1D 61252 Tkl k7410 E PR — =4 7 2120 5 500 2625
447 i 61252 Tksoksor 7415 BRI — 20 — 3 1245 5 500 1750
448 Tk 61252 Tkt 741 1 AP =4 3 1005 5 500 1510
449 (i 61252 Tk 7417 E AP A — — R 1 440 5 500 945
450 R 61252 kkkkeekokek 7415 E R A — 2 R 4 1750 5 500 2255
451 EtH 61252 7ksickkiok 7417 E PR — — kY 1 370 5 500 875
452 F R 61252 Ttoktkok 741 1 EALAE P A =4 ] 5 2255 5 500 2760
453 TR 61252 TkkskkkkT7426 AP —1 1 245 5 500 750
454 B 61252 Tkkkkkx4k7418 AP — kY 1 595 5 500 1100
455 S R 1 61252 Tkkkkkxx 7419 E PR =4 1 470 5 500 975
456 EAE 61252 Tkkskkx3k7418 E PR — = 6 1740 5 500 2245
457 REEF 61252 Tkl 742X ERE AR =2 —1Y 1 370 5 500 875
458 R 61252 Tkt k7426 H AP A = =4 1 470 5 500 975
459 ARUBEL 61252 Tkt 741 1 AP =2 — 1Y 1 665 5 500 1170
460 s e 612527k kikx3k7416 AP A — =AY 6 1875 5 500 2380
461 LN 61252 Tkt k7418 AP =4 2 625 5 500 1130
462 ES=L} 61252 Tkkskkk 7416 EALAE P A =4 =AY 5 1495 5 500 2000
463 X% bk 612527 %% 741X H AP A — =4 2 490 5 500 995
464 a6 Eo 612527 %k %%T7416 E RPN = Y 1 505 5 500 1010
465 SRt 612526 kkkkekx48383 ERE R =20 Y 1 505 5 500 1010
166 M 61252 7kksickkiok 7417 E PR — = 3 1140 5 500 1645
467 JBLED] 61252 Ttttk 7417 E PR =4 1 470 5 500 975
468 = 61252 Tkkskkkik7423 H AP A = — kY 1 505 5 500 1010
469 hEfE 61252 Ttk 7415 H PR = =R 4 980 5 500 1485
470 FEA A 61252 T kskketeekok 7421 E R A — 2 R 1 505 5 500 1010
471 SRS 612527 xkkkkk 4% 7416 E PR — — R 1 440 5 500 945
472 Lo 61252 Tkl 4820 ERECEENA =24 =4 1 470 5 500 975
473 g 612527 %kkk k%4827 E A = A 2 740 5 500 1245
474 FALRE 61252 Tkkskkkd813 E A — R 1 665 5 500 1170
475 HEKHE 61252 Tskkeiokstotolok48 15 E R =4 4 1115 5 500 1620
476 [t S 61252 7ksickokiord83 | E A — kY 1 505 5 500 1010
4717 Ik F 61252 Tskktoltotolok4 817 E A — 4 1 665 5 500 1170
478 oK 61252 7ckololokkx 4816 B P — R 2 1240 5 500 1745
479 e 61252 7ickololokkx4816 A Y — 1Y 2 1015 5 500 1520
480 TR A 61252 Tkl 48 1 X E R ECEE R PU2H — 2 760 5 500 1265
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481 K E 61252 7kkkkkkokd8 1 X A P — 1 1 575 5 500 1080
482 TR 61252 Ttttk 4827 ERECEENA =2 - 1 575 5 500 1080
483 TR 61252 7kkickkikd8 14 BT A — kY 3 1470 5 500 1975
484 T4 61252 Tkokkotk481 1 BT A =4 2 760 5 500 1265
485 RNl 61252 Tkskkekeiokokek4 813 ERECEENR =2 Y 2 875 5 500 1380
486 BRI 612527 %kkkkkx%4815 BT A — 1Y 1 440 5 500 945
487 k) 612527 kksikx3k4810 AR R IO 2] —k4 1 575 5 500 1080
488 [Tt 4> 61252 7kickkikd8 14 E AR — R 1 440 5 500 945
489 ] B4R 61252 7kkickkkd816 AR A — 1Y 2 1015 5 500 1520
490 FIIN 61252 Tkt 48 19 E AR PO R 2 875 5 500 1380
491 AL 61252 Tkkskkk3k4812 E A — R 2 1015 5 500 1520
492 FHERY 61252 Ttokkkkd81 1 E AR A =4 —kY 5 1855 5 500 2360
493 B/ 61252 7Kk 817 BT A — 1Y 1 665 5 500 1170
494 RPN 612527k 4x4819 AT A Y Y 3 1245 5 500 1750
495 TiEuE 61252 Tskttototokk483 1 E A — 4 1 440 5 500 945
496 Tt 61252 7kickkikd8 10 E A — kY 1 370 5 500 875
497 gk /N 61252 Tkl 48 10 H AR VO =4 6 1875 5 500 2380
498 ETE 61252 Tkt k4818 AR P — 1Y 2 1015 5 500 1520
499 THH 61252 Tkkkkkkk482 1 AT A Y =} 2 625 5 500 1130
500 IMET > 61252 Tkskkekeokokok4 843 ERECEENR =2 — 4 1 575 5 500 1080
501 HittH 61252 7%k %%%4816 BT A =4 3 870 5 500 1375
502 FE 61252 Ttttk 48 19 ERECEENA =2 —1Y 4 1615 5 500 2120
503 REK T 61252 THkkkkkx4829 BRI A =Y 2 715 5 500 1220
504 T RV 61252 Tdokkotxk4818 E A =Y 3 735 5 500 1240
505 F5HE>= 61252 Tkskkekeiokokek4 822 ERECEENAR - 1 575 5 500 1080
506 MRt 2 61252 7kkkkkkokd8 1 X E A — R 2 1105 5 500 1610
507 FERHAL 61252 Tkskekeekkek4 812 EHEENN A — kY 1 370 5 500 875
508 R 61252 Tkt k4825 BT A A 1 505 5 500 1010
509 A 61252 Tkokiok*4832 EAR R A — 1 380 5 500 885
510 S L 61252 Tskkeloletotolok4827 H A VO =4 1 470 5 500 975
511 Rib4 61252 Tkt %4815 A P =14 1 245 5 500 750
512 E AR 61252 Tkkskkk4817 E AR A =4 —kY 2 760 5 500 1265
513 BB 61252 7kkkkkrk48] | AT A P2 =} 3 1095 5 500 1600
514 BB 61252 Tkkkkkx4%k4818 AT Y2 =R 5 1360 5 500 1865
515 A2 61252 Tkskskekeiokokek4 813 ERECEENR =2 =Y 4 1115 5 500 1620
516 L 61252 Takkkkkk %4826 E A =4 1 470 5 500 975
517 T % 61252 Tkskkk4825 E AR A 4 —kY 1 470 5 500 975
518 EMNTE 61252 7#kkkkk%%4826 E A = =} 1 470 5 500 975
519 Elwa 61252 Tkkkkkkk4822 B A = 1 470 5 500 975
520 TREF 61252 Tkt 4825 ERECEEN A4 — 1 470 5 500 975
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521 SRS 61252 7kt 482X B A —1 1 470 5 500 975
522 iR 61252 Tkkskkk4810 AR R IO 2] —kY 1 470 5 500 975
523 BRI 61252 Tkl k482X E A = =4 1 470 5 500 975
524 ATAH A 61252 Tkkkkkx4k4829 BT A = 1 470 5 500 975
525 [t 61252 Tksksketeiekokek4 812 EEEENN A =Y 1 470 5 500 975
526 PiSinEY 612527 kkk k%4857 B —A = 1 470 5 500 975
527 TI5E 61252 Tkksktkk 482X E AR A 4 —kY 1 470 5 500 975
528 kT 61252 Tkl k482X B P2 =4 1 470 5 500 975
529 XEEE 61252 Tk x%482X ER A = A =R 1 470 5 500 975
530 THEH 612527 kkkeekkokk 4816 ERECEENR =2 =Y 6 1740 5 500 2245
531 B fei 61252 Tkksokkkiokq 81 1 BT A — kY 6 2715 5 500 3220
532 RITHR 61252 Tskkeloltolok48 10 ERBCEENA =24 =4 4 1115 5 500 1620
533 73 % B 61252 7%kkkkk4%4815 E A — kY 3 1380 5 500 1885
534 TR AR 61252 Tskoktokxk481X AT A Y Y 1 595 5 500 1100
535 LA 61252 Tkktoktotolok48 15 E AR =4 5 1360 5 500 1865
536 IRIE 61252 7kksickkikd8 18 A A Y — kY 5 2255 5 500 2760
537 TIEE 61252 Tkskkekekokokek 4824 EEEENN A —1Y 1 370 5 500 875
538 P LN 61252 Tkt k4819 AR P A 3 1110 5 500 1615
539 £ Mt 612527 kkkkkkx481 8 AT A Y =Y 1 470 5 500 975
540 TAEH 61252 Ttttk 8117 ERECEERR — Y 1 595 5 500 1100
541 FEEAE 61252 7skkkokkk 481X E A = — kY 2 740 5 500 1245
542 NN 61252 T kskketekekk4 81 1 E R ECEE AR PO —1Y 2 740 5 500 1245
543 G A 61252 Tkt k4815 AR P2 A 3 1335 5 500 1840
544 ke 61252 Tkkkkk4%4826 ER A = A — kY 1 595 5 500 1100
545 £ 61252 Tkttt k4827 ER A A A PO — Y 1 595 5 500 1100
546 FRMTF 61252 7skkkkk k482X A A Y Y 1 595 5 500 1100
547 LR 61252 Tkkskk4k4819 A E R U2 — kY 1 595 5 500 1100
548 R 61252 THkkkkk*4823 BRI — Y 2 740 5 500 1245
549 i 61252 Tkt 4817 BRI — k4 1 665 5 500 1170
550 S 61252 Tk x%4820 E AR Y 1 595 5 500 1100
551 1 M. T 61252 THkkkkrk%4820 A ER =2 — Y 3 1335 5 500 1840
552 T4 o 61252 Tskkiotototolok48 12 EAAE A =4 2 625 5 500 1130
553 T A 61252 Tkkskkx3k4812 H A R — R 1 575 5 500 1080
554 KEiE 61252 Tkkxkkrkd821 R SR VU — Y 5 2920 5 500 3425
555 UL 612527 kkikx3k4810 B AATE A P ] 3 1245 5 500 1750
556 XL 61252 Tkkskkx3k4819 E R TR — R 2 1015 5 500 1520
557 2k 61252 Tskkioltotolok4822 E R =4 3 1005 5 500 1510
558 YRGS 61252 Ttk k4822 BRI — 4 1 575 5 500 1080
559 R 61252 Tkkokrior 4818 R A VU =Y 2 625 5 500 1130
560 RS e 61252 Tkl 48 10 H A R VU — 2 880 5 500 1385
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561 P 61252 Tkskksk k4812 BRI —4 2 1105 5 500 1610
562 Al 61252 Ttk k4828 EAAE A — A 1 370 5 500 875
563 YT 61252 Tkkkksok %4810 EAEE AR — 2 1150 5 500 1655
564 M 61252 Ttk k48 12 R A VU4 — Y 1 440 5 500 945
565 TR 612527 kkpioickk4814 R A TOH =Y 4 980 5 500 1485
566 Mrdss 61252 Tkkxkkrkk481X BRI — k4 1 575 5 500 1080
567 KR 61252 Tsekiciorkx4 814 EAAE A — —14 1 440 5 500 945
568 P NE RS 61252 THkkkkk*4812 ERETHER =4 — 4 1 665 5 500 1170
569 e 61252 Tkkkkkx4%k4818 B AR — k4 1 665 5 500 1170
570 o 61252 Ttk k4825 E AR —14 1 575 5 500 1080
571 e 61252 Tkkskkx3k4829 EAE R =0 — kY 3 1245 5 500 1750
572 Al 61252 Tktsoiotsiokk48 10 R E A TOA — 44 3 1545 5 500 2050
573 AL 612527 kkokkkiokq 81X BT A — kY 2 740 5 500 1245
574 e 61252 Ttk 48 14 BRI — Y 2 875 5 500 1380
575 e 61252 Tsekiciorkxk4 81X B - 1 440 5 500 945
576 AL 61252 Tkkskkx3k4828 EAEE A — kY 3 1245 5 500 1750
571 R 61252 Tkkskotokk4 81 1 ER A R =4 Y 2 965 5 500 1470
578 [ 61252 Tkkxkkrkk481X BT ER = — 4 3 1590 5 500 2095
579 LS 61252 Tkl x 483X R A VU — Y 2 965 5 500 1470
580 R 61252 Ttk k4 813 B - 2 1015 5 500 1520
581 Mo 24 61252 Tkkxkkrkd821 BRI — kY 1 665 5 500 1170
582 et 61252 Tktsoiotsokk 4824 ER A E A ] =Y 3 735 5 500 1240
583 Falt 61252 THkkkkkx4829 BRI — Y 1 595 5 500 1100
584 Al 61252 Tkkkkkx4%k4819 A SR PYZH — 1Y 2 880 5 500 1385
585 X2l 61252 Taikksksokk4812 R B2 =4 6 1740 5 500 2245
586 R 61252 7%k k4810 A A A A 5 1855 5 500 2360
587 LS et 61252 Takikiork4814 A E A PO 2R =Y 1 380 5 500 885
588 B 7 61252 Tkrkkkk*4818 R ETH R VU =Y 4 1475 5 500 1980
589 BRoeE 61262 Ttk k4812 A ER =Y 6 1965 5 500 2470
590 S E 612527 kksikkokd 812 E AR =1 3 735 5 500 1240
591 W4 61252 THkkxkkrkk482X BRI — Y 3 1335 5 500 1840
592 G = 61252 Tsekiciorkx4 814 EAAE A =1 4 980 5 500 1485
593 KA E 61252 THkxkkrk%4826 BRI — 4 1 440 5 500 945
594 RS 61252 Tkl 481X BRI — 1 380 5 500 885
595 EHL 61252 Teksolotokiokd 812 E AR =1 2 760 5 500 1265
596 HEN 61252 Tkkskkxk4818 A SR PUZH A 1 380 5 500 885
597 AeE 61252 Takiokkkk4814 B A ATE B P =4 2 760 5 500 1265
598 MR 61252 Tkkskkxk4815 AL SR PUZH =AY 1 380 5 500 885
599 & e 61252 Tkl 482X BRI — 4 2 490 5 500 995
600 [¥ 75 61252 Tsekiciorkxd 814 H A R VU =4 2 490 5 500 995
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601 Y 61252 7kkickkkd816 R E R =4 A 2 490 5 500 995
602 A5 61252 Tkskkk4828 AL AR E U —kY 1 380 5 500 885
603 NS 61252 THkkkkkx4829 A ER — 2 — kY 1 595 5 500 1100
604 SREEIR 6110265 k555 %6625 R A VU4 — Y 2 1150 5 500 1655
605 [R5 S 61252 Tskktoltotolok 48117 E A R =4 6 1965 5 500 2470
606 PiHiE 61252 Tk x4828 EAEEER VYA =14 3 735 5 500 1240
607 e 612527 kpepiorkd81 2 AR PO = 2 625 5 500 1130
608 T 61252 Tkitorir4816 AT 2 A 3 1245 5 500 1750
609 S 61252 Ttk 482X EAE SR — — Y 3 1110 5 500 1615
610 A 61252 Tkt 4 821 R —2 — Y 1 595 5 500 1100
611 BrRE 612527 xkokkkiokd 82X AR — 4 — kY 1 595 5 500 1100
612 JEBE L 61252 kkkekeokkk4 817 R —24 —1Y 1 595 5 500 1100
613 K e 61252 7kksickkik4818 A AL A P2 — R 1 440 5 500 945
614 KK 61252 7 skkkokkx 482X AL Y 2e = 1 575 5 500 1080
615 X 61252 Tkkketeekekek4 825 E R AR PO 2 — 4 1 575 5 500 1080
616 EX 61252 7Kkt 4828 AL A U2 — kY 1 370 5 500 875
617 W K7 61252 Tkkteokkok4 828 E R AE AR PO 2 =Y 1 470 5 500 975
618 =] 61252 Tkickkikd8 14 A AL A Y2 — R 2 1150 5 500 1655
619 L E 61252 7%k %x%4819 E AR — Y 2 875 5 500 1380
620 ] T A 61252 Tskkllteotolok48 19 R —2 — Y 2 1010 5 500 1515
621 ZEAR A 61252 7kkkkkkokd8 1 X AR — 4 — R 1 440 5 500 945
622 BIE 61252 Ttttk 48 19 E AR — 1 440 5 500 945
623 itk AR 61252 7kksickkikd818 AR — 1Y 1 440 5 500 945
624 By 61252 Tkkkkkkkk481 1 AR =2 — 1Y 1 440 5 500 945
625 =SB 61252 Tkskkekeekokek4 817 R —2 - 2 1240 5 500 1745
626 X 61252 7kkickkk4816 AR — 4 — R 2 1015 5 500 1520
627 RN 61252 Ttttk 4822 H AL A PO B 2 740 5 500 1245
628 B E R 61252 Tkkskkrkl814 A AL A Y2 — kY 2 875 5 500 1380
629 B 612527 wkkkokiork4817 BRI A PO — Y 3 1680 5 500 2185
630 FEE 612527 kkkekekkekk 4826 E R AR PO 2 - 2 1015 5 500 1520
631 R E 61252 THkskkrk*4817 AR A U ZH — Y 3 1605 5 500 2110
632 R 61252 Tkttt 4823 H AR VO B 1 505 5 500 1010
633 JALE 61252 7Kook 4827 A AL A Y2 — R 1 575 5 500 1080
634 [ 1 61252 7kickkkd8 16 B AL A Y 2e —AY 5 1495 5 500 2000
635 T 61252 Tsksttototokk484 1 E AR — — 1 575 5 500 1080
636 AR B 61252 7kksickkiokd813 AR — 4 — R 1 440 5 500 945
637 IS 61252 Tekselotoriok4 814 A s — A — 2 1150 5 500 1655
638 R 61252 7kksickkikd817 AR A — 1Y 2 1150 5 500 1655
639 AR R 61252 7kkkkokkx481 4 AR =2 — 4 1 575 5 500 1080
640 AR 61252 Tskkeloletotolok4 8117 E AR = — 3 1590 5 500 2095
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641 B4 i 61252 7kksickkiokd813 AR =4 — 1 1 440 5 500 945
642 KI5 61252 Tkl 483X EREAE AR 2 —1Y 1 370 5 500 875
643 IXE 61252 Tkkxkkrkk483X AR R — 4 2 880 5 500 1385
644 ZEHZ 61252 7kkkkrk482 | E AR — =} 1 470 5 500 975
645 RITE 61252 Tskkeloletolok48 10 E AR =4 5 1720 5 500 2225
646 FRAR A 61252 7kksickkiokd8 12 AR A U2 — R 2 1015 5 500 1520
647 e E 61252 Ttttk 4829 E LR B 3 1245 5 500 1750
648 e 61252 7%k k%%4826 A AL A P2 — kY 4 1615 5 500 2120
649 JE XK 611026%kkkk%%%4826 E AR — — kY 1 595 5 500 1100
650 BIUHT AR 61252 Tkl 48 14 E AR - 1 440 5 500 945
651 L 61252 Tkkskkk3k4827 AR 4 — kY 1 505 5 500 1010
652 e AL 61252 Tskkololtook48 1X H AR PO — 4 1 575 5 500 1080
653 (eSS 61252 7ickolotokkex 481 4 AR 4 =4 1 245 5 500 750
654 BEIL 61252 Tkseickoniokd 817 EAEAL A YA =AY 1 245 5 500 750
655 ERESC 61252 Tskkeloltotolok48 12 E AR =4 5 1855 5 500 2360
656 T/ 61252 7kkktkokkk482 | AL A U2 — kY 1 505 5 500 1010
657 Z 1 bk 61252 Tkl 48 14 E AR =4 6 1740 5 500 2245
658 HE 61252 Tkkskk k4825 AR — 4 =} 1 470 5 500 975
659 o 61252 7 kkk ok 4x4825 E AR — =4 1 470 5 500 975
660 HR= 61252 Tskksikoxk4 824 A A P2 =AY 1 470 5 500 975
661 e 612527 k4% 4827 A AL A P2 = 1 470 5 500 975
662 BT 61252 Tkl 4826 EREAE R =2 =4 1 470 5 500 975
663 £HE 61252 7ksckokiord8 1 1 AR — 4 — kY 2 1100 5 500 1605
664 KRB 61252 Takikkiok*4815 AL AR A 2] =Y 2 625 5 500 1130
665 JX B 612527 kkikx3k4810 i st —a4 — 1 1 440 5 500 945
666 A 45 61252 7kksickkiok 4823 AR A U2 — kY 1 595 5 500 1100
667 I 61252 Ttttk 48 19 E LR =4 5 1855 5 500 2360
668 {5 f 61252 7kksickkikd813 A AL A Y2 — kY 1 595 5 500 1100
669 XEEEE 61252 Tskkkokokokk£4829 E A — A 1 370 5 500 875
670 Ev 61252 Tssiskekekekkk4818 R —2 Y 1 595 5 500 1100
671 P 61252 7 kkk ok %%4820 AR — 4 =R 2 490 5 500 995
672 AR E 61252 Tkttt 4822 ERECEENA =24 =4 1 470 5 500 975
673 iG] 61252 Tsckolctokkk 481X AR =4 — kY 1 595 5 500 1100
674 =R 61252 7%k %%%56 15 TR X —H — 4 1 440 5 500 945
675 B 61252 Tskkelotetolok56 14 TRV PR X — 4 1 440 5 500 945
676 Ri 61252 Tkt %5629 TR X — Y 4 1750 5 500 2255
677 M 61252 Tsksketototokk565 1 TREVY PR X 4 =4 6 2100 5 500 2605
678 AN Y 61252 7skololokkk5620 TR IR X = — kY 2 965 5 500 1470
679 BH X 61252 7kkkkkk56] | TR X =4 — kY 2 740 5 500 1245
680 Rk A 61252 7sksksotkokkk561 3 TREYD IR X PUZH Y 2 1100 5 500 1605
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681 [ A 61252 7%k k3k5615 TRV PR X VY R 1 505 5 500 1010
682 L 38 ] 61252 Tkl 56 16 TREY IR X LA B 4 1750 5 500 2255
683 Wi 61252 Tkt k5622 TRV IR X S A 3 1245 5 500 1750
684 PAES 6125275k %%56 1 X TR X S — 4 1 440 5 500 945
685 2 4 61252 Tk x%56 1 X TRAEY IR XN =4 4 1205 5 500 1710
686 [RiE 4 612527 kkkk4%%5619 TR X S — 4 1 440 5 500 945
687 -V 61252 Tkt 5624 TREYP IR XN B 1 505 5 500 1010
688 2 61252 Tkkkkkkk561 1 T REV PR X S — Y 1 665 5 500 1170
689 B K= 612527 xkkkk%%%5633 TR IR X S A 3 1470 5 500 1975
690 T4 61252 Tk k%561 X TRAEYP IR XN R 5 2480 5 500 2985
691 pd| 612527 kkk ok %%5623 TR IR X S — 4 1 575 5 500 1080
692 IS 61252 Tskstestototokk 561 1 TREY IR X B =4 2 490 5 500 995
693 ZENF 61252 Tkt %5613 TR X A A 4 1615 5 500 2120
694 XA 61252 Tkkkkkk k5636 TR X A Y 4 1750 5 500 2255
695 Va5 61252 7kkkokkxk56 19 TRAEY IR X — 4 1 440 5 500 945
696 [ e 7 612527k ok %%561 4 TR X A Y 2 1100 5 500 1605
697 14 B 61252 Tkttt 56 18 TREY IR X A B 4 1750 5 500 2255
698 [ AN 61252 7kksickokik6417 TR X H A — 1Y 1 665 5 500 1170
699 Ik 612527 kkkkk4%561 2 TR X A =Y 6 1740 5 500 2245
700 L E 61252 skl 56 1 X TREY IR X A — 4 1 665 5 500 1170
701 X2 B 61252 Tkt %561 1 TR X A Y 1 595 5 500 1100
702 (AR 61252 Tskstestototokk 561 1 TREY IR X A B 2 965 5 500 1470
703 AWl 612527 xkkkk%%%56 12 TRV PR X\ A 4 2020 5 500 2525
704 RIE T 612527k 4%5628 TR X S =} 4 1115 5 500 1620
705 XN 61252 7xkkkkk%%561 8 TREY IR XA =4 1 245 5 500 750
706 L g 612527 kkkk4%%5619 TR X HA Y 1 595 5 500 1100
707 EiRcEm] 61252 Txkkkkkx%5615 TREY IR X A =AY 1 380 5 500 885
708 BRI 61252 7k%ckk5k5626 TR X =4 2 490 5 500 995
709 EEE 61252 Tkkkkkxkk5612 TRV X IS —1 3 1005 5 500 1510
710 EAAK 61252 Tskktttolok 56 1X TRV PR X =40 =4 3 960 5 500 1465
711 RARFS 612527 xkkkk%%%5628 TR X —H Y 1 595 5 500 1100
712 MR 61252 Tkttt 5622 TREY IR X\ B 1 595 5 500 1100
713 U954 612527 kskkkkkok 56 1 X TRV A X —41 A 1 595 5 500 1100
714 735 ] 612527k 4%5639 TRE R X — 1Y 1 665 5 500 1170
715 RERE 61252 kskskekeekokek 5617 TRE R X — Ay 3 1245 5 500 1750
716 2 612527 kkkkk4%561 3 TRE R X — 1Y 1 665 5 500 1170
717 A 61252 Tkttt 56 33 TRE A X B 3 1245 5 500 1750
718 LifE 61252 7kckk5k56 16 TR R X —H — kY 5 2480 5 500 2985
719 TEH 61252 7%k %%5619 TR R XN — 1Y 1 665 5 500 1170
720 B 61252 Tskkiokstotolok56 15 TRER R A XN Y 1 595 5 500 1100
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721 TR 612527 kkkkk4%561 7 TRE R X —1 5 1720 5 500 2225
722 C =P 61252 Tkttt 56 12 T RER A XU B 3 1470 5 500 1975
723 MR 61252 7kkkkokkk5414 TREEEH XA A 4 1750 5 500 2255
724 HEHR 612527k k5 %%5620 TRE R X — 1Y 1 575 5 500 1080
725 A 61252 Tkt 5633 TRER R A X =4 5 1630 5 500 2135
726 A 612527 xkkkk%%%5612 TRE R X — R 5 2345 5 500 2850
727 fHIFE 61252 Ttttk 5642 TRE R X A —1Y 1 595 5 500 1100
728 A&7 61252 7kkkkkk562 | TREEAHX — 1Y 1 575 5 500 1080
729 JE 4t 61252 Tkttt 5618 TRE R X — 4 3 1815 5 500 2320
730 TRt AL 61252 Tskskttototokk 561 1 TRER A X =4 5 1720 5 500 2225
731 TEsAl 612527 kkkk4k4%561 2 TRE R X — 1Y 4 2165 5 500 2670
732 AEAH B 61252 Ttttk 56 17 TRE R X =4 6 1875 5 500 2380
733 XIER % 61252 Tkt k5633 TR R XN =4 3 870 5 500 1375
734 g KRR 612527 kkk k4 4%5638 TR A XU — kY 1 595 5 500 1100
735 ST 61252 Tskstetototokk 561 1 TRER R A X\ R 4 2065 5 500 2570
736 B 61252 Txkkkk%%%5624 TRE R X Y 1 595 5 500 1100
737 (O EES 61252 Tkttt 56 16 TRER R A XN =4 5 1495 5 500 2000
738 77 R 612527k %%56 1 X TREEEHX = =4 1 470 5 500 975
739 [~ B 61252 7%k 562X TR A XU =} 1 470 5 500 975
740 Hin 61252 Tkt 5623 TRE A X =4 1 470 5 500 975
741 [ o 1 61252 7kkototokkek561 7 TRE R X = 1 380 5 500 885
742 Tk R 61252 Ttttk 4022 TRER A X B 3 1245 5 500 1750
743 EANE SN 61252 7kkololok k5616 TRE R X — kY 1 370 5 500 875
744 X 22058 Ltttk 3075 TRE R X — 1Y 2 880 5 500 1385
745 =] 61252 Tkskkekekekekek5632 TRE A X - 1 665 5 500 1170
746 folean) 612527 kkkk4k%%561 8 TRE R X — kY 3 1245 5 500 1750
747 B 61252 Ttttk 5627 TRER A XN B 1 505 5 500 1010
748 AT 61252 7skkkk k642X TREARETHXAA — 1Y 3 1815 5 500 2320
749 ol 612527k 4k641 8 TREAEH XA — kY 2 875 5 500 1380
750 CI N 61252 Tskkiokstotolok64 15 TREA TR X R 3 1245 5 500 1750
751 Skt 61252 7skkkokkk64 1 X TREAEH XA — 1Y 1 440 5 500 945
752 ESSeil 61252 Ttoktokxk64 15 TREAEAHX — 4 1 575 5 500 1080
753 N E 612527 %kkkkkkk641 7 TREAEHX —H A 2 740 5 500 1245
754 TR AR 61252 7kickkiok6410 TREA R X PUA — kY 2 1010 5 500 1515
755 JE A 61252 Tskktokstotolok64 17 REAA A X VU A 1 370 5 500 875
756 e 612527 kkk ko 4%6429 TREA TR X PUA — R 2 880 5 500 1385
757 gk [ % 61252 Tsksktottotook64 13 TREA A X VU =4 4 980 5 500 1485
758 B A 61252 Tkl k6413 TREA TR XPUA A 2 875 5 500 1380
759 7K [F % 61252 TkokotoloktekG41 7 TREA e X PUA — 1Y 2 880 5 500 1385
760 gkt o 61252 Tsksktetototokk64 1 1 REAA A X VU — 3 1680 5 500 2185
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761 Sy A 612527 kkk k%6418 TREAEHXHA A 3 1470 5 500 1975
762 B 61252 Tskktolototolok64 12 TREAEHX A B 1 595 5 500 1100
763 R 612527 kkk k%6422 TREAEHXAA — 4 1 575 5 500 1080
764 [N 612527 kkktokkk641 7 TREA TR XN — 1Y 2 1240 5 500 1745
765 T 61252 Tskkioltotolok64 12 REA A XN R 2 740 5 500 1245
766 515 61252 Tsckololokkk64 1 X TREA TR XA — 1Y 1 575 5 500 1080
767 S 61252 Ticketeerkk641X REAA A XN - 3 1545 5 500 2050
768 K ST 61252 Tkt 64 14 TREA TR XA A 1 370 5 500 875
769 oS 612527kt 4x641 8 TREAEHXI\A — kY 5 1985 5 500 2490
770 FH R 61252 Tkttt 64 18 REAA AR X \A R 4 1750 5 500 2255
771 FH R 2 612527 kkkkokkk641 2 TREA TR XA — R 1 440 5 500 945
772 Sttt 61252 Tkttt 6425 TREA X \A B 5 2120 5 500 2625
773 Byl 61252 7#kkk ok %%6420 TREAEHXI\A — kY 1 370 5 500 875
774 J7 L 61252 7%k xxk6416 TREA e XA =} 2 490 5 500 995
775 i IERH 61252 Tskktktotolok64 17 REAA AR X \A R 3 1110 5 500 1615
776 ZEHH 61252 7ickolotokkek641 0 TREAEH XA = 4 1250 5 500 1755
777 FHRE AR 61252 Ttttk 6437 REA A X \A B 2 740 5 500 1245
778 Bz 61252 7kkkkkk64] | TREAEHX —H A 1 505 5 500 1010
779 St 612527 kkktokkk64 13 TREAEHX H = 2 625 5 500 1130
780 FokE 61252 Tkt 6429 REA TR X \A A 3 1110 5 500 1615
781 BEXE 61252 7Kook 6432 TREAEEH XA — kY 4 1975 5 500 2480
782 ME= 61252 Tskstestototokk642 1 TREAEH X - 5 3010 5 500 3515
783 il 61252 7%k kk641 2 TREAEH XA — 1Y 3 1590 5 500 2095
784 PreiEfE 61252 Tickolotokkek6 44X TREAEHXZH =} 3 1005 5 500 1510
785 I IRFE 61252 Tskkttototokk64 1 1 REA A X VU - 4 2030 5 500 2535
786 [ Aban 61252 7kkotolokkek641 5 TREAEH XA — kY 1 370 5 500 875
787 WkeA5 61252 Tksktottotolok64 13 REA A X\ B 2 875 5 500 1380
788 B d 612527k ok %%6420 TREAEH XA =} 2 625 5 500 1130
789 Fitthar 61252 7%k kik6412 TREA R X PUA =R 4 1250 5 500 1755
790 Rt 61252 Tsksttototokk64 1 1 TREA TR X =4 3 1005 5 500 1510
791 Ry 61252 Tkkskkk3k5625 TREAHEEHX VYA A 2 715 5 500 1220
792 R 61252 Tskstetototokk4 82 1 REA A XN B 5 2120 5 500 2625
793 A 61252 7#kkk ok %%6420 TREAEHX —H A 1 595 5 500 1100
794 A 61252 Tkoletokokk642 | TREA R X PUA =R 2 760 5 500 1265
795 kT 61252 Tskktokstotolok64 17 TREAEH X A =4 3 1005 5 500 1510
796 I IE Y 61252 7%k 4%6418 TREARETHX A — kY 1 505 5 500 1010
797 ES s 61252 Ttk 6429 TREATE T A —1Y 3 1245 5 500 1750
798 {FiE#E 61252 7kksickkik6413 TREAETHX A A 2 965 5 500 1470
799 &% 61252 7kickkik6410 TRERETHXAA — 1Y 1 440 5 500 945
800 RE 61252 Tkt 6429 TREAE T XU Y 3 1380 5 500 1885
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801 Z IR 61252 7 ksickokiok 088 | TREARETHXAAE A 3 1380 5 500 1885
802 MRS = 61252 Tskstestototokk642 1 TREAE X IUA B 3 1470 5 500 1975
803 AL S ke 61252 7%kkkkk4%6425 TRERETHXI\A — kY 2 1010 5 500 1515
804 Esyalii 61252 7kickkiok6 41X TRERETHX A — kY 5 2570 5 500 3075
805 kAl ~F 61252 Tskkioltotolok64 18 TREAETHX =4 4 1340 5 500 1845
806 breg® 612527 kkk ok 4%6429 TRERETH XA — 1Y 2 1150 5 500 1655
807 EEE 61252 Tkttt 20 1X TREE A X = —1Y 3 1335 5 500 1840
808 AR 61252 Tkxkkrk%4410 TR RN — Y 1 370 5 500 875
809 WaE 61252 Ttk ®4212 TR X PUA =Y 6 2235 5 500 2740
810 R GE 61252 Tskktttotolok04 17 T RE e X VU R 4 1705 5 500 2210
811 MRsrss 61252 THkskkkk®2637 TR X A — Y 3 1335 5 500 1840
812 JE TR 61252 Tkttt 56 1X TR AR N — 1 665 5 500 1170
813 BN 61252 Tkkskkkik5648 TREH S A — kY 5 2120 5 500 2625
814 X o 61252 Tkt k5613 TR AR —A — Y 1 665 5 500 1170
815 BUEES 61252 T otdotiokk5624 TR A — kY 3 1770 5 500 2275
816 B Y 61252 7Kkt 5632 TRE AR A — R 1 440 5 500 945
817 SHEE 61252 Tksktoktotolok56 15 TR AR — 1 440 5 500 945
818 Tk 61252 7%k k%%56 10 TREE S A — kY 1 505 5 500 1010
819 o =R 61252 Tk x5k5633 TREE S A R 4 1885 5 500 2390
820 MgAE 61252 Tskkeeloletolok56 14 TR AR = — Y 3 1245 5 500 1750
821 MRtk 61252 7Kkt 5625 TREN A=A — kY 1 505 5 500 1010
822 Fitt 61252 Tkttt 56 15 TR AR VUAH — 2 1240 5 500 1745
823 kK P#HE 61252 7kkkkkkok 562X TR SR IYA — R 1 575 5 500 1080
824 XS 61252 Tkseketonick56 16 TR A RIYA —1 6 2010 5 500 2515
825 ZEIE Y, 61252 Tkttt 56 10 TR AR VUH =4 4 1115 5 500 1620
826 aRZ AT 61252655k k5k0753 TREN AN HA — kY 5 2345 5 500 2850
827 [k 61252 Tkkkkk56 1X TR SR —kY 2 490 5 500 995
828 AL 61252 7kkkkkkk 563X TRE A LA =} 1 245 5 500 750
829 Re % 61252 7%k %%%5629 TR AR A — 1 1 665 5 500 1170
830 At SE 61252 Ttoktolkxk5627 TR AR N — 1 575 5 500 1080
831 Rl 61252 7kkickkik5646 TREH AR NAH — R 1 665 5 500 1170
832 S e 61252 Tkttt 56 33 TSR —H =4 1 245 5 500 750
833 ERad 612527 %kkk k4 4%5632 TRE AR A — kY 2 965 5 500 1470
834 ALE 61252 Tkkskkk3k5619 TREH S A —1 5 1945 5 500 2450
835 A LR 61252 Tsksksttototokk563 1 TR AR N =4 1 245 5 500 750
836 ESuvan 61252 Tkkotlkelotlok 56 1 TR AR Ak 2 =AY 3 735 5 500 1240
837 PIE 61252 Tkttt 56 1X TR SR VUH — 1 665 5 500 1170
838 el 61252 7kksickkik5639 TR SR IUA — kY 2 740 5 500 1245
839 LT 61252 Tx%kkk%%%5624 TREER —H =4 5 1855 5 500 2360
840 7 61252 Ttttk 56 17 TR AR — 3 735 5 500 1240
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841 JE {H 612527k %562X TREN A=A —1 1 245 5 500 750
842 TR 61252 Txkkkkkx%5615 TR AR == 2 625 5 500 1130
843 EET 61252 Tkkkkkk5613 TR S IYA =} 4 1340 5 500 1845
844 Mroess 61252 7%tk k561X TRE A=A —Y 1 665 5 500 1170
845 LS 61252 kskkekeekekek56 19 TREH SR T =Y 1 245 5 500 750
846 I 612527 kkkkk%%5623 TREN AR A — 1Y 1 665 5 500 1170
847 BT 61252 Tkskk45k5639 TR R = — kY 4 1615 5 500 2120
848 e 7 61252 7kksickkk56 18 TRET K —H =4 3 735 5 500 1240
849 = Ik 61252 7kkkkk4%561 1 TR —H =1 3 960 5 500 1465
850 S 61252 Tkt 5625 TP IR =4 1 380 5 500 885
851 AR 61252 Ttk k5634 TR EETE A — k4 1 665 5 500 1170
852 BEK 61252 Tkttt 56 10 TRV IR = =4 2 850 5 500 1355
853 IRk 612527 ksickokiok 563 | TR A A — k4 1 440 5 500 945
854 R 61252 Ttk 5628 TR ) A R — A 1 245 5 500 750
855 {5 61252 Tskkeleletolok 562X TP R S — 1 575 5 500 1080
856 AR 61252 Tkkskkkk5620 TRV A S — kY 3 1245 5 500 1750
857 EINE 61252 Takstokksor 5619 TR )1 A 7S A —1 2 850 5 500 1355
858 EFE 61252 7%k 4%5622 TRV R S H — kY 1 505 5 500 1010
859 A 61252 Tdokkotkb61 1 TR S H =Y 2 625 5 500 1130
860 Z= Bk 61252 Tskkleksteotolok56 15 RPN A 2 965 5 500 1470
861 XA % 61252 Tkksiok k5624 TR LA — R 1 575 5 500 1080
862 Al AT 61252 Tkkskkk5628 TRAET N A — kY 2 965 5 500 1470
863 E it 61252 Tkkkkk563 1 TR A\ A — R 2 880 5 500 1385
864 ERE 61252 Ttttk 56 19 T RPN\ — 3 1455 5 500 1960
865 2R 61252 Tkttt 56 37 VRN =4 3 1095 5 500 1600
866 AR 61252 Tkkkkkkk5642 TR A\ A — R 2 1105 5 500 1610
867 gk FE X 61252 Tkttt 5628 TR IA — 1 575 5 500 1080
868 X4 61252 7%k 5620 TR LA — R 1 575 5 500 1080
869 AR 61252 7kksickkik5615 TR A A — kY 1 370 5 500 875
870 E 61252 Ttttk 56 17 TP IR — 2 1015 5 500 1520
871 P El 61252 7kkkckkik56 10 TR A\ A — R 1 575 5 500 1080
872 = 61252 Tkttt 56 12 TR IR S — 1 440 5 500 945
873 [k 612527 %kk sk %%56 1 4 TR A A — 1Y 2 1105 5 500 1610
874 IR 61252 Tkkkkk4k5626 TR —H — kY 4 1840 5 500 2345
875 THFE 61252 Tkkelolelolok5626 TP IR — Ay 1 595 5 500 1100
876 fiNb%S 61252 7kkkokkkok 562X TR A\ A — kY 3 1335 5 500 1840
877 ZRHE 61252 Tkl 56 34 ARV IA N B 2 740 5 500 1245
878 Y0 G Hb 612527k k%%%561 8 TR A\ A =} 2 625 5 500 1130
879 VEik g 61252 Tk tkdonk5627 TR 14 Y 1 595 5 200 1100
880 o] AR 61252 Tsekiciok k5620 VRN — 4 1340 5 500 1845
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881 X UK 61252 7kkokolokkek561 3 TR A 7S A —1 3 960 5 500 1465
882 ZEEZ 61252 Tkkeeloletolok5624 TR IR S B 1 595 5 500 1100
883 g 61252 7kksickkik 5623 TRV IR S — kY 1 595 5 500 1100
884 [ o 61252 7kklolokkk5628 TR A A = 2 625 5 500 1130
885 A=l 61252 Tkl 5624 TR IA = =4 4 1565 5 500 2070
886 TR 61252 7kolotokkek561 4 TR A\ A = 6 1875 5 500 2380
887 F oLk 61252 Tkskkk5632 TRAEP N A4 =AY 4 1475 5 500 1980
888 SHE 61252 7kkkkkk563 | TRV A LA — kY 4 1840 5 500 2345
889 Pk 612527 kkkkkkk56 16 TREP IR =H =1 4 1250 5 500 1755
890 2R R 61252 Tskkeleletolok5620 TR IR = =4 1 470 5 500 975
891 L 61252 Tkksokkkiok562 1 TREF A AA — kY 2 740 5 500 1245
892 24 61252 Tkkiolteotolok56 15 TRV IR = —1Y 4 1705 5 500 2210
893 [ = B 61252 Tkskkkk5614 TR A\ A — kY 1 370 5 500 875
894 XA 61252 Tkkkkk4k5614 TRESEMN—A — kY 3 1335 5 500 1840
895 =R 61252 Tkt 56 35 TRES A — Y 3 1245 5 500 1750
896 NS 612527k %%5636 TREES A —H — 1Y 1 440 5 500 945
897 i 4 61252 Tkttt 56 17 TRES A =4 1 245 5 500 750
898 TRk 612527k 4%561 2 TRES A —H A 1 370 5 500 875
899 PAE 61252 Tskskssokokk 5612 TRES A —H =4 2 490 5 500 995
900 X4 1E 61252 Tskkleksteotolok56 15 TSR — 4 1 575 5 500 1080
901 =i 612527 kkk ok 4%5623 TRESEMN =N = 2 625 5 500 1130
902 TIE 61252 Tkkloltolok 563X TRES A = - 1 440 5 500 945
903 ZRETE 61252 7ckolotokkk561 0 TRESEMN A =} 3 960 5 500 1465
904 P F 61252 Taketkorior k5628 SRES R A — 1Y 3 1380 5 500 1885
905 gKIE4E 61252 Tskkioltotolok56 17 TS A VU =4 6 1875 5 500 2380
906 JH B 612527 kkkk4k4%561 7 TREES AT VIH = 3 735 5 500 1240
907 gk R IE 61252 Tkttt 56 1X TS AT VU B 2 1010 5 500 1515
908 e 61252 7kkkkkk56] | TS AT VIH =4 4 1115 5 500 1620
909 AR AR 61252 7kktolokkk5635 TREE R —A — 1Y 1 575 5 500 1080
910 [RaE2E 61252 Tkttt 56 12 TRES A — Y 1 505 5 500 1010
911 [V 5 61252 Tksckololokkk56 1 X TREES A —H — kY 1 370 5 500 875
912 TR E 61252 Tkttt 56 1X TSR —1Y 1 595 5 500 1100
913 KT 61252 7kololokkek5 644 TREES A=A — 1Y 1 440 5 500 945
914 AR 61252 Tkkkkx4k5635 TRESEMN A A 1 370 5 500 875
915 i A 61252 Tkkelolelolok56 36 TRES A —H — Ay 2 965 5 500 1470
916 FRI L 61252 Tkt 5618 TREES AT VIA Y 4 1615 5 500 2120
917 TS 61252 Tkl 5624 TS AT VU B 2 1010 5 500 1515
918 St 61252 Tkskkk3k5633 TRESEMN A =} 1 245 5 500 750
919 ey 61252 7sksickkiok56 12 I Y i =AY 3 735 5 500 1240
920 PR IE & 61252 Tkttt 56 19 TREE A —H Y 2 875 5 500 1380
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921 DALY 61252 Tsksksskkkk 5617 TREES A —H —4 3 735 5 500 1240
922 T IR 61252 Tskkeloletolok56 10 TRES A —1Y 1 595 5 500 1100
923 LR 61252 7%k %%5636 TRESEMN A =} 1 470 5 500 975
924 R 61252 Tkkkiok 5617 TREEER A — Ry 2 740 5 500 1245
925 FERE 61252 Tskkeeloletolok56 14 TS AT VU =4 4 1115 5 500 1620
926 IE4 61252 Takkkkokkk563X TREES AT VIH — 1Y 3 1320 5 500 1825
927 =R 61252 Tkttt 56 18 TS AT VU B 3 1110 5 500 1615
928 EALE 61252 7kkokolokkek56 1 8 TREES A —H =4 3 1095 5 500 1600
929 PSR 61252 Tkkkkkkkk5613 TREEER = — kY 2 875 5 500 1380
930 EFER 61252 Tsksttototokk563 1 TR R 2 740 5 500 1245
931 Bt 61252 7kkokolokkek561 3 TREES A —H = 2 715 5 500 1220
932 fNES 61252 Tkskkkk5627 TRES IR ] 3 1110 5 500 1615
933 k15 612527 %kkkk%%%56 15 TRESEMN—A — kY 2 875 5 500 1380
934 75 H 612527k 4%561 7 TRESEA=H =Y 2 625 5 500 1130
935 B A 61252 Tkkelolelolok5626 TRES A = — Y 3 1335 5 500 1840
936 B g 612527 kkkk44%561 8 TS AT Y 1 370 5 500 875
937 A4 61252 Tksktoktotolok56 15 TRES A = —1Y 2 875 5 500 1380
938 DG 61252 Tkkkkk4k5626 TR A A 1 370 5 500 875
939 AR 61252 7kksickkik56 19 TR A — 1Y 1 665 5 500 1170
940 AR 61252 Tkl 5620 RS = — 4 1 440 5 500 945
941 VAN 61252 7ikolotokkek 5624 TR A — R 1 575 5 500 1080
942 R 612527 kskskokskskskk56 13 REE A B 2 875 5 500 1380
943 ZHRR 61252 7%k xk5610 TR B RS — k4 2 1105 5 500 1610
944 HH 61252 Tkkkkx4k5618 TR BRI — kY 3 1380 5 500 1885
945 ARA 4 61252 Ttttk 56 19 TR A =4 6 1740 5 500 2245
946 GRS 612527 kkk sk 4%5622 TR A Y 2 965 5 500 1470
947 ZEER 61252 Tskkieloletolok56 16 TREE A = —1Y 3 1110 5 500 1615
948 X4 61252 7kksickkik5629 TR RS = — 1Y 1 665 5 500 1170
949 JiHH 4 61252 7kktolokkk56 1 7 TR R — — 1Y 3 1770 5 500 2275
950 EIER 61252 Tkkiolttolok56 15 R AT VU - 1 440 5 500 945
951 LR 612527 kkkkk%%561 4 TR EFA A — R 2 1240 5 500 1745
952 [ 25 I 61252 Tkkskkk5633 TR E R A —kY 3 1230 5 500 1735
953 R 61252 7sckolotokkek56 1 4 TR EFA A A 1 370 5 500 875
954 JE % 61252 Tkkskkkd813 TR RS VU — kY 3 1335 5 500 1840
955 ZERa A 61252 Tskkelotetolok56 14 TR A — Ay 2 875 5 500 1380
956 [ 75 bk 61252 7ikoletokkk56 10 TR RS =4 3 735 5 500 1240
957 ez 61252 Tkttt 5628 A =4 2 490 5 500 995
958 A6 5 61252 7skololok k5636 TR A =} 2 490 5 500 995
959 #I1E 61252 7ksickkik56 1X TR A — kY 5 2480 5 500 2985
960 R 61252 Tkt 56 10 TR R A Y 1 370 5 500 875
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961 ki 61252 7kkokolokkek561 2 TR A —1 1 380 5 500 885
962 [ i 3 61252 Tkttt 5629 TR TN R =4 1 380 5 500 885
963 Mt A 61252 Tkkkkkk5612 TR BRI — kY 4 1480 5 500 1985
964 RITR 612527k 4%561 2 TR RS — kY 2 875 5 500 1380
965 PR 61252 Tskkiktotolok56 19 TREE TR LA =4 1 470 5 500 975
966 gk i 61252 7ickolotokkek5 644 TR RS W Y 2 965 5 500 1470
967 JEAns] 61252 ks x%561 2 R AT VU - 4 2345 5 500 2850
968 EEH 61252 7kskkkokkk64 1 X TREIERIR —H — kY 1 505 5 500 1010
969 XM= 61252 7 kkkkokkk6422 TR — 2 A 2 740 5 500 1245
970 KRER 61252 Tskkiokstotolok64 13 TR PERIA—H R 1 595 5 500 1100
971 [ B 61252 Tkkkkx4%6416 TREIERIR —H — kY 2 1100 5 500 1605
972 XBES A 61252 Tskstetototokk642 1 TR PERIR —1Y 4 1615 5 500 2120
973 e X 61252 7#kkk ok %%6420 TREIERIR —H — kY 4 2065 5 500 2570
974 ZALE 61252 Tkkkkkkkk6413 TRERERIR —H = 2 715 5 500 1220
975 1A 61252 Tskklktotolok64 19 TREPERIR = =4 1 245 5 500 750
976 TEAR v 61252 Tkolotokkrk64] 1 TR RERIA VIAH — R 3 1455 5 500 1960
977 JE AR AR 61252 Tksktottotolok64 12 T ERIA VY — 4 2 1150 5 500 1655
978 RETT & 612527 kkkkkokokk64 15 TREERIR — 2 R 3 1470 5 500 1975
979 INERRE 61252 Tkkkkk4k641X TRERERIR —H = 5 1720 5 500 2225
980 I 61252 Tskklktotolok64 19 TR VY A 3 1560 5 500 2065
981 BKE 612527 kkkkokkk641 4 TR RERIA VIAH — kY 3 1380 5 500 1885
982 R 61252 Tskklottolok64 1X TR PERIR —1Y 2 740 5 500 1245
983 FH J it 61252 7%k 6412 TREIERIR —H =} 2 715 5 500 1220
984 ki3 61252 Tkkkkkkk641 1 TR RIA VOH — kY 2 965 5 500 1470
985 XU 61252 Tkttt 64 16 TR RIA—H — Y 2 875 5 500 1380
986 BT 612526kt k%%6303 TREIERIR —H — kY 2 875 5 500 1380
987 R 61252 Tkl 64 10 TR PERIA—H =4 5 1720 5 500 2225
988 =R, 61252 7Kk k3k6417 TRERERIR —H — kY 1 370 5 500 875
989 T4 5 61252 Tkkkkkx4%k6418 TRERERIR =H =R 2 490 5 500 995
990 ZEHP Y 61252 Tskkeiltotolok64 13 TR PRI VY R 1 505 5 500 1010
991 | i 61252 Tkolotokkik64] 1 TREIERIR —H =R 5 1720 5 500 2225
992 R 61252 Tskklotstotok64 1X TR = —1Y 1 505 5 500 1010
993 XMFE 61252 7%k %%6429 TREIERIR —H =4 4 1250 5 500 1755
994 B JE bk 61252 Tkkkkkkkk6412 TRERERIR —H = 2 625 5 500 1130
995 X 61252 Tskkeeloletolok64 14 TR PRI VO A 4 1615 5 500 2120
996 LIS 61252 7kickkik6410 TRERERIR —H = 3 735 5 500 1240
997 itk 61252 Tksktltetolok64 15 TR PERIA —1Y 1 595 5 500 1100
998 Lot s 61252 7%k xxk6416 TR =0 — k4 1 440 5 500 945
999 iy 61252 Tktektotok64 1 1 T RRE U — A R 3 1335 5 500 1840
1000 PIRE 61252 Tkl 64 14 TRV —2 — 2 490 5 500 995
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1001 AT EER 612527 kkkkikk6415 T REURR —4A Y 2 965 5 500 1470
1002 IS 61252 Taksokksor:6427 TR U — 4 =B 4 1340 5 500 1845
1003 BraE 61252 Tkt k6442 R A =14 3 870 5 500 1375
1004 FAHIL 61252 THkskkkk*6435 TR YA —H Y 3 1110 5 500 1615
1005 sl 61252 T#kkkkkkx6414 S i == 3 735 5 500 1240
1006 TR 61252 Tkkkkkx4k6418 TR DY R 6 2715 5 500 3220
1007 Ba{ 61252 Tskkstokstoko6412 SRR =1 4 1340 5 500 1845
1008 B2 61252 Tkkkkiok k6410 SRR A =14 3 1005 5 500 1510
1009 WIKE 61252 Tkksektokiek64 1X TRV — 2 kY 6 2625 5 500 3130
1010 gt B o 6110263k k%kk4%k6219 TR =1 3 1005 5 500 1510
1011 B < 61252 Tkt k64 13 TRV =4 Y 3 1335 5 500 1840
1012 AH AT 61252 Tksokksor 6419 TR U =4 — | 1 575 5 500 1080
1013 BT 61252 T wkkkkiok k6427 SRR =4 — 1 575 5 500 1080
1014 BEA bk 61252 Tkkpktiok6434 TR EE YT A DY 2H — 4 5 1720 5 500 2225
1015 fi iR 612527 kkikk3k6 41X TR VA U2 =1 1 245 5 500 750
1016 H4&E 61252 Tkt %6410 RV AT VU4 =14 2 625 5 500 1130
1017 HHE X 61252 Tksokksor 6418 TR PR DU — 4 1705 5 500 2210
1018 ER-L4 61252 Tk k6459 R VU4 =14 2 625 5 500 1130
1019 [ 5 A 61252 Tkkktiokk641X TR EE YT DY ZH — 4 2 625 5 500 1130
1020 [EA 612527k ksikk3k6419 TR VA Y2 =1 3 735 5 500 1240
1021 BET 61252 Tkkkkiok 6446 TR — A Y 2 740 5 500 1245
1022 BEIELRE 61252 Tskssksetsersk64 10 SR TUH R PO = 2 490 5 500 995
1023 EE A 61252 Tkkkkdok k6416 R A =14 2 850 5 500 1355
1024 AL 61252 Tkeketokiok64 15 TR — 2 — 4 2 1150 5 500 1655
1025 BE 612527k ksikkk64 12 TRV 2 —14 1 440 5 500 945
1026 42 % 61252 T kbt k6418 RV A VU4 =14 2 715 5 500 1220
1027 H o 612527 kksikkk6 42X TRV =2 =1 3 870 5 500 1375
1028 Bt 61252 Tkt x64 15 R VU4 =14 4 1250 5 500 1755
1029 Y B 612527 kkkkiokk6415 SRV — 1Y 7 2210 5 500 2715
1030 £ U 612527k ksikkk6413 TR =1 2 850 5 500 1355
1031 K IS 612527 kkickk k641X TRV =4 Y 3 1110 5 500 1615
1032 At 7 612527k kokkdok642 1 TR VA Y2 =1 3 1095 5 500 1600
1033 ok = 612527 kkkokiokk6418 TR A VO =Y 2 625 5 500 1130
1034 i b 61252 Tkt k64 13 TRV — A — 1Y 5 1585 5 500 2090
1035 Bl 61252 Taksokksor 0813 AN s A o P — 1 440 5 500 945
1036 i 61252 Ttk 0812 NS FEAEX 20 —4 1 665 5 500 1170
1037 ki 61252 Takstokksor 0812 AN g A P — 1 595 5 500 1100
1038 B 612527 kkkkiork0814 ANEEUT FEAE X —H Y 2 965 5 500 1470
1039 MR s 61252 Tkkkkk%5%0815 AT FEAE X VY2 —Y 3 1770 5 500 2275
1040 FEIK 612527 kkkkkk081 1 /NIRRT AR X —4H — A 2 715 5 500 1220
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1041 HiE 61252 Tkskskkskkk k082X N A X — 2 — 1Y 1 505 5 500 1010
1042 BAHE 61252 Tkttt 08 17 /N A X — 2 - 1 440 5 500 945
1043 i 61252 Tkt 08 14 INESAT A X =2 =4 3 735 5 500 1240
1044 TAHEE 61252 Tkkkkkkk(818 NS EREX = =1 2 490 5 500 995
1045 HHAR EJ 61252 Tskkkelttolok08 1X /NI EE AR X =20 Y 1 595 5 500 1100
1046 iS5k ki 61252 Tkkkokiok 0824 NS FEAEX 20 Y 4 1840 5 500 2345
1047 A & 61252 Tkt 08 14 /NEEAT X =2 - 1 440 5 500 945
1048 FL K 61252 Tkkkkkkk(812 NS R X PUH kY 1 370 5 500 875
1049 e 75 5 61252 Tkkkkkkk 5623 /NS R X PUZH — 1Y 4 2030 5 500 2535
1050 RN 61252 Tkl 0834 /NI EE AR X T2 R 2 740 5 500 1245
1051 B4 K 61252 7k 08 19 NS R XS — 1Y 2 1100 5 500 1605
1052 [sI=1t 61252 Tskstestototokk 08 1 1 /NEEAT 4 X TS =4 1 470 5 500 975
1053 ZEIE R 61252 Tkkololokkk 0828 NS R XS — 1Y 1 440 5 500 945
1054 Ktttz 61252 Tk k0834 /NS ERE XS — 1Y 2 965 5 500 1470
1055 gkiEe 61252 Tkt 08 18 /NI EE AR X —2H R 1 370 5 500 875
1056 IV 61252 7Tckolotokkek (824 NS R X —2H — kY 2 965 5 500 1470
1057 TR 61252 Tskklottetok08 1X /NEET A X 2 — 4 3 1815 5 500 2320
1058 Ykl i 61252 Tkt 08 10 NG X 2 — 4 2 1150 5 500 1655
1059 FE 61252 Tkl 08 18 NS EREX —2H — 4 3 1680 5 500 2185
1060 R 283 61252 Tkt 08 19 /NI EE AR X —2H A 2 740 5 500 1245
1061 AL 61252 7kt 08 16 NS R X —2H — 4 1 575 5 500 1080
1062 AR 61252 Ttk 082X NS AR X A — 1 3 1320 5 500 1825
1063 BN AR 61252 7kkototokkk (0819 NS R X PUH — R 1 665 5 500 1170
1064 TP 61252 7 wkkkkiokk0822 NGB FEAEX L 2H — 2 1240 5 500 1745
1065 HEY 61252 Tkttt 08 13 /NI EE AR X FS 2 R 1 595 5 500 1100
1066 b 61252 Tkt k08 14 NG X 2 — 1Y 1 595 5 500 1100
1067 ETE 61252 Tskkloltolok 083X /NS 4 X PU2H - 1 665 5 500 1170
1068 Y6 61252 Tkkololoktkk 0823 NS EREX = =} 7 2210 5 500 2715
1069 2 R 61252 Tk (0824 NS R X —2H kY 1 595 5 500 1100
1070 e 611026kt 0874 /NI EE AR X 2 — Y 1 595 5 500 1100
1071 PN = 61252 Tk 0822 NS EREX Y 1 595 5 500 1100
1072 RS 61252 Tkttt 0828 /NEEAT A X — 2 B 1 595 5 500 1100
1073 AR 61252 7skololokkxk (0820 NS EREX = =} 1 380 5 500 885
1074 Y 61252 Ttttk (0829 NS EREX —2H — kY 1 595 5 500 1100
1075 NI 61252 Tskkeloletolok08 34 /NI EE AR X —2H A 6 2850 5 500 3355
1076 B A 61252 Tskskskskkkk08 15 /NESAT A X =2 =4 6 2010 5 500 2515
1077 FEH 61252 Tkl 084X /NEEAT X =2 =4 3 1005 5 500 1510
1078 TAaT 61252 Tkt k08 14 NG X 2 — 4 1 575 5 500 1080
1079 R 61252 7kolotokkk 082X NS R —2H — 1Y 2 1015 5 500 1520
1080 XU AN 61252 Tkttt 08 12 /NI BRI E A =20 Y 2 875 5 500 1380
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1081 [ 61252 Tkl (0827 NS ER=H — Y 2 875 5 500 1380
1082 Elvih 61252 Ttk 081X /NS EEIS E A —2H B 2 740 5 500 1245
1083 FHX 61252 Tkokstotokk(081 1 /NS RIS EA—2H A 3 1110 5 500 1615
1084 AT 61252 Tkt k0822 NI RIS FA — 2, — R 1 595 5 500 1100
1085 SRR 4 61252 Tkttt 08 12 /DS RIS A —2H — Y 3 1470 5 500 1975
1086 ENXE 61252 7kskskkkedokk 0829 /NIA A A — 2 — 1Y 1 595 5 500 1100
1087 TR IE X 61252 Tkt 0826 /DS RIS E R — 40 B 1 505 5 500 1010
1088 Br2s 7 612527 kkkkkkx%0825 NI AR E AT = 20 — Y 1 665 5 500 1170
1089 gk oede 612527k 4x08 13 /NI RIS F R =40 A 1 595 5 500 1100
1090 AR 612527 kkskekekekekek08 19 AN EZ N PE Y SN — kY 1 595 5 500 1100
1091 e 61252 Tsokokkxk0815 /NI RIS E A VO ZH — R 2 740 5 500 1245
1092 EEH 61252 Ttk 0820 AN RSV EE S N s B 2 965 5 500 1470
1093 W 61252 Tk 0820 /NI AR = A DU 2, — R 1 440 5 500 945
1094 ok { 61252 7kkkkkkxk0818 JNIR AR E A = 2 — 14 1 665 5 500 1170
1095 XTEE 61252 Tkl 08 10 /DS EEIS E R =40 — Y 3 1380 5 500 1885
1096 et 61252 Tskokkxx0820 NSRS EA 2 = 4 1385 5 500 1890
1097 FAEM 61252 Tkttt 08 18 /NSRS E R — 40 =4 6 1875 5 500 2380
1098 AR 612527k k0812 /NIRRT PYH -y 1 595 5 500 1100
1099 E 61252 Tk %0846 /NI RIS E R — 2] =} 1 470 5 500 975
1100 Xz 612527 kkkeekkokek08 14 /NS IR ER =H =Y 1 470 5 500 975
1101 ] 25 )05 61252 Tkkkkkk%0816 AN g RE Y S e kY 1 595 5 500 1100
1102 [RAR 2R 61252 Tkt 08 18 /DS EEIS E R =40 —1Y 1 595 5 500 1100
1103 LA 61252 Ttttk 0829 /NI BRI K] DO 4, — B 1 595 5 500 1100
1104 15 6110260829 /NI RIS E A =40 Y 1 595 5 500 1100
1105 k== 61252 Tkkkkekekkek0845 AN PE Y DL EE — Y 1 595 5 500 1100
1106 TN 612526 kkkkx%0223 /NI RIS E R =41 Y 1 595 5 500 1100
1107 ER 61252 Ttttk 08 12 /NS EEIS E A —2H B 1 595 5 500 1100
1108 B 61252 Tkkskskskkk 082X NS ER=H =Y 1 245 5 500 750
1109 XM 61252 Tkketekokekek 0827 /NS EIR EFRTPYH =R 2 490 5 500 995
1110 R 61252 Tskkekelolelolok08 16 /DS EEIS E R — 40 — Y 1 370 5 500 875
1111 I 61252 7ks0kkx3k081 1 NS EERIS E R — 21 Y 1 595 5 500 1100
1112 JEIE 61252 Ttttk 08 13 /NI BRI E A —2H — 4 1 665 5 500 1170
1113 EXE 61252 Tkl 08 10 /NIA A A — 2 — 1Y 2 740 5 500 1245
1114 SR 61252 Tk k081X /NS RIS E A =40 = 2 625 5 500 1130
1115 YT 48 612527 kskskekeekekek08 13 AN e e — 4 1 665 5 500 1170
1116 RIES 61252 Tx5kx4k% %0824 I R4 KA — 2] =Y 1 470 5 500 975
1117 s 61252 Tkttt 4029 /NUE AR G KA T4 —1Y 1 595 5 500 1100
1118 Ji & 612527 kkkskkkkk0820 NI AR 4 K AT — 2R, — Y 1 575 5 500 1080
1119 F/hiR 61252 Tkt k 0812 /NI RS KR — 4 — Y 1 665 5 500 1170
1120 B 61252 Tskkiolsttolok 0859 /NI B RAT 2] — 2 1105 5 500 1610
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1121 S AR 61252 7kkototokkk 0819 /NI EE G R AT DO H — 1 5 3145 5 500 3650
1122 A3 Z% 611026kttt 0829 AN L L - 1 575 5 500 1080
1123 AR 61252 7%ckkk0836 NI AR 4 KA T 20 =4 2 490 5 500 995
1124 Z6C 61252 Tkkkkkkk(812 NI 4 4 K ) T 2 =Y 4 1340 5 500 1845
1125 AR AR 61252 Tskkekelolelolok08 36 Ny SN ] - 1 440 5 500 945
1126 AL 61252 Tkkkkkkk0814 JINI A 4 K ) T2 — 1Y 2 1150 5 500 1655
1127 N1 61252 Tkt 081 1 INIBAE G KA = 4 — 1 1 440 5 500 945
1128 SR 61252 7kickkik08 24 /NI EE G KR =4 — 1Y 1 575 5 500 1080
1129 VEE B 61252 7kt k08 16 /NI RS R AT FLH — 4 2 1150 5 500 1655
1130 E X2 61252 7kkekekokokokok 0829 /NS KA A - 1 440 5 500 945
1131 RS 61252 7%kt 08 2.2 NS — 1Y 1 440 5 500 945
1132 B 61252 Ttk 0834 INERER KR 4 A 1 370 5 500 875
1133 XFEHE 61252 7sksksokskkk08 16 INW AR 4 KA TFAH. — 4 1 440 5 500 945
1134 IRl 61252 Tkkkiol 0838 N S ] — Y 3 1470 5 500 1975
1135 A 612527 kkskkekekkek08 15 AN e e Y 2 965 5 500 1470
1136 B Al 61252 Tkkkxx%%0814 NRES K A kY 1 595 5 500 1100
1137 PR 61252 Tskklottetok08 1X Ny SN — 4 1 575 5 500 1080
1138 B 5% 61252 7%kkkkk%%0825 /NI EE G KR =4 A 4 1750 5 500 2255
1139 ALK 61252 Tkkkkkkk(817 NI 4 4 K ) T 2 — 1Y 1 575 5 500 1080
1140 WA 61252 Txkkkkx+%0818 AN E o B2 Y 1 595 5 500 1100
1141 VIR 612527 kkkkkk %0816 NS S KA —A — 1Y 2 490 5 500 995
1142 MR 61252 Ttttk 4423 AN R 22 =4 1 470 5 500 975
1143 SEA 61252 7%k k4% 08 1 2 /NSRS KR =2 =} 2 850 5 500 1355
1144 R 61252 7Kkt 0822 NS KA =2 = 2 940 5 500 1445
1145 £ ES 61252 Tskkittolok08 1X /NIE A G KA DU 2 Y 2 1100 5 500 1605
1146 [ 61252 7%k 08 26 /NSRS KA VO ZH = 1 470 5 500 975
1147 T A 61252 Tkskiltetolok08 15 /NSRS Kk] T - 2 1150 5 500 1655
1148 ALEE 61252 7%kt 0828 /NI RS KR T, =4 1 470 5 500 975
1149 TR 61252 Tkt k08 1 X /NS R AT L — 4 2 1150 5 500 1655
1150 k- 612527 kskkeekkekek0820 /NIRRT T =Y 1 470 5 500 975
1151 Eatieas 612527 kkkkkkkx0813 NEE SR =4 Y 2 965 5 500 1470
1152 HAE 61252 Ttk 0829 Ny SN A 4 1615 5 500 2120
1153 ik E 61252 7%k 08 12 NI AR 4 KA T 20 =4 2 625 5 500 1130
1154 IR 61252 Tk 0837 NIRRT = 2R, — 4 3 1590 5 500 2095
1155 e 61252 Tkt 08 12 /NI B RAT F2H Y 1 595 5 500 1100
1156 JE GRS 610122k %4%5725 /NIRRT A — R 3 1380 5 500 1885
1157 fIA 61252 Ttk 0813 ANEE AL A 4 1615 5 500 2120
1158 X2 612527 5kkkx%%0829 NS ZE T A — 20 kY 1 505 5 500 1010
1159 KT 61252 Tkkotolokek (0842 NI EEZS T b — 20 — kY 1 470 5 500 975
1160 ZERC 61252 Tskkkeieletolok08 10 NI EEZRfZ A —H =4 3 1095 5 500 1600
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1161 BB 4 61252 7kt 08 10 /N EEZRTZ A =0 — 1Y 3 1380 5 500 1885
1162 TE%® 612527 kskkeekekk081 1 /NIE B2 A T2 -y 1 370 5 500 875
1163 EIEK 61252 7#skkkk %08 1 X NS A 2 1100 5 500 1605
1164 gk 3.2 612527 x5kkkkx%084 7 N S syl =14 4 1565 5 500 2070
1165 EXE 61252 T kskketekekek083 1 /NIE 2R B T 20 Y 2 965 5 500 1470
1166 5K T 4 612527 H5kkkx4%08 1X N S syl kY 1 370 5 500 875
1167 B R 61252 Ttk 08 15 /NS EEZRf A—2H A 2 740 5 500 1245
1168 kI 61252 Tk 0825 /NI AR S i A DU ZH. — 2 375 5 500 1380
1169 Bkt =i 61252 7kskskskskekk08 1L X /NI AR5 k) DU 2 =Y 3 1005 5 500 1510
1170 AR T 61252 Tkskkeekekokk 0824 AN EE X v e =Y 2 715 5 500 1220
1171 EFVE 612527 x%kxxk%%081 1 /N RS T A —2H — Ry 2 965 5 500 1470
1172 FEiE 61252 Tkl 0816 NS AR Z R = A 4 1750 5 500 2255
1173 BN 612527 x%kx4%k%%0812 /N RS T A —2H — Ry 2 875 5 500 1380
1174 SRR 61252 Tk %4%083X NS EE A7 B N2 — kY 1 370 5 500 875
1175 AR 61252 Tkt 08 18 /NS EEZRfZ A—2H A 1 595 5 500 1100
1176 AR T 61252 Tkt (0823 N ES AR — kY 1 370 5 500 875
1177 [R2g i 61252 Tkkelolelolok0826 /NS EEZR A ] —1Y 5 2120 5 500 2625
1178 Bt 612527 H5kkkk %082 1 N SR kY 2 965 5 500 1470
1179 B 2 612527 %5kkkk%%0839 NI T A )\ 20 — 1 665 5 500 1170
1180 TYILAE 61252 Tkttt k083 1 /N B PR J\2H — 1 665 5 500 1170
1181 I fL 612527 kkk5k%%08 10 /NI R VS A 7S 2, =4 4 1115 5 500 1620
1182 BEZ 61252 Tkl 0424 AN EEE Ny i A 3 1245 5 500 1750
1183 PEAT R 61252 Tkt (817 /NI S A — 2 kY 2 1100 5 500 1605
1184 K F7 N 612527 kkkkkkk0815 SN L VS A - 2 kY 3 1245 5 500 1750
1185 ENY 61252 Tk x%0825 /N B PR J\2H R 2 875 5 500 1380
1186 TYLI 612527 H5kkkkx%085 1 /NI TS A L2 kY 2 875 5 500 1380
1187 B4 61252 Ttk 0837 /N B P A J\2H =4 7 2390 5 500 2895
1188 XA 61252 Tkkkkkkkk0816 NI L VS ) T 28 kY 3 1380 5 500 1885
1189 5 61252 7kkkkk4%08 19 N ] — Y 1 595 5 500 1100
1190 e (] 61252 Tkttt 08 17 AN E SNy e | A 3 1560 5 500 2065
1191 ik £iE 612527 kkk ko 4%0823 /NI AR T R = 2R, = 3 870 5 500 1375
1192 2RIl 611026kkketkxx0817 /N B P A DU 2H =4 3 1005 5 500 1510
1193 % 612527 5kkkx4%0810 /NS TS AT Y4 — 14 2 880 5 500 1385
1194 2Rl 61252 Tkkkkkkk(0825 SN L VS ) T 2L =Y 2 490 5 500 995
1195 AR 6125278430819 NI VA T 2 Y 4 1975 5 500 2480
1196 ey ¥ad 61252 Tkl 0815 NG VSR L 2H B 3 1335 5 500 1840
1197 i 61252 Ttttk 0817 /NI R VR LA =4 4 1205 5 500 1710
1198 VRIS 61252 Ttk k0840 AN ey ] — 4% 1 575 5 500 1080
1199 LI 61252 7kkkkkk08] | /NI LR VS R AR, Y 3 1335 5 500 1840
1200 EIER 61252 Tkttt 08 15 /NI B PR L A 3 1380 5 500 1885
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1201 e 61252 7kolotok k(0826 /NI R TR L — 1 1 665 5 500 1170
1202 ES Uy 61252 Tkkkkk0826 NI AR R A —k4 1 575 5 500 1080
1203 RS 61252 kool k08 15 NI R v A )\ 2H —kY 1 440 5 500 945
1204 2R A 61252 7%k 4x08 1 7 /NI R VAR J\EH — kY 2 740 5 500 1245
1205 KR 61252 Ttk 0839 /N B PR J\2H R 1 370 5 500 875
1206 PN H 61252 7x%kx4%k%%0818 NIV L TS A L AH — Ry 2 875 5 500 1380
1207 SEAND 61252 Tkttt 08 18 /N B P A LA B 3 1470 5 500 1975
1208 LEE 61252 7sckolotokkk08 10 /NI R VA LA, A 1 595 5 500 1100
1209 LN 61252 Tkt k0823 AN g SR =R 3 870 5 500 1375
1210 VR 61252 Tkl 0816 NI R PR 7S H R 2 740 5 500 1245
1211 LS 61252 7sckolotokkx0816 AN RSNty ;| Y 3 1110 5 500 1615
1212 JREH 61252 Tskklotsetok08 1X /NUA B TR R 2 — 4 2 1015 5 500 1520
1213 FEHE 61252 7skoletokkk08 10 NI R VAT J\EH — R 2 1240 5 500 1745
1214 TR 61252 Takkkkkkk0834 AN L SR — 1Y 2 965 5 500 1470
1215 R 61252 Ttk 0813 /N B PR L EH R 1 370 5 500 875
1216 K77 4 612527 xkkkk%x%0813 AN EE Ny D s = 1 245 5 500 750
1217 N 61252 Tkttt 08 39 /N B PR LA — 4 2 880 5 500 1385
1218 Yardg 61252 7%kt 4%081 7 /NI R VA LA, A 3 1335 5 500 1840
1219 TR 61252 7tk %%0820 /NI R VAR J\EH =} 3 1095 5 500 1600
1220 #H A X 612527 kkkekekkekek 0824 AN Y DA — 4 1 575 5 500 1080
1221 F 2% 61252 THkkkkkx0828 AN N o R | — Y 2 1105 5 500 1610
1222 R EE 61252 Tkl 0840 /N B PR LA B 2 965 5 500 1470
1223 I 5 612527 H5kkkk4%082X /NI TS A 2 = kY 1 470 5 500 975
1224 B Z 612527 H5kkkk %082 1 /NI s A 2H =Y 4 1655 5 500 2160
1225 ikKHELE 61252 Tkt 0821 /N B VA L EH R 1 595 5 500 1100
1226 TILE 61252 Tksolokiol k0827 NI AR VS R LA =Y 2 940 5 500 1445
1227 O] 61252 Tkkskk£0813 NS AEE VR 4 — kY 3 1110 5 500 1615
1228 FEEAR 61252 7%k %x%0817 AN Y N — kY 2 965 5 500 1470
1229 ESY Al 612527 H5kkkk k%081 1 NI s A )\ 20 =14 6 1740 5 500 2245
1230 R ES 61252 Ttk 0842 NI R PR 7S H R 1 595 5 500 1100
1231 ZE N 61252 Ttk k08 12 /NG EEHE VSR DU 2H —FY 2 1105 5 500 1610
1232 K 612527k ksikk3k0812 AN AR VR T4 ] 3 1335 5 500 1840
1233 2 il 612527kt 083 | N i L) — B 3 1245 5 500 1750
1234 ElSi 61252 Ttttk 0825 /NI R RS 7S — kY 1 595 5 500 1100
1235 JI X E] 61252 Tk 08 18 /N B PR —2H 4 1 595 5 500 1100
1236 AU 61252 7%tk 0466 NSRS R — ] — R 1 595 5 500 1100
1237 BEE A 61252 Tkkskkk0814 NIRRT A — 2 R 1 595 5 500 1100
1238 [aLieY 61252 Tkt k081 1 /NI S T R — 2 R 1 595 5 500 1100
1239 R 61252 7tk kx082X /NI R VAT —2H Y 1 595 5 500 1100
1240 HHEH 61252 Tkttt 08 19 AN E SNy i Y 1 595 5 500 1100
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1241 N4 61252 Tkt k08 14 /NI R TR =20 — 1Y 3 1110 5 500 1615
1242 VR 75 61252 Tkttt 0827 /NI B P A DU 2H B 2 740 5 500 1245
1243 R 61252 7kksickk5k0835 /NI R V] N A A 1 595 5 500 1100
1244 ZEBUR 61252 7cklotokkx0810 /NI R TR 7S — 1Y 1 575 5 500 1080
1245 gk AR 61252 Tkttt 08 15 AN EE Y Nt R 1 595 5 500 1100
1246 ik 612527 H5kkkx4%08 1X /NI R s A 2 — 1Y 1 665 5 500 1170
1247 VEIE I 61252 Tkt 081 1 AN AR R A B 2 875 5 500 1380
1248 FEZ % 61252 7ckolotokkek (81 4 AN R A — kY 2 875 5 500 1380
1249 ESEN 612527 %5kkkk%%0819 NI s A )\ 20 -y 1 595 5 500 1100
1250 THE 61252 Ttk 081X /N B P A DU 2H R 1 595 5 500 1100
1251 7R 5 4 61252 7k%ickkk08 16 AN AR Y A )\ 2 — A 2 490 5 500 995
1252 ik & 61252 Tk%k84k08 10 NI R VR — 2 B 2 740 5 500 1245
1253 Bk 61252 Takkkkkkk0854 /NS ELE TR\ kY 1 595 5 500 1100
1254 KT 61252 Ttttk 082 1 NIRRT AT J\ZH. — 1Y 1 595 5 500 1100
1255 R = 61252 Tkskketekekek0821 /NI B TR N 2 — Y 1 595 5 500 1100
1256 e 61252 Tkkkkkx5£0829 /NI R VR =20 — kY 1 595 5 500 1100
1257 =1 61252 Tkl 0424 AN E SNy e | -y 1 595 5 500 1100
1258 VIR 61252 Tkkkkkx0817 AN Ny e | — kY 1 595 5 500 1100
1259 JEfEF5 61252 Takkkkkk:0820 ANUE S VR — 21 Y 1 595 5 500 1100
1260 ALY 61252 Tkl 0820 /NI B VN — 21 — Y 1 595 5 500 1100
1261 X4 612527 xkkkk%x%0817 /NI R TR J\EH — 1Y 1 595 5 500 1100
1262 WIKTT 61252 Tkl 0844 AN EE Y N B 1 595 5 500 1100
1263 B ie 61252 Tkkkokiokx26 1 X AN ey d ] — 4% 2 1240 5 500 1745
1264 RN 61252 Tskoksokxx0814 /NI LR VS A 7S 2, — % 1 665 5 500 1170
1265 T4 612527 kkskk4k26 16 AN EE R e R 6 2940 5 500 3445
1266 [ SEAT 61252 7kksickkik26 13 NI R v A 2 — R 2 1240 5 500 1745
1267 TR 61252 Tskkeololotolok26 14 AN EEE Ny i B 2 875 5 500 1380
1268 ZEAR A 61252 Tkt 083 1 AN SRR e ) =} 5 1585 5 500 2090
1269 FE K 61252 7x%kx4k%%0816 /NI L TS A — 2 — kY 1 595 5 500 1100
1270 3 61252 Tskkekelolelolok08 16 /NI B T = 21 =4 2 715 5 500 1220
1271 HaZE 612527 x5kkkk%%0817 SN R T A —4H kY 3 1470 5 500 1975
1272 Er g 61252 Tkt 0416 AN EE R o e e ] 3 1605 5 500 2110
1273 EiE 611026k 08 10 /NUA RS S A DU 2 — 1Y 1 370 5 500 875
1274 LN 61252 Ttokotolokkk 2615 AN R e ) — kY 4 1930 5 500 2435
1275 A= 61252 Tkt 0827 /NIA B TR R 7S 2 =4 1 470 5 500 975
1276 HEFIE 61252 Tkkkkkkx04 10 B R X3 N X Y 1 595 5 500 1100
1277 FRIN L 61252 Tkl 0416 RUEE AR (X — 2 — 4 2 1105 5 500 1610
1278 W 61252 Tkt k0414 RV RV A (X o] — Y 2 880 5 500 1385
1279 K ZH I 61252 7ksickkik0410 SUSE R X 2l Y 3 1470 5 500 1975
1280 RHE 61252 Tskkeloletolok04 14 UBE AR AETAE (X Fr 2 — 2 1240 5 500 1745
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1281 Ak 61252 Takkkkkkk0410 SRV R A A (X = 2] — 1 2 1150 5 500 1655
1282 7104 61252 Ttttk 0437 RUEE R AT A (X Fr 2 - 1 440 5 500 945
1283 I 61252 Tkskkkik0423 JRJEL R R AR A X /N X — Y 3 1455 5 500 1960
1284 OEFS 61252 7sksickokiok(0443 PR AR AR 4 X SR K FE /N X Y 3 1335 5 500 1840
1285 % =a 61252 Ttttk 0429 SRR KR A X T B /N X — 1 1 575 5 500 1080
1286 HEIRE 61252 Tkkkkkxkk0412 JRJEL R R A KB /N X — R 2 880 5 500 1385
1287 TAE 61252 Tkttt 0417 BB AR 4 X VIR /N X B 3 1335 5 500 1840
1288 FR R By 61252 Tkolotokkiek 041 1 SUSE R 4 X0 57 /N X — kY 1 595 5 500 1100
1289 Ae 22 61252 7skkkokkx0044 B XU AR A DX 5 /N X = 3 870 5 500 1375
1290 20 Bt 61252 Ttttk 04 19 SRR R A X BN X R 6 2715 5 500 3220
1291 L E) 61252 Takkkik*0416 RUBGE R 1 X = F0 /N X — Ry 2 1010 5 500 1515
1292 A 61252 Tsksktottotook04 12 SRR SR A X VIR /N X =Y 1 470 5 500 975
1293 JFEREE] 61252 7kskkktedokk04 12 SR RV A (X = FE] /N X =Y 1 470 5 500 975
1294 EAERE 61252 7tokototokkk (0418 PRV AR AR 4 X — Z /N X — Y 1 440 5 500 945
1295 EX 61252 Tkttt 0423 SRR KR A X /N X — 1 1 575 5 500 1080
1296 S ViR 61252 7 kkkkokkx0434 SRUSEREEE  X T /N X —1Y 1 440 5 500 945
1297 FEI AR 61252 Tsksktottotook04 13 RV R BT X = F00R] /N X — 1 4 2030 5 500 2535
1298 HE Fi] 61252 7%k 4%0425 JRJEL R R 4 DX Y] 7N X A 1 595 5 500 1100
1299 [ [] s 612527 xkkkkkx%0412 JRELEE XUJBL I /N [X — 1Y 1 665 5 500 1170
1300 ETH 61252 Tkt 0828 USRI AT # XAE G /MX A 1 595 5 500 1100
1301 S 61252750411 SRUEVEETE KA DU 2H kY 3 1470 5 500 1975
1302 IZkEi 61252 Tkttt 0448 U AR A IO 20 B 3 1335 5 500 1840
1303 VE T 61252 Tkkkkkx0418 RUBVEDS KR 40 — kY 1 370 5 500 875
1304 AL 61252 Tickolotokkek (0424 RUEE T K AT PO 2H Y 1 505 5 500 1010
1305 PR 61252 Tskkioltotolok0422 RUBERE KA 20 — Y 3 1335 5 500 1840
1306 JAZ X 61252 Tkktorkk0411 SUSVERF KA —20 —4 4 1895 5 500 2400
1307 T 61252 Tkl 0424 RUSERE AR A Y20 - 2 1105 5 500 1610
1308 JEIEE 61252 7%k %%04 1X JREERTE KA =41 — 4 1 665 5 500 1170
1309 Pa ST 61252 7tttk (0418 RUEEEE KA 40 — 1Y 1 575 5 500 1080
1310 2R 61252 Tkl 0434 RUBERE AR A Y20 =4 6 1965 5 500 2470
1311 35 61252 Tkt k0421 SRR KA — 41 =14 4 1475 5 500 1980
1312 R 61252 Tkttt 0417 USRS —2H =4 1 380 5 500 885
1313 EE 612527 xkkkkkx%0413 SRRV KA =41 — 4 2 1105 5 500 1610
1314 X G 61252 Tkkkkkkkk044 1 PR KA DY 40 —1Y 2 1150 5 500 1655
1315 BN 61252 Tkl 0424 RUBERE AR A Y20 =4 3 1005 5 500 1510
1316 X7t B 61252 Tkttt 0417 SRRV KA — 4, — 1Y 4 1705 5 500 2210
1317 F 1A Bl 61252 Tksktttetook04 15 RUBEEE AR AT IO 20 B 2 740 5 500 1245
1318 X8 61252 7sckolotokek (0410 RUEGEE KAT = 20 — 1Y 1 440 5 500 945
1319 [ B 5 61252 Tkt k0439 SRR KA — 4 =4 1 470 5 500 975
1320 R R F5 61252 Tskkkeloletolok0424 RUBEERE KA 20 — 1 470 5 500 975
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1321 fA] 8L 5 61252 7%kt 4x0422 SRRV KA — 41 —4 1 470 5 500 975
1322 i AL 61252 Tkl 04 10 USRS Y20 =4 1 470 5 500 975
1323 2R 61252 7%k x%043X SRR KA Y 2, =4 1 470 5 500 975
1324 EEA 61252 Tk%sikx3k0410 RUEE T K AT PO 2H — kY 1 370 5 500 875
1325 FEIEEE 61252 Ttttk (0412 RUBERE AR A Y20 =4 1 470 5 500 975
1326 gk 2R 612527 xkkkkxx%0423 SRR KA Y2, = 1 470 5 500 975
1327 ZRIE 7 61252 Tkl 0426 RUSEEE AR A —2H B 1 595 5 500 1100
1328 EXEER 61252 Tx%kkk%%%0416 SRR KA =41 =4 1 380 5 500 885
1329 T 61252 Tickolotokkerk (042X R K AT DU ZH — R 1 440 5 500 945
1330 TR 61252 Tkttt 04 10 RUBERE KA =20 - 1 440 5 500 945
1331 JE AT 61252 7ksickkik0419 P bk el ) — 21 Y 3 1560 5 500 2065
1332 LN 61252 Ttttk 043 1 RUBEERR P AT — 21 —1Y 3 1335 5 500 1840
1333 JE T 61252 7skkkokkk0444 P B el A — 20 — kY 2 965 5 500 1470
1334 M 61252 7%tk xxk0426 SRUBVEE Rk AT — 20 Y 2 965 5 500 1470
1335 TEE 61252 Tskkeelotetolok04 14 RUBEE A P A — 21 — Y 2 965 5 500 1470
1336 T 4o 61252 Tickolotokkek (0424 ENER AR = — 1Y 2 1330 5 500 1835
1337 I 61252 Tkttt 042X RUBEE A P AT =21 — 4 1 575 5 500 1080
1338 s 61252 7kickokik0420 P el A — 21 =4 3 735 5 500 1240
1339 IS 61252 Tkkkkkxkk044 1 SRUEVEE Rk AT — 20 = 4 980 5 500 1485
1340 2R 61252 Tkttt 0422 U PE A T1 40 — 4 1 665 5 500 1170
1341 Eh%a 61252 Tkkskkk3k0418 P bk el ) — 21 =4 4 1250 5 500 1755
1342 JE RS 61252 Tkttt 0425 SRR el A DU 2H - 1 575 5 500 1080
1343 [ 612527 xkkkkikx0420 KB el A —2H — 4% 3 1455 5 500 1960
1344 R 61252 7%tk x3k0410 P Bk el A — 20 — 1Y 1 575 5 500 1080
1345 L] 61252 Tkl 0450 SRR e At = 21 - 1 665 5 500 1170
1346 J7 18 61252 Ttkototokiek 041 7 PR bk Tl ) DY 40 — R 2 1150 5 500 1655
1347 vt 61252 Tkkskkk0415 SRR TR A =41 — kY 2 1100 5 500 1605
1348 P LT 61252 7kl k043X P Bk el ) — 20 — kY 5 2255 5 500 2760
1349 JE A= 61252 7%k xk0410 SRUEEE Rk e A — 20 A 1 595 5 500 1100
1350 kEA 61252 7kskkeekkkk 043X RUBEEAR P AT — 20 Y 1 595 5 500 1100
1351 eEd 61252 Ttttk 0427 PR bk el ) DY 40 — kY 1 595 5 500 1100
1352 B 61252 Tkkololetook0424 SRR el A DU 2H B 1 595 5 500 1100
1353 T 61252 Tksckolctokkk (43X P B el A — 20 — R 5 2120 5 500 2625
1354 [V 2 [ 61252 Tkkkkkxkk0412 SRUBVEE Rk e A — 20 — kY 2 1010 5 500 1515
1355 TNk 61252 Tkskkekeekkek04 18 RUBEE A P A — 21 Y 3 1380 5 500 1885
1356 BT 611026kt 0410 JRELFE R el 1 Y 1 595 5 500 1100
1357 Tk 61252 Tkttt 0429 W R o —1Y 1 595 5 500 1100
1358 XIE A 61252 Tkt 0437 RUEVEE G AT — 2 — 1Y 2 875 5 500 1380
1359 BIR 61252 Ttttk 0427 P 4 A — 241 — 1Y 1 575 5 500 1080
1360 TIRE 61252 Tskkioktotolok04 18 W R o e Y 4 1615 5 500 2120
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1361 Soaze s 61252 7skskskseoksksk 041X RUEV G AT =21 Y 2 740 5 500 1245
1362 Foz 61252 Tkt 043X W o R ol — 1 3 1320 5 500 1825
1363 £ % 61252 Tk x%042X SR G AT DU 2H — 1Y 1 440 5 500 945
1364 BT 61252 Tkkskkik0412 P 4 AR DY 40 — 1Y 1 575 5 500 1080
1365 ZE 61252 Tkt 0425 AR G AT DU 2H - 1 575 5 500 1080
1366 SR 61252 Tkt k04 10 KB & RAA =41 — Y 1 370 5 500 875
1367 SoZE 61252 Tkttt 0433 SRR G AT DU 2H - 1 665 5 500 1170
1368 Y 61252 7%k %%%04 19 KBRS RAA =41 — 4 3 1455 5 500 1960
1369 I 6110265 %sickk5k0417 RUEEE S AT =21 — 1Y 3 1455 5 500 1960
1370 £ 61252 Tkttt 04 10 SRR G AT DU 2H R 2 1100 5 500 1605
1371 ERER 61252 Tkkkkiokx0420 KBS A =4 Y 3 1110 5 500 1615
1372 i 61252 Tkttt 0417 W R o — 4 1 665 5 500 1170
1373 axRfg 612527 x%kkk%%%0416 US4 KA D4R — 1Y 1 440 5 500 945
1374 T 61252 7%tk kik0434 A 4 AR DY 40 — 1Y 1 665 5 500 1170
1375 [ ok 61252 Tkskkekeiekekek (0422 UK IRV —2H R 3 1245 5 500 1750
1376 TR 61252 Tkt k0422 SRR SF A — 20 — 4 1 575 5 500 1080
1377 Tz 61252 Tkttt 04 14 BRIV R —2H — 4 4 2255 5 500 2760
1378 FEEE 61252 Tkt 0470 SRR SF A — 20 A 2 875 5 500 1380
1379 JE R 612527 kkkkok%%0410 RUBBORIE AT — — kY 5 2345 5 500 2850
1380 TH=E 61252 kskkekeekekek(04 19 U VAR 2 — 4 1 440 5 500 945
1381 TH%E 61252 Tkt 0412 SRV SF A — 20 — 4 2 880 5 500 1385
1382 ERET 61252 Ttk 0413 JREGERSEVA R =20 — kY 2 875 5 500 1380
1383 ELE 612527 %kkkkk4%0415 SRR SF A = 20 A 1 370 5 500 875
1384 e 61252 Tx%kkkxx%0416 SRRV SF A — 20 — 4 2 1330 5 500 1835
1385 JE R AN 61252 Tkkkkkkkx0410 UV 2 - 2 880 5 500 1385
1386 + s 61252 Tkt 0448 SRV SF A — 20 — 4 1 575 5 500 1080
1387 XE 61252 Tkttt 0412 RUEEE R SEVA R —2H - 2 1105 5 500 1610
1388 TiLE 61252 7k%ickkk04 16 SRR SF A — 20 — 1Y 2 880 5 500 1385
1389 JE R 61252 7 kkkkokkx0414 SRR SE A — 20 — 4 2 1015 5 500 1520
1390 BRI 61252 Tskkeloletolok0424 BRI SEVA R 2] - 1 440 5 500 945
1391 AL 612527 kkkkokkx0413 SRR SFI A — 20 Y 4 1840 5 500 2345
1392 FHEZ 61252 Ttttk 0427 BRI SEVA R —2H — 4 1 575 5 500 1080
1393 i T 2 61252 Tkt 0412 SRR RSF A = 20 — 1Y 6 2490 5 500 2995
1394 XIRE T 61252 7skkkokkk0424 SRRV SFI A — 20 =R 1 245 5 500 750
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1661 B /DR 61252 Tkkkkkkk 3012 AR e AR DS kY 1 595 5 500 1100
1662 R 61252 Ttttk 3059 AR e AR U DAY AN A 3 1560 5 500 2065
1663 K E 61252 Tkkkkikx 303X LS A — W — 1 665 5 500 1170
1664 XA 61252 7kksickkik3018 YA T = A 4 1615 5 500 2120
1665 EWEES 61252 Tskkieltetolok 3025 AR =i AR D LS - 1 665 5 500 1170
1666 (EE5 611026%kkkk54£2823 A SEHEA RN — 1Y 1 665 5 500 1170
1667 ERK 61252 Ttttk 28 15 AR e AR A DAY AN A 1 370 5 500 875
1668 X% 1 61252 7kkkkkk%301 4 A SFHEA R 2 — Y 4 2165 5 500 2670
1669 BN 612527 kkkkk4%301 7 AP R 2 — 1Y 3 1455 5 500 1960
1670 et 612527384328 10 AR cia; A4 x| —14 4 1895 5 500 2400
1671 KNG 61252 Takkkkk:3019 A SEHEA R PUZH — 1Y 2 1105 5 500 1610
1672 VR 61252 Tsksktttetook 3017 AR ik s A R 22 — 3 1455 5 500 1960
1673 v 61252 7skkkkkx30 1 X A SPHEA R — 2 — Y 5 2695 5 500 3200
1674 T 61252 Ttk 2812 Ak ciai A=A L VAV ! — 4 2 880 5 500 1385
1675 AE¥R % 61252 Tskkeelotetolok30 14 YRS TR = i 4 1750 5 500 2255
1676 JE e 61252 Tkskskskskkk k301X AR e AR DS — Y 1 665 5 500 1170
1677 EUNEATE 61252 Tskklotstetok 30 1X YA SRR =4 A 6 2580 5 500 3085
1678 HxH 61252 Tkt k3017 LR SFEOE R —H Y 1 595 5 500 1100
1679 £HE 61252 Ttk 3045 LA SFEEIEY A 2 — 4 1 665 5 500 1170
1680 e 61252 Tskkioktotook30 12 PRSPV R — 4 A 2 1010 5 500 1515
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1681 WEH T 61252 7xkkkkk%%3036 R SRR — 1 2 1105 5 500 1610
1682 WhK i 61252 Ttttk 3017 S SR YA 4 A 3 1335 5 500 1840
1683 TH=E 61252 Tkl 3018 21 AP RV A D2 B 2 965 5 500 1470
1684 (R4S FA 61252 7ksoickokior30 1 1 Y1 AU A U 2E — 1Y 1 665 5 500 1170
1685 ZERK 61252 Tskkielstetook 3035 YR SRV R— 4 A 2 1100 5 500 1605
1686 L 61252 Tk 3014 I ESEHEIE VAR — 2 kY 1 370 5 500 875
1687 VAT 61252 Ttttk 30 15 YA SRR =4 — 4 2030 5 500 2535
1688 TN 61252 Tx%kk8%%%3020 ISP VAR — 2 — Y 1 370 5 500 875
1689 NS 612527 kkkkkk4%3012 I ESERIE VAR — 21 — kY 1 370 5 500 875
1690 MR 61252 Tkttt 3033 YA SRR =2 — 2 1105 5 500 1610
1691 o 612527 sicksiorsiokx3027 2L SFEOE YR P — 1Y 1 665 5 500 1170
1692 BE 61252 Ttk 3024 1 SR YA T 2 A 1 595 5 500 1100
1693 {5 Ep 61252 Ttk k3016 I SRR VAR DU ZH. — Y 2 740 5 500 1245
1694 BT 61252 T kkkkkk5%3016 ISP VAR — 2 kY 3 1470 5 500 1975
1695 ko 61252 Tskstetototekk 301 1 YA SRR 2 A 3 1245 5 500 1750
1696 IMITHEE 612527 kkkkkkkx3021 I ESEERIE VAR =2 — kY 1 370 5 500 875
1697 IR 61252 Tskklotstetok 30 1X YA SRR =4 — 3 1590 5 500 2095
1698 Y 612527 xkkkk%x%3018 ISP VAR — 21 — Y 6 2760 5 500 3265
1699 PN A 612527 kkkkkkkx3047 I ESPRIE VAR 2 — kY 1 595 5 500 1100
1700 TE 61252 Tkttt 3023 YA SRR — 4 Y 1 595 5 500 1100
1701 [ 3] 61252 7%k k44%3019 YR SRR A Y 1 595 5 500 1100
1702 2R 611026kkskekstotek 3027 AN AL EN A 1 595 5 500 1100
1703 PN 61252 Tkt k3021 ISP VAR 2 — Y 1 595 5 500 1100
1704 I A ik 61252 Tksickkiok3024 Y1 AU A U 2E Y 1 595 5 500 1100
1705 T 612527k ksikkk3023 AR e WAL W B Y 1 595 5 500 1100
1706 R Z 61252 Tksektokiek 3040 AR e MIsRLAL w B — 1 595 5 500 1100
1707 T35 61252 Ttektokxk 3029 S SR YA — 4 A 1 595 5 500 1100
1708 2T 61252 7kkickkik3014 41 S EUE Y A Y 2E. — R 1 595 5 500 1100
1709 KRB 61252 T wkkkkiokk3027 R ORI = — 1 665 5 500 1170
1710 KT 61252 Tskkiolteotook 3013 YA SRR =2 A 6 3075 5 500 3580
1711 P 612527 kkkkkkk%3015 I ESEHEIE VAR — 2 — 1Y 7 3845 5 500 4350
1712 FMESHT 61252 Tskstestototekk 301 1 YA SRR — 4 — 1 575 5 500 1080
1713 SHE 612527 xxkkk%%%301X I SRR VAR DU ZH. — 1Y 1 665 5 500 1170
1714 L 61252 7kksickkik3015 Y1 SFEUE YA U 2E. — R 1 440 5 500 945
1715 fEHH 611026%kkskekstotok28 15 YA SRR =2 — 4 1 440 5 500 945
1716 [ 3 ik 612527443032 I ESFHRIE VAR 2 — Y 1 665 5 500 1170
1717 g 61252 Tkl 3026 Ak N AL E — 1 575 5 500 1080
1718 e 3 61252 Tkwkkrkx301 1 1A SFHIE A D2 Y 2 875 5 500 1380
1719 ZFiET 61252 Tk 302X G SEARIE VAR PUZH — 1Y 1 505 5 500 1010
1720 B 612527 kkikx3k301X AR iy s YW s i R = 7 3265 5 500 3770
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1721 [ 35 % 61252 Tkkkokkx3k281 1 AR e YN A LuVAYA:] — 1 1 440 5 500 945
1722 e 612527 kksikx3k3014 AR s s Y9 s i R —14 1 440 5 500 945
1723 AR 61252 Tkskkx3k3022 AR e Yo des 2 It | — 1Y 2 1015 5 500 1520
1724 i 55 61252 Tksickkik28 14 AR ciea: YN A AU VAYA:] — 1Y 3 1545 5 500 2050
1725 AL 6125278433038 AR s - Y0 s i B —14 1 440 5 500 945
1726 FNF 61252 Txkkkkkx%281 | ARk a bW A L Vi — 4 5 2785 5 500 3290
1727 VR = 4 61252 Tkttt 28 18 AR ki AL N VAYA! — 1 665 5 500 1170
1728 WAL 61252 7%k k%%2816 AR cia: Yan A ulLE:] — R 2 1240 5 500 1745
1729 T 61252 Tkkskkx5k3019 AR ciea: YN A AuVAYA:] — R 1 665 5 500 1170
1730 TKEZ 61252 Tkl 28 16 RSP SR A 5 2480 5 500 2985
1731 F I 61252 7kkkkkkk 28] | AR e Ko des 2 | — 1Y 2 1150 5 500 1655
1732 (RA ] 61252 Tskstestototekk 301 1 AR e = G A — 2 1105 5 500 1610
1733 HH b 612527 kkkkkkk2819 L SEEU SRR — — 4% 1 440 5 500 945
1734 HEEE 612527 k4% 281 7 AR e Ko des 2 I | — 1Y 1 575 5 500 1080
1735 FE 61252 Tskkeloletolok28 1 X AR e d b A N — 3 1185 5 500 1690
1736 ALK 61252 7kksickkik28 15 AR e Ko de 2 Rt — kY 1 370 5 500 875
1737 ZEREI 61252 Tskstestototokk 281 1 AR ks = bW A o N — 5 2650 5 500 3155
1738 GEL 61252 7kksickk5k28 15 AR e Yo de 2 Rt — R 1 665 5 500 1170
1739 2 ST R 61252 7%tk k281X AR e Ko des 2 I | — 1Y 1 575 5 500 1080
1740 (DELESR 61252 Tkt 28 13 A PRI — 2 Y 1 370 5 500 875
1741 oRAEEE 61252 7Kkt 3013 AR e Ka) e 2 It | — 1Y 1 665 5 500 1170
1742 ENE 61252 7kkokkdok281 1 AR s s ¥ W) s i R — 3 960 5 500 1465
1743 [ 61252 Tkkskkx3k2812 AR e Yo de 2 | — 1Y 1 665 5 500 1170
1744 fA] 3 5 61252 7xkkkkk %% 2816 AR e Ko des 2 Rt — kY 5 2345 5 500 2850
1745 TEZE 61252 Tkl 28 10 AR e b A N Y 2 965 5 500 1470
1746 [ 612527 xkokkkiok301X Y1 SRR =2 — 1Y 2 880 5 500 1385
1747 K S 61252 Tkl 2820 RSP EPEAN — 1 575 5 500 1080
1748 SRR 61252 Tkkskkxxk2818 LA P EIE A —AH — 1Y 2 880 5 500 1385
1749 i 61252 Tksokkk3k281 1 LU S EIE A —AH A 1 370 5 500 875
1750 FHE 61252 Tkttt 28 18 RSP EPEA =2 - 2 1015 5 500 1520
1751 K e E 61252 7kkkckkkok 301X LA S EIE A —H — 1Y 1 440 5 500 945
1752 BN 61252 Tskkiolteotolok28 15 R SFHEEPEN — 1 665 5 500 1170
1753 LA 61252 7%k 2829 A SEEHEIE A —AH — 1Y 1 575 5 500 1080
1754 RS 61252 7kickkik 2824 LA S EIE A — 1Y 1 665 5 500 1170
1755 Ik IR 61252 Tskstetototokk 281 1 RSP EPEAN =2 — 4 2 1105 5 500 1610
1756 KER 61252 Tk%skkxxk3010 AR e | b o — 1Y 2 1330 5 500 1835
1757 TKIB R 61252 Tskkiokteotolok28 15 RSP EPEAN =2 — 1 575 5 500 1080
1758 gk /AT 61252 Txkkkk%%%3054 A SFHEREAN T 2H A 6 2850 5 500 3355
1759 SLpE 61252 Tkkskkx3k2819 LA S EEA — R 4 1840 5 500 2345
1760 ik FeAR 61252 Tskkklottook 30 1X A5 S HE PR PUZH Y 1 595 5 500 1100
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1761 T 61252 Tkkskkx3k3028 A SFHEREAN — 20 Y 1 595 5 500 1100
1762 X2 61252 Tskskitteotolok 3032 RSP EPEAN =2 A 1 370 5 500 875
1763 JE % 61252 7kkkkkkx301 4 LA SEEHEIEA R 4 1840 5 500 2345
1764 ZE UK, 612527 k4% 2819 LU S EE A —AH — R 2 875 5 500 1380
1765 B 4= 611026%kkkkx%2816 41 SFHEPE A Y 2H Y 1 595 5 500 1100
1766 | XEHH & % 61252 Tkkskkx3k3015 AR e | b o Y 1 595 5 500 1100
1767 EREN 61252 Tkt 2828 RSP EPEAN — 6 3270 5 500 3775
1768 [ g 61252 7kksickkik3013 A S ESEAT DU — R 4 2030 5 500 2535
1769 JH 611026% %3k %5k2820 LA S EIE A — 1Y 2 1150 5 500 1655
1770 R 61252 Tkl 28 10 RSP EPEAN - 4 2570 5 500 3075
1771 T A 61252 Tkksokkkiok341 1 Y1 A SRR AT PO AR — R 5 2695 5 500 3200
1772 BIEE 61252 Tkskkkk3429 YA TR PR — 4] —kY 4 1250 5 500 1755
1773 14 61252 Tkskxk3420 Y1 SR A — 2 — R 1 595 5 500 1100
1774 BRI 61252 7%k xxk3416 41 SR PR A U 2H. =} 2 625 5 500 1130
1775 [k 612527 kksikkk3417 AR ;- Vi o A - 1 665 5 500 1170
1776 KEET 61252 7Kkt 413 41 SR PR A U 2. — R 2 1240 5 500 1745
1777 gk T 61252 Ttttk 3413 ARk :Uieaul L EE — 1 665 5 500 1170
1778 IR 61252 Tkkkokiok k3410 LS HURITA — A =14 3 1005 5 500 1510
1779 EIEE 61252 7kickkik3416 AR e Ui o I R 2 740 5 500 1245
1780 fig Ly 61252 Tkt 38 18 2 SFE P — 2 =4 4 1385 5 500 1890
1781 etk 61252 Tkkskkk3k3435 Y1 SR A — 2 =4 1 470 5 500 975
1782 EAH I 61252 Tskkllottokok34 10 R SFHE P — 2 -y 1 505 5 500 1010
1783 ay it e 61252 7%kt 419 41 SR PR A U 2. =} 2 625 5 500 1130
1784 [t 61252 7skksickkiok3 412 Y1 AR PR LA Y 4 1615 5 500 2120
1785 B—ﬁﬂ% 61252 Tskkelottokok 34 10 A5 PRI — 21 - 1 665 5 500 1170
1786 FR M Fe 61252 7ksickokior 341 1 Y1 SR A — 2 = 7 2255 5 500 2760
1787 [V gk 61252 Tskklottook 304X R SEE PR - 1 440 5 500 945
1788 pabicast 61252 7Kkt 413 41 SR I A LA — R 2 965 5 500 1470
1789 [RARA 61252 7kkkkk4%3426 41 SR PR A U 2H. =R 2 625 5 500 1130
1790 [R5 61252 Tskktoltotolok34 17 Al i U ea R NVAYAN - 2 880 5 500 1385
1791 B 61252 Tkttt 3417 Y1 5 AR K BEAT PU 2 — R 2 1015 5 500 1520
1792 et 61252 Tskkioltotook 3423 R SEHE PR — 1 440 5 500 945
1793 B I 61252 T%skkxrk3410 Y1 SR A T2 — R 1 665 5 500 1170
1794 S A 61252 Tksickkiok3 414 Y1 SRR T2 — R 1 575 5 500 1080
1795 TR 611026kt 3010 A5 SRR PP T 20 — 1 575 5 500 1080
1796 eE] 61252 7Kkt 418 Y1 SRR — 2 Y 1 370 5 500 875
1797 gkt 61252 Tksktottetook34 18 R SEE RPN T2 A 2 875 5 500 1380
1798 1N 61252 Tkskkktedokk 34 13 AR ks Ui Qa2 WAk kY 1 505 5 500 1010
1799 Ll 61252 7kkkkskkk3855 o1 - Tk FE A — 2 — 1 665 5 500 1170
1800 R 61252 Tkt 3420 2 SEE P A 1 595 5 500 1100
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1801 IEER 61252 Tkkskkk3k3418 YA SRR IR A —1 4 1115 5 500 1620
1802 bEBARL 61252 Tskstestototokk 341 1 2 SFHE KPR 7S 2 =4 3 735 5 500 1240
1803 T 612527 #kkokkkiok341X Y1 SR A — 2 — R 1 505 5 500 1010
1804 AL 61252 Tickolotokkek 341 4 41 AR PR A T 2. Y 2 1100 5 500 1605
1805 £ Bk 61252 Tskkiokstototok34 15 A PRI 21 Y 2 1100 5 500 1605
1806 IR 61252 Tkkskkx5k2029 Y1 SR A LA Y 1 595 5 500 1100
1807 TIEDE 61252 Tkskioleteotook 3425 R SFHE PR 2 A 1 595 5 500 1100
1808 RIS 61252 7Kk 3420 Y1 SR IR — 2 — R 1 595 5 500 1100
1809 T 61252 7kkkkk4%3456 A PRI A — 20 — B 1 595 5 500 1100
1810 R A 61252 Tskklolteotook 3427 A5 PRI =21 —4 3 960 5 500 1465
1811 X ELE 6101 12s5ksick45k7 663 41 SR PR A U 2. — R 3 1590 5 500 2095
1812 ZEH 61252 Tkt 3468 R SFHE PR 2 A 1 595 5 500 1100
1813 Eali 61012 [ skkkkxx7936 Y1 SR I A =2 — R 1 665 5 500 1170
1814 ESEIEE 61252 7 skkkokkx3430 Y1 SRR =20 — 1Y 1 665 5 500 1170
1815 VReEE 61252 Tskkikstotook 3432 2 SEE P T2 Y 3 1470 5 500 1975
1816 LR 61252 7ksickokior34 1 Y1 SR A T2 — 1Y 1 665 5 500 1170
1817 AMH 61252 Tsksktttetook34 18 2R SEE RPN T2 — 1 665 5 500 1170
1818 ESE 61252 7#kkkkk%%3430 Y1 PRI A =20 — R 4 1840 5 500 2345
1819 B 61252 Tkkskkik3413 Y1 SR A T2 Y 5 2345 5 500 2850
1820 HEEH 61252 Tskkelkstotook34 15 2 SFE PR 2 i 4 1975 5 500 2480
1821 J7 61252 7%tk xxk3416 AR e XS x| Y 6 2760 5 500 3265
1822 T8 61252 Tskskioktotook34 15 RSP PAISA — 1 665 5 500 1170
1823 £ R 61252 7kkickkk3416 2 PR — R 3 1545 5 500 2050
1824 FE{Ek 61252 7 kkkkokkk3414 LS P —H — 1Y 1 440 5 500 945
1825 P 61252 Tkkioltotolok 3423 RSP PN Y 5 2570 5 500 3075
1826 T RE 61252 7ksickkiok3 423 Ak cieai ¥ AW VAYA:! — 1Y 1 575 5 500 1080
1827 EERA 61252 Tkksktk3417 AP EANA —k4 2 1150 5 500 1655
1828 Fis 61252 7xkkkkokkk3414 AP P — R 2 1150 5 500 1655
1829 Mk 61252 Tkksikkrk3414 Ak ciai ¥ AW VAYA:! — 1Y 1 665 5 500 1170
1830 EFITEHE 61252 Tskktoltotook34 13 RSFEE P — 2 880 5 500 1385
1831 HEE T 61252 Tkkkelokiok 3422 yr SRk A —1Y 4 2120 5 500 2625
1832 [ E X 61252 Tskkeolttook 343X RSP PN T -y 3 1335 5 500 1840
1833 Ey itk 61252 7kickkik3 414 LA PR =4 6 1875 5 500 2380
1834 5 612527 kkkkk4x3418 Ak ciai L AW VAYA:! — 1Y 1 440 5 500 945
1835 i % B 61252 kskkekeiokokek 3417 A aTp s DA =Y 4 1250 5 500 1755
1836 L 61252 Tkktokkx3421 LS PR — 3 1590 5 500 2095
1837 LG 61252 Tkkelololetolok 3424 RSFHEE P — 4 1 440 5 500 945
1838 s 612527 kkkkkkk k3828 ISP DA N kY 5 2345 5 500 2850
1839 ayitt 4 61252 Tksickkiok3024 LS P —H — 1Y 1 575 5 500 1080
1840 BRoRtE 612527k ksikk3k3419 AR e X WL A4 = 6 2985 5 500 3490
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1841 FEE i 612527 xkkkkk%%3416 S PATIUAH Y 2 1010 5 500 1515
1842 ZERH 612527 kskkekekokokk 3414 AR ci s S Wk e -y 1 595 5 500 1100
1843 IR v 61252 7%kt 4 19 Ak cieai ¥ AW VAYA:! — R 1 595 5 500 1100
1844 FARLNES 612527 k%3kkxx%k3416 AR e X xR 4 6 2715 5 500 3220
1845 T % 61252 Tskklottook34 10 RSP PP Y 4 1480 5 500 1985
1846 S5z 61252 Tkkskkkrk3413 2P PR — 1Y 2 880 5 500 1385
1847 R 61252 Ttttk 3428 RSP P — 1 440 5 500 945
1848 a7t 61252 7%kt 3817 AR e X x| — 1Y 3 1680 5 500 2185
1849 T RO 61252 7Kkt 417 RSP P — R 2 1015 5 500 1520
1850 XL 61252 Tkskkekeiekekek 3412 A a TP ARSI - 3 1455 5 500 1960
1851 ERDA S 61252 7kkickkik3 410 A SPHEEE PN — R 5 2255 5 500 2760
1852 XU WL 61252 Ttttk 3432 2 A SEE A T2 — 1 665 5 500 1170
1853 S ik 61252 Tkkkkkk k3436 2 A PR T2 — Y 2 1105 5 500 1610
1854 HET 61252 Tkt k3420 215 A U AH —1Y 1 440 5 500 945
1855 XU WL 61252 Ttttk 3417 A5 SRR T 20 — 4 1 665 5 500 1170
1856 R Rl 612527 kkkkokkx3418 2 A PR L — 4 1 665 5 500 1170
1857 wttH 61252 Tskklottook 3410 AR e =S W R AR -y 2 1100 5 500 1605
1858 A 61252 Tkl k3417 A SR A — Y 3 1380 5 500 1885
1859 FE[F 5 61252 7kkkkkik34] | A PR — 20 A 3 1470 5 500 1975
1860 BB 61252 Tskstetototokk 341 1 A5 SRR 2 — 4 2 1150 5 500 1655
1861 Tk 61252 7kt 3420 A PR — 2 =4 2 625 5 500 1130
1862 T4 61252 Tskktottotook34 17 2 SEE A — 2 A 1 505 5 500 1010
1863 PG 61252 Tkl k3420 A PR — 2 — Y 1 575 5 500 1080
1864 A 61252 Tkskkiokx3015 21 A PR — 2 — 2 1150 5 500 1655
1865 TRt 61252 Tskkekeloletolok 3426 2 SPE R A — 2 A 1 595 5 500 1100
1866 Fa 61252 Txkkkkkx%3427 2 A SPEER I A Y 2H — Y 1 595 5 500 1100
1867 TR ES 61252 Tskskioltotook 3429 2 SEE A — 2 A 1 595 5 500 1100
1868 i b 61252 7kksickkik3415 A PR 2 =4 3 1140 5 500 1645
1869 EER 61252 Txkkkkx%%3420 A PR — 20 =4 3 960 5 500 1465
1870 | 61252 Ttk k3436 21 PR A 2 —F4 3 1680 5 500 2185
1871 ZEFRIK 61252 Tkt k3452 415 SRR — Y 3 1470 5 500 1975
1872 KEH 61252 Tsksktettotook 34 19 2 SEE R A — 2 A 2 965 5 500 1470
1873 REZ 612527 %kkk k%3428 A PR — 2 — R 1 665 5 500 1170
1874 TR 61252 7%k xxk3416 A SRV — — 1Y 2 1330 5 500 1835
1875 FH = 61252 Tskkeloktotook34 12 A5 PR YDA — 2 — 2 1330 5 500 1835
1876 XI5 61252 7%tk 430 AR cia: Y 2D LR — kY 3 1335 5 500 1840
1877 i Yot 61252 Tskskiottotook34 12 A PRV — 2 — 1 440 5 500 945
1878 [ K 61252 7%k 3417 AR cia: W WL ] A 3 1335 5 500 1840
1879 {H I 61252 7Kkt 417 AR cia: WA 20| Y 3 1380 5 500 1885
1880 XIER 61252 Tskkklotetolok 34 1X RS ARV — 2 1105 5 500 1610
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1881 TEFs 61252 Tkkskkkkk3417 A SRV — 2 — 1 1 665 5 500 1170
1882 Xt 61252 kkkekekkekek 341X A SFE R YA =24 — 2 850 5 500 1355
1883 LT 61252 7Kkt 3 425 AR cia: W 2L ] A 2 875 5 500 1380
1884 )4 612527k kx3418 SRV =2 =} 3 735 5 500 1240
1885 (A= 61252 Tskkelotetotok 342X A PR YOI 2 - 4 2255 5 500 2760
1886 e S 61252 7%k k%3415 A SRV — R 2 875 5 500 1380
1887 i U 61252 Tskskskotokskskk 3416 RS ARV PUZH =4 4 1115 5 500 1620
1888 Kk I 61252 7%k 4%3415 A SRV — R 3 1545 5 500 2050
1889 HIEFs 61252 7%tk k344X A SRV A PUZH — R 1 575 5 500 1080
1890 TR o 612527 kksikkk34 3X AR ;- W4 20 L | —14 2 1150 5 500 1655
1891 B 61252 7%tk k3436 A SRV =4 — 1Y 1 440 5 500 945
1892 JEA 61252 kkkekeiokokek 3412 A TP R YDA — 24 — 4 1 665 5 500 1170
1893 AL 61252 Tkkskk k3418 A SRV — — R 2 1015 5 500 1520
1894 e 61252 7kt 412 A SRV A PUZH — 1Y 2 1105 5 500 1610
1895 X 61252 Tskklltotook 3427 A PR YOI 2 — 3 870 5 500 1375
1896 [ A= 61252 7kkokkkiok341X A SRV — R 3 1815 5 500 2320
1897 Rt 61252 Tskkelolottook34 14 A SRV PUZH — 2 1240 5 500 1745
1898 B 61252 7Kk 3417 U SEE RV — 2 A 1 595 5 500 1100
1899 RS 61252 7ksoickokior34 1 1 AR e WA 20w ) Y 1 595 5 500 1100
1900 ikKHELE 61252 Tskkeeloletolok 3420 RSP ARYMIA H A Y 1 595 5 500 1100
1901 AH IR 61252 7Kkt 418 A SEE RV — 2 Y 1 595 5 500 1100
1902 XU WL EE 61252 Tskskioltotook34 18 AR SRV PUZH -y 1 595 5 500 1100
1903 BRI 61252 T#ksokkkiok342 1 U SRV —2 A 1 595 5 500 1100
1904 BT 61252 7skksickkiok3 423 A SRV A PUZH — 1Y 1 665 5 500 1170
1905 it 61252 Tskstetototokk 342 1 A PR YOI — 2 Y 1 595 5 500 1100
1906 kK i 61252 Tkkskkk3k3419 A SRV Y 1 595 5 500 1100
1907 e 61252 Ttokkpkok 3421 YA SRV — 4 R 1 595 5 500 1100
1908 TE T A 61252 Tkksikkk3424 Ak cia: Y 2D LE:] A 1 595 5 500 1100
1909 FEE 612527 kkktkokkk3413 A SRV — A 1 595 5 500 1100
1910 AR 61252 Ttttk 3412 A PR YDA — 2 Y 1 595 5 500 1100
1911 ESEAL 61252 Tkkskkkkk3417 A SRV =4 — 1Y 3 1590 5 500 2095
1912 JAE i 61252 Tskstestototokk 341 1 R SRV PUZH — 1 665 5 500 1170
1913 B 61252 T#ksokkkiok342 1 A SRV — — R 1 665 5 500 1170
1914 e F 61252 Tkkskkk3k3435 A SRV — 2 — R 4 2120 5 500 2625
1915 B2 61252 Teksolotokiok5425 BRI AR X = Y 1 595 5 500 1100
1916 B 61252 Tkkkkkkkk5427 EPE TR X PUAH R 1 595 5 500 1100
1917 61252 Tkksktokiok5414 PR i A XA —k4 2 1330 5 500 1835
1918 Sy aa 61252 Tscksoiokiolk 5417 HPEAR TR X T2 — kY 3 1245 5 500 1750
1919 ES e 61252 Tkt 5410 HPEAR TR X T2 — kY 4 1750 5 500 2255
1920 REM 612527k ksikk3k5418 BRI AEX —H = 3 1335 5 500 1840
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1921 o W 61252 THkskkik®5413 HPEAR TR X 2] Y 3 1245 5 500 1750
1922 BxRXF 612527k ksikksok5445 PR X A —14 1 575 5 500 1080
1923 T 612527 kkkkiokk5414 TR AL X 4 — 1 440 5 500 945
1924 B 61252 Twkkkkiokk5417 BRI X =2 — 1 575 5 500 1080
1925 J 1 612527k ksikk3k54 26 EPE AR X = —14 1 440 5 500 945
1926 X4l 61252 THkkkkkx5419 EIPA T R =2 Y 2 740 5 500 1245
1927 X9 61252 Tekselotoriek5410 EPE TR X = —14 2 1015 5 500 1520
1928 25 [ 3 612527 kkkkiokk5418 BRI A X =2 =14 4 1475 5 500 1980
1929 aits 612527 kkkkiokk5419 BRI X =2 =14 4 1475 5 500 1980
1930 I B 612527k ksikksok5417 EPE AR X = Y 5 2435 5 500 2940
1931 ZE[A 4L 61252 Tkkkokiok k5414 EAPA TR =2 Y 5 2210 5 500 2715
1932 THH 61252 Teksolotoiok5415 E P AR X PUAH - 2 875 5 500 1380
1933 ZE 61252 Tkkkkkkkk5413 BRI X PUH —Y 1 440 5 500 945
1934 KL 61252 Tkkseketokiek54 14 WP T A X\ R 3 1110 5 500 1615
1935 HHYE 61252 Teksolotoiok5413 b R A W e w4 = 4 1615 5 500 2120
1936 | WKBHRTIE 61252 T wkkkkiokk5412 BPPER PR XA Y 2 875 5 500 1380
1937 B R 612527 kksikk3k541X EPE IR X A - 1 575 5 500 1080
1938 MEE TS 612527 kkkkiokk5425 BPPEE PR AE X A — 1 575 5 500 1080
1939 i 612527 xkkkkiok k5436 AT AL X 4 — 1 665 5 500 1170
1940 IR 612527k ksikkk5448 BRI X Y 1 595 5 500 1100
1941 LR 612527 kkkkkk542X EPE TR X PUAH —Y 1 440 5 500 945
1942 VEGED 61252 Ttttk 541 1 E P AR X PUAH - 2 875 5 500 1380
1943 Xk 1 B 61252 Tkkkkkxkk5418 BRI X LA R 6 2715 5 500 3220
1944 MR 61252 Tkt k5439 BRI X A Y 4 1930 5 500 2435
1945 TR IR 612527 k%ikx3k5410 b a R W i e —14 3 1455 5 500 1960
1946 BN 61252 Tkkkkkx4k5418 EPE A X PUAH —Y 2 1150 5 500 1655
1947 i ¥ [ 612527 kkikk3k54 36 f B R W e w4 =1 5 1585 5 500 2090
1948 BEE 61252 Tkkkkk4%5420 BRI X — 1 665 5 500 1170
1949 ] 61252 Tkkkkkkkk5417 EPE TR X LA — 4 1 440 5 500 945
1950 RN 612527k ksikk3k5415 EPE AR X O\ —14 1 440 5 500 945
1951 i X 61252 Tk 542 1 BT IR XN — i 1 575 5 500 1080
1952 ER IR A 612527k ksikksk5412 EPE TR X = - 2 1150 5 500 1655
1953 ZE [ 4R 61252 Tkt k54 17 BT ITAL R =2 Y 2 875 5 500 1380
1954 T 61252 T kkiokiokk5423 BRI A X =2 — 1 575 5 500 1080
1955 L 61252 Tktolotetook541 1 EPE IR X Y 3 1110 5 500 1615
1956 B4k 612527 kkkk%%%5410 EPE TR X — i 1 575 5 500 1080
1957 hx Bt 612527k ksikk%k5419 HPE AR X\ - 1 575 5 500 1080
1958 LRG3 61252 TH#xkkkk%5410 BPPEE P4 XA — 14 4 2120 5 500 2625
1959 AR 612527 kkkkokiokk5414 BRI X 2 — 1 440 5 500 945
1960 URRTE 612527k ksikkk5429 BRI X = - 1 440 5 500 945
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1961 Vebizia 61252 Tkkkkkkkk5422 WP A X LA — 4 1895 5 500 2400
1962 (ewanil 61252 Teksolotoiok541 7 EPE TR X N —14 1 575 5 500 1080
1963 fr[EAE 61252 Tkkkkk®5413 BPPEE P4 X A Y 3 1245 5 500 1750
1964 IR 61252 Tkkkkkkkk5422 EPE TR X O\AH R 1 370 5 500 875
1965 KA 612527 kkikk3k5416 P A X — Y 5 2120 5 500 2625
1966 F2E 612527 wkkkkiokk5419 BPPER PR XA =14 5 1720 5 500 2225
1967 iy 61252 Teksolotoiok5419 EPE IR X =1 5 1495 5 500 2000
1968 K 61252 Tkkkkkkkk5412 EPE A X PUAH R 1 595 5 500 1100
1969 A 611026%kkkk5kx4820 BRI A X R 4y 1 595 5 500 1100
1970 FAER 61252 Txkkkkkkk5432 PR i A X B2 A 1 595 5 500 1100
1971 JARE 61252 T wkkkkiokk5428 BPPER A XA Y 1 595 5 500 1100
1972 LT 5 61252 Tkksikk3k54 26 HPE AR X O\ kY 1 595 5 500 1100
1973 g% 61252 Tkkirkk5420 HPER A XA 1Y 1 595 5 500 1100
1974 A7 % i 611026 kkk%5k5412 EPE TR X LA R 1 595 5 500 1100
1975 G 61252 Tktolotetokok541 1 PR X A =1 2 625 5 500 1130
1976 Bk % 61252 T wkkkkiokk5413 EAPA P ITA R =2 Y 1 595 5 500 1100
1977 Aettt Ay 612527 kksikk3k5410 BPPE T AL X 2] - 1 595 5 500 1100
1978 RN 61252 Ttokoktokk5 415 BRI X A 1 595 5 500 1100
1979 B 61252 Tk k5428 BT ITA R =2 Y 1 595 5 500 1100
1980 B 61252 Tk ksikksok5428 PR X A Y 1 595 5 500 1100
1981 R 61252 Tkkkkiok k542X EAPA T R =2 Y 1 595 5 500 1100
1982 [ s gk 612527 kksikksk5423 EPE IR X LA - 1 595 5 500 1100
1983 o A5 BH 611026%*kkk4k5424 BRI XS R 1 595 5 500 1100
1984 T 61252 Tkkkkkkk5464 EPE TR X O\AH R 3 1335 5 500 1840
1985 g% 612527 kkikk3k54 36 EPE AR X = Y 1 595 5 500 1100
1986 S 61252 Ttttk 5423 BT AE X A 1 595 5 500 1100
1987 ESYA:S 612527k ksikksk5412 EPE IR X A - 1 370 5 500 875
1988 ZE Al 61252 Ttk 541 1 BT X A R 1 370 5 500 875
1989 g 612527 kkkkiokk5410 AT AL X 40 — Y 1 595 5 500 1100
1990 KA 612527 kkikx3k5416 EPE IR X A —14 1 440 5 500 945
1991 75 RIS 612527 kkkkkx%0014 EPE TR X PUAH R 4 1885 5 500 2390
1992 A3 612527 kkeopiork5429 AN o B X Y2 A 3 1245 5 500 1750
1993 EE 61252 Tkkkkkkkk5417 BRI X —H — 1 665 5 500 1170
1994 AR 611026k %kk%%%541X BRI X — 4 1 440 5 500 945
1995 HME 612527k ksikksok5412 EPE IR X - kY 3 1335 5 500 1840
1996 M 61252 TH#kkkkk%5416 BPPEE PR AE X N —4 2 1240 5 500 1745
1997 EHH 61252 Tk ksikkk5428 f B a R W e w4 - 1 370 5 500 875
1998 THE 61252 Ttokoktokk5418 HPRAE A X PO4H = 5 1720 5 500 2225
1999 AT 612527 kkkokiokk442X BB AT A X — 2 880 5 500 1385
2000 2 612527 kksikk3k4416 P A X - 1 665 5 500 1170
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2001 Bk 4 61252 Tkktokk641 1 WP B X B 3 1245 5 500 1750
2002 ESelq 61252 Ttk 417 PR A X —14 1 665 5 500 1170
2003 Z 5k 612527 kkkkiokk4414 HOTE A B X — 1 665 5 500 1170
2004 7k M 61252 Tkkktiokxd410 WP A B X =Y 3 735 5 500 1240
2005 Tkt 2> 612527 kksikokkd 414 P A X = —14 1 665 5 500 1170
2006 TR 61252 T wkkkkiokkd412 BT E AT B X Y 3 1110 5 500 1615
2007 ML T 61252 Tskksikokk4 42X PR A X A —14 1 665 5 500 1170
2008 P 61252 Tkktior4412 OB A B X AL Y 3 1245 5 500 1750
2009 ERCES 612527 kkkokiok k4426 EOTE A A X AL 4y 5 2345 5 500 2850
2010 TRAR B 612527 kkokpdokq 41 1 P A A X\ Y 2 965 5 500 1470
2011 M ARIE 61252 Tkkkotkkx4423 BT A B X\ —4% 1 575 5 500 1080
2012 HIE 61252 Tssiteietork44 10 PP A A X\ —F4 2 1150 5 500 1655
2013 AR 61252 Tkktior4412 WP B X 2 — Y 1 370 5 500 875
2014 HinE 612527 kkkkiokkd414 EOTE A B X L 4y 1 370 5 500 875
2015 X 4% 61252 Tskksikokkq 424 EIPE A A X N - 1 575 5 500 1080
2016 B 61252 Tkl 4426 WP A B X LA — k4 1 440 5 500 945
2017 RS 612527k ksikkkk4 458 EPE A A X LA =1 3 735 5 500 1240
2018 REEEE 61252 Ttk 4420 WP B X LA — 2 1105 5 500 1610
2019 B 4k 61252 T kkkkkx%4410 EIPE AR XA — kY 2 875 5 500 1380
2020 HE M 61252 Tskksikokk4 434 P A X LA - 3 1545 5 500 2050
2021 e 612527 kkkkiokkd415 BT AT B X N Y 2 1010 5 500 1515
2022 DS94 612527 kksikx3k4410 EPE A AL X N Y 4 1930 5 500 2435
2023 R 612527 kkkkikk4425 BT A B X N Y 2 740 5 500 1245
2024 R E 612527 kkkokiork4416 BT AT B X N 4y 1 370 5 500 875
2025 AT 612527 kksikx3k4410 P A X Y 1 370 5 500 875
2026 EES 61252 T wkkkkiokkd412 BT A B X — 1 440 5 500 945
2027 G 612527 kkokkdorq 43 1 R W e e Y 3 1110 5 500 1615
2028 AR 61252 Tkktkkd 43X WP B X A — 4 1 440 5 500 945
2029 SHE 61252 Tskoksokxx4 41X PR A A A X R A 1 370 5 500 875
2030 HgtH 7k 612527 kkokpdorq 41 1 P A X —14 1 440 5 500 945
2031 S HIE 61252 Tksktiokdd14 WP B X A — Y 3 1110 5 500 1615
2032 s 61252 Tssiteietokx4420 R W e e Y 3 1380 5 500 1885
2033 EeL! 61252 Tkktior4432 WP B X A — 4 2 1015 5 500 1520
2034 gkl 61252 Tkkktikd416 WP A B X LA — Y 2 1010 5 500 1515
2035 JIFA 2% 612527 kksikksokd 413 P A X LA =1 4 1115 5 500 1620
2036 LR 612527 kkkkiokk4436 BT R A B X LA Y 1 370 5 500 875
2037 A8 TE 61252 Tk ksikkkokd 425 EPE A A X LA =1 1 380 5 500 885
2038 A 612527 kkkkiokkd414 OB A B X LA =14 4 980 5 500 1485
2039 B AR 612527 kkkkiokk4410 HOT R A B X LA 4y 2 1100 5 500 1605
2040 [ B 612527k ksikksk4 435 P A X LA = 3 1470 5 500 1975
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2041 T gz 61252 Tketkoriok4 414 WP B X LA B 2 875 5 500 1380
2042 X B 61252 Tk ksikksokq 443 BRI X LA Y 3 1245 5 500 1750
2043 TIEH 612527 kkkkiokk4428 HOT B A B X LA — 1 440 5 500 945
2044 T 61252 Tkisolotsokk4 414 WP A B X LA — k4 1 440 5 500 945
2045 AT ES % 61252 Tk ksikokok 4427 HPPEIE A X A —14 1 665 5 500 1170
2046 S S 61252 T wkkkkiokk4422 BT R AT B XA —4% 1 575 5 500 1080
2047 R EE 61252 Tssitsietorx4420 BRI X A Y 2 740 5 500 1245
2048 Bk 612527 kkkkikkd415 OB A B XA — 4% 3 1590 5 500 2095
2049 iz g 61252 Tskoksokxx4430 HPRAR A A X2 A 1 595 5 500 1100
2050 2k 61252 Ttk k4436 BRI X LA —14 1 440 5 500 945
2051 ez 61252 T wkkkkiokk4432 HOT R A B XA —4% 1 575 5 500 1080
2052 X TT 612527 kksikkskd 415 BRI X ] - 1 440 5 500 945
2053 B2k 61252 Tksolersiokk4 417 WP B X LA — 4 2 880 5 500 1385
2054 JAEERE 612527 kkkkiokk443X HOT B A B XL — 2 1105 5 500 1610
2055 AR 61252734410 BRI X LA =1 6 2100 5 500 2605
2056 EL T 61252 7 wkkkkiokk4425 BT R A B X — 1 665 5 500 1170
2057 PR 612527k ksikkk4 429 BRI X ] R 2 740 5 500 1245
2058 U 611026%k5kkkk%4439 BB A B X Y 1 370 5 500 875
2059 Jil i 612527 kkkkiokk4415 BT AT B X N — 2 1240 5 500 1745
2060 75 A 61252 Tskksikoxkd 424 HPPEE T X A - 1 575 5 500 1080
2061 e 612527 kkkkiokk4416 BT E AT B XA —4% 3 1680 5 500 2185
2062 HBHE 612527 kksikk3k4416 b BN o e ) —14 1 575 5 500 1080
2063 A IHEE 612527 kkkkiokk4423 HOTE A B X — 1 665 5 500 1170
2064 THEY 61252 T wkkikiokk4418 BB AT B X — 1 665 5 500 1170
2065 FAETE 61252 Tskksikokk4 44X HPPEIEE X A —14 1 575 5 500 1080
2066 Rid 61252 T wkkkkiokk4429 BT E AT B X LA — 1 575 5 500 1080
2067 A 2 612527 skksikk3k4430 HPPEIE AL X A —14 2 1015 5 500 1520
2068 AR 4 61252 Tkktior4439 WP B X — 4 1 575 5 500 1080
2069 A H 612527 %kksckok k441 [ BT A B X A — 2 1150 5 500 1655
2070 RIS 61252 Tk ksikkokd 412 HPPEIE A X T4 =1 3 735 5 500 1240
2071 AT 61252 Tkkior4423 WP A B X N — k4 1 575 5 500 1080
2072 A 61252 Tk 418 BRI A X A - 5 2470 5 500 2975
2073 Tias 612527 kkkickk k441X OB A B X LA — 2 1105 5 500 1610
2074 HEAH A 61252 Tkktior4417 WP A B X LA =Y 2 625 5 500 1130
2075 ESES 61252 Ttk 4429 BRI X\ =1 4 1115 5 500 1620
2076 EAD AN 61252 Tk x4429 BT AT B X\ =14 4 1385 5 500 1890
2077 RIKF 61252 Tkksikkk4420 b BN o e ) - 1 575 5 500 1080
2078 & T 612527 kkkkikk4419 HOT B A B X A — 2 880 5 500 1385
2079 B2 612527 kkkokiokk442X BT AT B X PO =14 2 625 5 500 1130
2080 TlEH 612527k ksikksk4 419 BRI AU X VYA = 2 875 5 500 1380
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2081 NEiE 61252 Ttolotookkk4 415 A X N — R 2 965 5 500 1470
2082 25 61252 Tkkikk3k4430 HPPEIE A X T4 Y 3 1110 5 500 1615
2083 T Ak 612527 kkkkiokk4414 HOT B A B X — 1 665 5 500 1170
2084 MR 61252 Tkkior4439 WP A B X — k4 3 1545 5 500 2050
2085 DOV i 61252 Takkaror k4434 HPPEIEE X A =B 3 1095 5 500 1600
2086 B S 61252 T wkkkkiokk4452 BT AT B X\ Y 4 1975 5 500 2480
2087 [ JEL A 61252 Taksokksor 4423 BRI X ] — | 1 665 5 500 1170
2088 HH % B 612527 xkkkkiokk4410 BT A B X PUAH Y 5 2300 5 500 2805
2089 AR 61252 T wkkikiokkd417 BT AT B X =14 3 870 5 500 1375
2090 VI 612527 kkokpdokq 41 1 BRI X VYA Y 3 1560 5 500 2065
2091 RE[E) 2% 61252 Tkktior4423 HOTE A B X Y 2 740 5 500 1245
2092 e 61252 Ttk 4425 BRI AT X VYA — | 1 665 5 500 1170
2093 Bk 61252 Ttktior 4422 WP A B X N — Y 1 595 5 500 1100
2094 TIEH 61252 T wkkiokiokkd417 BT A B X LA 4y 1 595 5 500 1100
2095 ZEHAT 611026%kskks0k %4419 HPPEIE A X A kY 1 505 5 500 1010
2096 R 61252 Tkskior4435 WP B X LA =Y 1 245 5 500 750
2097 2N 61252 Takikoior 4426 b BN o e ) =B 1 470 5 500 975
2098 [t 612527 kkkkiokk4423 BT A B X N Y 1 595 5 500 1100
2099 B 61252 Tetkoiork4 425 BT AT B X N Y 1 595 5 500 1100
2100 R 61252 Tskksikoxkd 424 HPPEIE AL X 2] Y 1 595 5 500 1100
2101 i) 612527 kkkkiokk4426 BT AT B X N Y 1 595 5 500 1100
2102 SR 61252 Taksokksor 4413 HPPEIE A X T4 Y 1 595 5 500 1100
2103 T 612527 kkkkiokk4428 HOT B A B X Y 1 505 5 500 1010
2104 K& 611026%kkkkkkx4419 BB AT B X 4y 1 595 5 500 1100
2105 B 22 61252 Tkokkkkkx4402 P A X Y 1 505 5 500 1010
2106 TS 612527 kkickok k442X BT E AT B X Y 1 595 5 500 1100
2107 i 61252 Tkksikokkd 424 HPPEIE AL X 2] Y 1 505 5 500 1010
2108 LR 61252 Tkkior4428 WP B X 2 — 4 1 665 5 500 1170
2109 T 612527 kkkkiokkd414 BT A A X LA 4y 1 595 5 500 1100
2110 e [ 612527 kksikx3k4410 BRI X N —F 3 1320 5 500 1825
2111 R TS 612527 sicksorsiork4 427 BT R A B X LA Y 1 595 5 500 1100
2112 BEk 77 61252 7kkokkdorq 42 1 b BN o e i) Y 1 505 5 500 1010
2113 I B 612527 kkkkiokk4418 OB A B X LA Y 1 505 5 500 1010
2114 | 612527 %kkkkok k441 [ BT AT B AL X DU =14 2 625 5 500 1130
2115 [N 6110263kkssikokx44 1X HPPEIE AU X N —FY 1 665 5 500 1170
2116 T AR 612527 xkkkkiokk4410 BB AT B X Y 1 595 5 500 1100
2117 B Y f 61252 Tssetietork 443X BRI X ] R 1 370 5 500 875
2118 Al >% 612527 kkkkiokk4428 BT A B X N Y 1 505 5 500 1010
2119 X SE 61252 Ttk k4439 BT AT B X N Y 1 595 5 500 1100
2120 ZRIT 61252 Taksokkoor 4428 HPPEE A X A = 1 595 5 500 1100
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2121 Mg 5 58 61252 Tkkstolotolek 442X WP X FA B 4 1615 5 500 2120
2122 HALE 61252 Tk ksikksokd 427 PR A X A Y 3 1335 5 500 1840
2123 - 61252 Tkktorkd431 HOTE A B X L Y 1 595 5 500 1100
2124 ST 61252 Tksoleriolk 4428 WP A B X\ — Y 1 370 5 500 875
2125 R 612527 kkkokpdokq 441 P A A X\ —14 5 2695 5 500 3200
2126 ZALM 61252 T wkkkkiokkd413 BT E AT B X AL — 1 665 5 500 1170
2127 M7 612527 kksikx3k4410 EPE A AL X N Y 2 740 5 500 1245
2128 R 61252 Tkkktiokd416 WP B X T2 =Y 3 1005 5 500 1510
2129 VE X 61252 T wkkikiokkd417 BT AT B X PO =14 5 1225 5 500 1730
2130 RN 612527 kksikx3k4410 P A X = =1 5 1765 5 500 2270
2131 ERA 612527 kkkckok k441X BT R A B X Y 1 370 5 500 875
2132 SR 612527 kksikk3k4416 R W e e Y 1 370 5 500 875
2133 JE 75 61252 Tkktiorx4415 WP A B X N — Y 1 595 5 500 1100
2134 T 61252 Twkkiokiokk5423 HOTERA A =4 — 1 575 5 500 1080
2135 NSRS 612527 kkikx3k5410 PP RV R A - 2 1150 5 500 1655
2136 R 61252 Tkktiolb415 WP R VA A =20 =Y 3 960 5 500 1465
2137 RS 61252 7 sketotiokk541 | PP AR I VA A IO 20 —F4 1 575 5 500 1080
2138 i 61252 Tsokokoknk5414 HPRAE B VA A U 2 - 2 1150 5 500 1655
2139 BlkiE 61252 Tioiotiokkb4 14 PR VA A DU 20 — Y 1 370 5 500 875
2140 ZEPE R 612527k ksikk3k5415 PR VAR DU 2H Y 3 1695 5 500 2200
2141 24 61252 T kkksk%54 16 AR VA b — 2 — Y 3 1380 5 500 1885
2142 ZEN 612527 kksikk3k541X PRV 2 - 2 875 5 500 1380
2143 BE 61252 Ttttk 41 1 VAR — = 1 245 5 500 750
2144 AL 61252 Tkkkkkx%%5419 P AR VA R U 2H — A 3 870 5 500 1375
2145 AR 61252 Takkksksokk5419 P EETEVA R = 4 3 1335 5 500 1840
2146 T T 61252 Ttk k 542X AR VA 2 Y 3 1380 5 500 1885
2147 A EE 61252 Tssitesietokk54 10 WPPEEIHVA A 2] =Y 6 2550 5 500 3055
2148 L[5 HE 61252 Tkktiokb415 WIPEH VA A =20 — 4 2 1105 5 500 1610
2149 KL T 61252 Takskksk k5425 R ] — k4 1 665 5 500 1170
2150 it A 4% 612527 kksikkk5434 PPN 2 —14 1 440 5 500 945
2151 Jiti A 3 61252 Tkktkk5421 PR VA A — 20 —FY 1 575 5 500 1080
2152 Z= I 61252 Teksolotoiok5413 PP RN A - 2 1105 5 500 1610
2153 ZE 61252 Ttokoktokk 5417 EOTAE VAR — 1 440 5 500 945
2154 Y] 61252 Tkktiolk5412 WIPEH VAR 20 — k4 3 1545 5 500 2050
2155 5 B 612527 kksikk3k541X PP R VAR Y2 Y 2 740 5 500 1245
2156 FIER 611026%*xkk5k%5416 PRIV 4] —4 1 665 5 500 1170
2157 T 6110263k k3ik%3k5410 PRV 2 - 1 595 5 500 1100
2158 e 61252 Ttttk 5429 WAV R — 4] — R 1 595 5 500 1100
2159 Jifi A 376 61252 Ttk %54 16 WA 2 — Y 1 595 5 500 1100
2160 R 61252 Tskkteietork 5414 HPPEH VAR — 20 — | 1 665 5 500 1170
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2161 [ g e 61252 Tkkkkiok k542X HOTERTA A =4 Y 1 595 5 500 1100
2162 RETE 61252 Teksielotorsiek5 42X PP RN — A - 1 595 5 500 1100
2163 B kEH 61252 7 kkkkiokk5422 AR =2 Y 1 595 5 500 1100
2164 SR 612527 xkkkokiokk5420 PR VA — 2 4y 1 595 5 500 1100
2165 TEX 612527k ksikk3k5418 WP VAR — 20 —B 4 1885 5 500 2390
2166 ES N 612527 %kkikk %5421 WA R =2 Y 3 1380 5 500 1885
2167 LY 612527k ksikkkk5417 PP UA R — 20 — 1 370 5 500 875
2168 R 612527 kkkkiokk5414 WA R — 2 Y 1 595 5 500 1100
2169 ERLER 61252 Tbokkdokok k5412 B I YA DU 2 — 14 1 665 5 500 1170
2170 25 7 B 61252 Teksolotokiok5412 PP RN 2 —14 3 1590 5 500 2095
2171 HAT 61252 Tk k5426 HPRAE 7 VA A U2 - 1 665 5 500 1170
2172 T4 612527 kksikk3k541X PP R VAR 2 - 2 1105 5 500 1610
2173 EGan 612527 wkkkkiokk5417 W R R 2 Y 2 740 5 500 1245
2174 T 61252 Twkkiokiokk5427 ETEUR A 4 — 1 665 5 500 1170
2175 ji SR 61252 Tekselotosiek 543X WP RN A - 2 1240 5 500 1745
2176 HRE 61252 Tkkkksokx541X TR = =Y 4 1475 5 500 1980
2177 HEZE 61252 Tkksikk3k5414 PP R VAR A - 2 1150 5 500 1655
2178 TRFE 612527 wkkkkiokk5417 R R R P 2 =14 3 1005 5 500 1510
2179 RVER 61252 Ttokoktokk 5412 HPRAE 7 VA A U2 -y 1 505 5 500 1010
2180 PR 61252 Txkkkkkkk5415 PR A VR Y 2 - 1 665 5 500 1170
2181 B4 612527 kkkkk k541X WA A A LA — 3 1770 5 500 2275
2182 RN 612527 kksikk3k5446 PP R VAR T2 —14 1 665 5 500 1170
2183 [PLE 61252 Tkt k54 13 HITEURIA A =14 2 490 5 500 995
2184 RIS 61252 Twkkiokiokk5448 ETUR A — 4 — 2 1015 5 500 1520
2185 2N 612527k ksikksk5417 WP RV 2 Y 2 875 5 500 1380
2186 HRE 61252 7kskkktetokk 5412 HPRAE VAR — 4 — Y 1 370 5 500 875
2187 PN 612527 kkikk3k5410 PP RV 2 - 2 740 5 500 1245
2188 Mo 612527 wkkkkikk5419 WA A A =4 — 4 2 625 5 500 1130
2189 HER 61252 THkskkik®5412 s VRN EI] —14 2 1150 5 500 1655
2190 B EHL 61252 Teksolotoiok5413 WP R VAR T2 —14 1 440 5 500 945
2191 EF N 612527 kkkkiokk5416 PP AR AV R 4] — 1 440 5 500 945
2192 HEE 612527k ksikk30k5429 PP R VAR A - 1 575 5 500 1080
2193 [ 61252 Ttokoktokk5419 HPRAE 7 VA A U2 -y 2 875 5 500 1380
2194 AR ] 61252 THkskkikx5417 WP R AR VA A DU 2H — kY P 490 5 500 995
2195 wiRiE 612527 kksikk3k541X WP RV 2 Y 4 1615 5 500 2120
2196 HRH 61252 Tkt k54 13 HOTEURM N A — 2 1240 5 500 1745
2197 T 61252 Teksolotoiok5415 PP R VAR A — 4 1115 5 500 1620
2198 S EW 61252 Ttokoktokk5413 PP A AR R\ — R 2 880 5 500 1385
2199 HRS 61252 Ttk k54 12 HOTEUR A =4 — 1 440 5 500 945
2200 M1 4> 61252 Teksolotokiok 5412 WP RV 2 = 3 1335 5 500 1840
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2201 EZH 612527 kkkkiokk5415 HOTEURI A — A — 1 440 5 500 945
2202 wgA 612527k ksikksk5437 WP R VAR A —14 1 440 5 500 945
2203 FLEN 612527k k54 15 HITEURI A VUA Y 2 965 5 500 1470
2204 61252 T#kpkiork5439 PR =4 — Y 2 715 5 500 1220
2205 REX 61252 T#kkkkkxx5416 P AR VAR == 6 2100 5 500 2605
2206 522 612527 %kkkkk k541 1 W R =2 Y 3 1470 5 500 1975
2207 EH 61252 Teksolotoiok5415 PP RV 2 —14 2 1105 5 500 1610
2208 LA 61252 Ttokoktokk 5417 BT AR VAR = 3 870 5 500 1375
2209 HRZE 61252 Tkt k54 13 TR = 4y 1 370 5 500 875
2210 RS 612527 kkikx3k5416 PP R VAR U2 =1 3 1005 5 500 1510
2211 s 612527 kkickok k541X W R R LA Y 1 370 5 500 875
2212 F R 612527 kpkokiokk5410 WA AR A A | 1 575 5 500 1080
2213 N 61252 Tkkkkkxkk5425 WP RV R — — 1 575 5 500 1080
2214 A 61252 Twkkiokiokk5412 ETEUR A 4 — 1Y 3 735 5 500 1240
2215 wip 61252 Ttttk 5414 WP RN A - 1 440 5 500 945
2216 & E S 61252 Tskoksokxxk5430 WP A AR T4 =Y 1 245 5 500 750
2217 W 612527 kkikk3k5416 PP R VAR A =1 1 245 5 500 750
2218 e 61252 TH#kkrk%5420 ETEUR A 4 — kY 1 505 5 500 1010
2219 F iR 61252 Ttk ®5413 PP A AV R A — 3 870 5 500 1375
2220 RN 612527k ksikk3k5435 PP R VAR U2 Y 3 1245 5 500 1750
2221 TR 612527 wkkkkiokk5419 WA A A =4 — 1Y 4 1340 5 500 1845
2222 754 612527 kpeopiork5419 WA AR A A =1 2 625 5 500 1130
2223 2F % 61252 Ttk 541X BT AR VAR — 1 440 5 500 945
2224 e 61252 T kkkkiokk5418 W R R 2 Y 1 595 5 500 1100
2225 jFEdh 612527 kkikk3k541X WP RN A —14 1 440 5 500 945
2226 TH 612522 skkkkx%0524 HPRAE VA T -y 2 875 5 500 1380
2227 il 2 61252 Takikaiok5434 PR AR VA R DU 2H — 2 875 5 500 1380
2228 RAER 61252 THkskkkkx5432 PP RV R 4 — 14 1 665 5 500 1170
2229 ¥ITEL 61252 Tkktkkb41 1 HOTEURE A VUA Y 3 1245 5 500 1750
2230 {2 e 612527 kksikk3k5414 PP R VAR U2 —14 1 440 5 500 945
2231 X 61252 THkkkk%5420 ETEUR A LA R 1 370 5 500 875
2232 A 612527 kkpiokickk541 0 PP ARV — 2 — 1 595 5 500 1100
2233 ¥t 55 612527 kkkkiokk5444 W R R —2 Y 1 595 5 500 1100
2234 ES R 61252 T wkkkkiokk5412 PP A AV R — 2] — 1 665 5 500 1170
2235 B 612527k ksikk3k5418 PP R VAR U2 Y 1 595 5 500 1100
2236 SLER 61252 T kkkkiokk4213 WA T A — 4 — 2 1150 5 500 1655
2237 ZHER 612527 ikioriokx429 | WA A — 4 4 2 740 5 500 1245
2238 I AR 61252 Tskokokxx4210 EP A A — 1 440 5 500 945
2239 fR[EE M 61252 THkkkik*4218 HOATE R A B 1 505 5 500 1010
2240 i 61252 Tskksikokk4 204 WPPEE A 2l - 1 665 5 500 1170
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2241 X5 3 612527 wkkkkiokk4219 HOATEU R A =4 — 1Y 3 960 5 500 1465
2242 T H 612527 itk 294 WA A 4 A 1 595 5 500 1100
2243 IR 61252 Ttttk 4212 BT A = 2 715 5 500 1220
2244 ES 61252 THkkkik®4213 ETE A 4 — 1 665 5 500 1170
2245 f2ER 61252 Takkaiors42 10 W A PO A —B 3 1470 5 500 1975
2246 I E[ R 61252 T wkkkkiokk4218 A o A — 4 — 2 1240 5 500 1745
2247 A A A 6110263k k38434827 WPPEE P A 2] —14 1 665 5 500 1170
2248 i) 612527 kkkokiork4214 ET L E A A — 2 880 5 500 1385
2249 X752 61252 Tkktior4229 HPPAE R — 2 Y 3 1245 5 500 1750
2250 kR Pt 61252 Tekselotoaiek 4220 PP P A PO 2R Y 2 1190 5 500 1695
2251 Rz 61252 T wkkkkiokk4217 WA A =4 — Y 1 245 5 500 750
2252 EEEE 61252 7kkokkkokq 23 1 PP AR P A PO 2R - 4 2165 5 500 2670
2253 X e 61252 Tkktkkd 21X HPPAE T d R =2 Y 1 370 5 500 875
2254 KT 612527 wkkkokiokk4224 PP AR R — 1 665 5 500 1170
2255 R E T 61252 Ttk 42 [ X W A P4 —B 4 1615 5 500 2120
2256 ZAER 61252 T wkkkkiokk4218 HPPAE R — 2 Y 2 740 5 500 1245
2257 IhAE 61252 Tkksikokk4 214 PP AR P A PO 2R =1 3 960 5 500 1465
2258 AR 61252 Tkktokokx421 | HPPEE R — 2 Y 2 875 5 500 1380
2259 B/ 61252 THkkkrk%4230 ETA A PO A — k4 2 1015 5 500 1520
2260 R 61252 Tk ksikokokd 205 WPPEE A 2] Y 1 595 5 500 1100
2261 R R 612527 kkkkikk4215 HPPAE T d A VY2 A 1 595 5 500 1100
2262 23 61252 Tekselotoriek4 210 WPPEE A R 1 505 5 500 1010
2263 ZEE 61252 Tsokoktokxx4224 PP A R R 4 — R 1 595 5 500 1100
2264 AT 61252 Ttk ®4245 W A =2 — Y 1 595 5 500 1100
2265 BT 61252 Takstokksior 4229 WA A =4 —B 1 595 5 500 1100
2266 (ERGE 61252 Tkkkokiokx4226 HPPAE R =2 Y 1 595 5 500 1100
2267 | ZEEEUEAR 611026k kkkkkx4296 WA A — 4 | 1 575 5 500 1080
2268 &AL 61252 Tk k%4226 PRAE A U2 - 1 665 5 500 1170
2269 LT 61252 Txsokoksokxx4224 S A = 1 380 5 500 885
2270 ZHE 612527k 4 21X WPPEE A —14 1 665 5 500 1170
2271 AERER 61252 Ttk 4229 BRI A 2 — 3 1380 5 500 1885
2272 AR 612527 kpepiork4 299 WA A 4 =1 4 1385 5 500 1890
2273 VERE 61252 Tkkkkkntkok 23 1 PP A R A 4 R 3 1110 5 500 1615
2274 S 61252 Tkkkoktkkk4213 N L 4y 2 740 5 500 1245
2275 P 61252 Tskksikkkd 205 B PP (] SR AT DU AH Y 3 1470 5 500 1975
2276 Ta4s 612527 kkickrk k421X RO [A] k) T — 1 440 5 500 945
2277 kX 61252 T kksikkkkd 248 HPELE E AT kY 1 505 5 500 1010
2278 fKE 61252 Tkkkkk4%4210 WP ) A — A — 3 1680 5 500 2185
2279 EXE 612527 xkkkkiokk4230 RO [A] b T i 1 440 5 500 945
2280 KK 61252 Tktolototokok4 23 1 BRI A = = 1 370 5 500 875
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2281 JE it 612527 xkkkokiokk4224 BB L — 1 665 5 500 1170
2282 W 61252 7kokkdokq 29 1 EPEL R A AT A —14 1 665 5 500 1170
2283 kel 61252 THkkkik*4228 BRI (AR AT A — 14 1 665 5 500 1170
2284 uRsida 61252 Txskoksokxx4210 HRRAE T (] R AT PUZH -y 3 1560 5 500 2065
2285 FEif 612527kt 4 23X HPELE E AT —AH =1 4 980 5 500 1485
2286 ik T 612527 Hkkkckikx421 | WO [A] A =4 — 1Y 4 1340 5 500 1845
2287 [in] -3 61252 Tekselotoriek4 210 HPPEL E AT = —14 2 880 5 500 1385
2288 ZEi o 61252 Ttttk 4213 HRRAE T R EAT =40 -y 4 1975 5 500 2480
2289 T 61252 Tk %%%4216 WP A — — 4 1 665 5 500 1170
2290 S N 75 61252 Tskksikokkokd 209 EPEUL R AT A Y 1 595 5 500 1100
2291 Sk 61252 THkskkik*4225 PO (AR 4 — Y 1 595 5 500 1100
2292 R 61252 Tk ksikkk4 209 B A A —AH - 1 505 5 500 1010
2293 X B 61252 Ttk 217 PP AR 1 a] 5 A DY 2H R 2 875 5 500 1380
2294 BkER 612527 kkkokiokk422X R ] b L2 4y 1 595 5 500 1100
2295 2 61252 Teksolotokiok4 212 B R EAT —H = 1 505 5 500 1010
2296 HEE 612527 kkickikx421 | WO [A] k] =4 — Y 2 490 5 500 995
2297 B 61252 Teksolokoiok4 229 HPEUL R A AT A - 1 665 5 500 1170
2298 EE 61252 Tsokolkokxx4214 HRRAE L R EAT T -y 1 595 5 500 1100
2299 BRI 61252 T wkkikiokk4212 R ] b =2 — Y 1 505 5 500 1010
2300 SN 612527k ksikksokd 213 B PP (] SR AT DU AH - 1 440 5 500 945
2301 EEAN 612527 kkkkiokk4214 RO [A] b T — 1Y 3 870 5 500 1375
2302 g AEIK 61252 Teksolotoiok4 219 HPPELR E AT = —14 1 665 5 500 1170
2303 Shaf) 61252 Ttokokotokxk 4217 HRRAE (R R AT PO 4H - 1 665 5 500 1170
2304 XN 61252 Tkpktkd 221 BT EULE SR — — 4 1 470 5 500 975
2305 TR 61252 Ttk k4255 HPPEUL A A — 2 A 4 1975 5 500 2480
2306 e 611026%kkkkkkx4827 WP DI R —24 =14 4 1205 5 500 1710
2307 e s 0 612527 kpepiorkd 21 7 PPV B — 20 A 1 370 5 500 875
2308 | 61252 Tkkkkknkkd233 WP YIS A —2] — 2 1105 5 500 1610
2309 Bk 612527 Hkkiokk k421 | HIEV ISR —2 4y 2 740 5 500 1245
2310 AEFEE 61252 Tkokkkk%4025 YIS R Y 1 505 5 500 1010
2311 XA 61252 Tkkkkkxkk4239 WPV R — 4] R 3 1245 5 500 1750
2312 B 61252 Tsksietietork4.224 WPV R 2] | 1 575 5 500 1080
2313 FReae: 612527 kkickk k421X WP IS R =4 — 3 1680 5 500 2185
2314 T 612527 kkkkokiokk4214 HEV ISR =2 — Y 2 875 5 500 1380
2315 2L 61252 Tsekiior kx4 226 YIS R VU H Y 2 965 5 500 1470
2316 IR 612527 kkickikx421 | VIS B2 =14 5 1630 5 500 2135
2317 EHEE 61252 Tk ksikkkokd 213 PRI A U2 - 1 575 5 500 1080
2318 e 612527 kkkkiokk4214 WP IS H LA =14 5 1765 5 500 2270
2319 Jil R 61252 Ttk 421X AR YIS K U 2H R 3 1335 5 500 1840
2320 TR 612527k ksikkk5623 PPV IR T2 - 1 665 5 500 1170
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2321 XISR AR 61252 Tkkxkkrkkd21X RIS F 4 — Y 2 875 5 500 1380
2322 ZHTL 612527 kpioiokkd 2] 4 EAT DI A PO A =B 2 715 5 500 1220
2323 2HE 61252 Tskolokxx4 21X HERAE YIS A U2 - 2 1105 5 500 1610
2324 [ 4k 61252 THkrkkrk®4216 ETEPIS R 4 — 1 575 5 500 1080
2325 [V Hp ot 61252 Tk k%4219 DI R —H == 2 490 5 500 995
2326 HET 61252 T kkskkkkk4214 WP YIS A —] = 2 625 5 500 1130
2327 N 612527 kkpioickk421 6 PPV R 2] —44 1 440 5 500 945
2328 R 61252 Tkkkkk*4218 PPV R =41 — 3 870 5 500 1375
2329 R 61252 Ttk 214 RV ISR — 2] = 1 380 5 500 885
2330 ZITAE 612527 kpeopierkd 219 WA PO =B 4 1115 5 500 1620
2331 ) 61252 Tskokskxx4210 B ISR —H = 3 870 5 500 1375
2332 | 612527 kpepiork4 299 RIS A =4 4 1 370 5 500 875
2333 B 61252 Ttk x4220 IR —A Y 1 595 5 500 1100
2334 REETT 61252 Txsokoksokxx4224 HERAE YD IR A T2 — 1 380 5 500 885
2335 FFE N 61252 Tkksikksokd 217 HPPEY IR A U2 = 2 875 5 500 1380
2336 H 61252 Tk k5428 ISR — Y 1 595 5 500 1100
2337 [ T HE 612527 kpieopiorkd 21 8 WPV R —2H 4 1 595 5 500 1100
2338 G 612527 kkkickrk k421X WP IS R —4 — 1 665 5 500 1170
2339 BEpisC 61252 Tkkktiok4216 WA YIS R =40 — 6 2010 5 500 2515
2340 TOE 612527k ksikkkokq 425 BRI 7S 2 - 1 665 5 500 1170
2341 LN, 61252 Tktektotord 411 HIPEURBIA —A — i 1 440 5 500 945
2342 JRYEEQ 61252 Tekolotoiokd 418 PP A — 2 —14 2 1150 5 500 1655
2343 A 61252 Tkkkrk®4413 AR B A — 4 — 2 1150 5 500 1655
2344 JH EAR 61252 Tkkxkkrkkdd] 1 PR B A — 4 — 1Y 2 490 5 500 995
2345 HERE K 61252 Ttk 413 AR B —2H == 3 735 5 500 1240
2346 FE A 611026%*%kkkk%4449 PP AR A R — 20 —4 1 575 5 500 1080
2347 Py ae 612527 kpiepiored 4] 2 WA AR A 4 4 1 370 5 500 875
2348 2K 61252 Tkkiokd 414 WP EER ik — 20 — 4 3 1005 5 500 1510
2349 KR 61252 Tkkkior4418 WP EEAR iR — 20 Y 5 2210 5 500 2715
2350 2w 612527 kpioiokk4436 WA AR AT =4 =B 4 1385 5 500 1890
2351 X2 B 61252 THkskkik*4432 PR IR =4 — 5 1360 5 500 1865
2352 Sk 612527k ksikkkk4 419 PP A T2 - 1 440 5 500 945
2353 Z 5P 61252 Tkkkkkxkk4435 WP A — 21 — 2 880 5 500 1385
2354 A 61252 Tkskkik®4415 PR B A =4 — 1 575 5 500 1080
2355 T4 61252 Tskkskkxx449X AR B =0 - 1 575 5 500 1080
2356 BEk A 61252 Tkieketokiokd 415 BT EURBIA — A = 3 1005 5 500 1510
2357 Geipaqiin 61252 Txkkkkkkk4413 SRR = — 4 1115 5 500 1620
2358 fupafi 5% 61252 Tkkkrk%4410 PR iR =41 — 14 1 575 5 500 1080
2359 FgEA 61252 Tkkskkkx%443X B IP R B YA —Y 1 575 5 500 1080
2360 TR 61252 Tsekseersiokkd4 15 WA AR B P4 — 2 740 5 500 1245
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2361 BT 612527 wkkkkiokk4425 E T HUR BT VU4 — 1 575 5 500 1080
2362 Jb e 612527 ikioiokkd 4] 4 PR i A D 20 =B 4 1115 5 500 1620
2363 i 61252 THkskkkk*4435 PP AR RR [ 2] =14 2 625 5 500 1130
2364 e 61252 Tkkkkkx5%4429 TR A R 2 875 5 500 1380
2365 Tk 61252 Teksolotoiokd 418 HPPEUR iA 7S 2 —14 2 1105 5 500 1610
2366 £ 61252 Ttk *4422 PR BR SN — 1 575 5 500 1080
2367 B 61252 7kkokkdord 441 HPPETR RiA S 2 —14 1 575 5 500 1080
2368 AR e 61252 Tkkkkknkkd 412 PP AR AR i U 20 R 1 370 5 500 875
2369 BT 61252 Tkkkikx4415 PR B A T — 1 665 5 500 1170
2370 [ 61252 Ttk 417 AR B Y 1 370 5 500 875
2371 Jpdg 61252 Tk k4438 T HUR B 4 Y 1 370 5 500 875
2372 XA 61252 Ttk 4416 WPPEEAR A — 20 — | 1 575 5 500 1080
2373 fifd 7k I 61252 Tkkkkknkkd 417 WP A S A — 2 1150 5 500 1655
2374 KEEE 61252 Ttk 442X AR B A N 4 — 1 575 5 500 1080
2375 AR 61252 Teksolotokiok4 427 HPPETR A T2 - 1 575 5 500 1080
2376 EHERT 61252 Ttttk 4415 BT EAR A 4 — i 1 440 5 500 945
2377 B PG bk 612527 ipioriokkd 43X PP AR B 7S 20 | 3 1995 5 500 2500
2378 T 612527 kkkickk k441X AR B A — 4 — 2 1150 5 500 1655
2379 AW 61252 Tkskkikx4415 PR B A T — 1 575 5 500 1080
2380 HIE 4 612527 kkokpdokq 41 1 HPPEUR R P 2H - 2 1150 5 500 1655
2381 TRIE 5 61252 Ttttk 41 1 HPRAE AR R U 2 - 5 2695 5 500 3200
2382 JRIERES 612527 kpieopiorkd 418 PP B T 20 =B 2 625 5 500 1130
2383 [ 4T 61252 Tkpkkrkkd414 PP AR R [ 2] =14 2 490 5 500 995
2384 e[ alikf: 612527 kkkkkxx%4410 WP AR A 2 — 4 1 665 5 500 1170
2385 PRt 61252 Tk ksikksokd 417 PP A — 2 Y 1 595 5 500 1100
2386 e 61252 Ttk *4442 WA A =2 Y 1 595 5 500 1100
2387 Zor R 612527 kpeopiorkd 437 W PPEEAR B T 20 4 1 370 5 500 875
2388 TR 61252 Tkrkkrk%4416 W E AR =2 Y 1 505 5 500 1010
2389 LA 61252 THkskkik*4425 AR B A N 4 — 1 665 5 500 1170
2390 i 612527 kpioriokkd 416 PP AR AR i A DO 20 4 3 1110 5 500 1615
2391 P25 61252 Tkkkrk%4410 PR R N — 4 2120 5 500 2625
2392 AE [ 612527 kpiepiorkd 495 PP AR A — 20 4 1 595 5 500 1100
2393 i iy 61252 THkkkik®4413 WA A L2 — Y 3 735 5 500 1240
2394 LT 610122:kkkkx%3735 BT EAR iR =4 — 4 1 440 5 500 945
2395 e 2w 61252 Tk k%4416 AR B L H == 2 490 5 500 995
2396 e 61252 T wkkkkiokkd412 WA A =2 Y 1 595 5 500 1100
2397 TR 61252 Tk ksikksokd 417 B A - 1 440 5 500 945
2398 AR 61252 Tsokokokxxd 414 HORRAE T A — 4 A 2 965 5 500 1470
2399 k55 612527 xkkkkiokkd41X WP ) s — 2 — 1Y 2 760 5 500 1265
2400 AR 6110263k kikx3k4424 BT AT - 1 575 5 500 1080
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2401 A s 61252 Tkkkkkkkkd412 PP AR T P i — 2] — 2 1240 5 500 1745
2402 i [ 4 61252 7kkokkdorq 43 1 EPE L AT - 2 965 5 500 1470
2403 e 612527 wkkkkiokkd418 WO T R e 2 Y 2 740 5 500 1245
2404 e 612527 kkkkiokk4436 W T R 2 Y 6 2715 5 500 3220
2405 ARsEAs 612527k ksikksokd 413 BT L A Y 5 2480 5 500 2985
2406 ZE Ui 612527 wkkkokiork4437 BT A — 3 1590 5 500 2095
2407 AR R 61252 Tkksikokokd 429 B AT = - 1 505 5 500 1010
2408 - 61252 Tkkkokiok k4410 BT A Y 3 1245 5 500 1750
2409 BEH 61252 T wkkikiokkd 412 BT A 4y 2 875 5 500 1380
2410 AR 6110263 kkkkkk442 1 BT AT = —14 1 665 5 500 1170
2411 % 61252 Tkkktiok4416 BT A =Y 2 625 5 500 1130
2412 2B 61252 Tekselotoriok4 434 B  BEAT DUAH =1 6 1965 5 500 2470
2413 e 61252 Ttokoktokxk4413 HRRAE T A PO A = 2 490 5 500 995
2414 B 61252 T wkkiokiokkd417 AR T R PO 2H =14 2 850 5 500 1355
2415 FHEED 61252 Ttttk 418 P S A A - 1 575 5 500 1080
2416 TH*% 61252 Ttokoktoksk 4412 BRI A -y 1 505 5 500 1010
2417 [RAH & 61252 Thkskokiokkd 411 HPPELL A T —F4 2 1240 5 500 1745
2418 KFHE 61252 Tkktookx443 1 BT A Y 3 1515 5 500 2020
2419 FERK 61252 T wkkikiokk4422 W T R = 2 Y 1 505 5 500 1010
2420 JEE2ss 61252 Tskksikx3k44 30 B P AT DUAH Y 1 370 5 500 875
2421 AL 61252 Ttk ®4412 A ) R — 4 Y 2 1100 5 500 1605
2422 TR 61252 Tk ksikkkkq 425 B B AT DU AH - 1 595 5 500 1100
2423 T4 612527 kkkkiokkd418 A ) SRy i T — 2 1015 5 500 1520
2424 FEAESC 61252 Tkkkkkxkk4418 PP AR T P i — 2] R 1 370 5 500 875
2425 AH 22 Ef) 61252 Tekselotoksiok44 34 EPE S AT A Y 2 1100 5 500 1605
2426 M2 612527 kkkkiokk4415 WP ) Ry — — 4 2 490 5 500 995
2427 ZHE 61252 Tkksikkk4 429 B P AT DU AH —14 1 665 5 500 1170
2428 A 2 61252 Tkkkkknkkd413 PR T P i 77 2 R 6 2490 5 500 2995
2429 B 61252 Tkkkkik k446X BT A 4y 4 1885 5 500 2390
2430 PR SE AT 61252 Tekselotosiok4 41X B BT DU AH Y 4 1840 5 500 2345
2431 BREH 61252 Ttttk 4415 HRRAE T A PUAH - 1 575 5 500 1080
2432 ki 9z 61252 Tkksikokkq 424 B  BEAT DUAH - 1 575 5 500 1080
2433 Ji) [ 4 61252 Tkrkkrk%4436 A ) SR U A — 4 2 1015 5 500 1520
2434 T4l 61252 Tk k4410 BT A 4y 6 2625 5 500 3130
2435 AR 612527k ksikkk4 428 B P AT DUAH Y 1 595 5 500 1100
2436 XI5 612527 %kkkckkk k441 [ WP T R 2 Y 1 595 5 500 1100
2437 2 Lakes 61252 Tk ksikkkq 428 B BT PUAH - 1 595 5 500 1100
2438 X 612527 kkkkiokk5663 R T R e — 2 Y 1 595 5 500 1100
2439 EE 61252 Txskoksokxx442X P A — 2 — 4 1 575 5 500 1080
2440 T AL 612527k 4 41X BT A - 1 575 5 500 1080
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2441 AR B 61252 THkskkrk®4429 BT A 2 Y 1 595 5 500 1100
2442 AR AR 61252 Tkksikksk4 414 B  BEA —H - 5 2120 5 500 2625
2443 FAET 612527 kkkkkokekk [ 81X A PR A 34 X DU 2H — 14 1 665 5 500 1170
2444 EALE 61252 Ttk 1814 P ITAE X PUH — k4 1 440 5 500 945
2445 2K 61252 Tskkioltotolok [ 818 PR PR X =20 — 1 440 5 500 945
2446 Eae 612527 kkkkkokokk 1813 S PR PR X 2 -y 3 1470 5 500 1975
2447 LN 611026kttt 1813 TP PEAE X PY2H =4 1 470 5 500 975
2448 B %5 61252 7kickokiok 1 824 IR X L =AY 3 960 5 500 1465
2449 TR 612527 kkkkkokokk 1815 IR I X =4 -y 2 875 5 500 1380
2450 LTRR 61252 7kksikk0k [ 853 AP AT AR X PUAH —14 1 575 5 500 1080
2451 FHEX 612527kl 1830 EIPEA A X H A — 1Y 2 1105 5 500 1610
2452 R 61252 Tsksktttetotok | 835 PR PR X 2 A 1 370 5 500 875
2453 F/E 612527 %kkkkkkk 1817 A5 PR AS BEAE X = 4 A 1 370 5 500 875
2454 gR Al 61252 Takkkokokkk 1827 75 PEARL S BT 4 [X DU 2H =4 1 470 5 500 975
2455 O 61252 Tskktttetotok [ 817 PR PR X =20 =4 3 870 5 500 1375
2456 Z{ESL 612527 kkkkkokokk 1810 SRR A 34 X U 2H -y 4 1615 5 500 2120
2457 TR 61252 Tsksktttetolok 1813 TP PEAE X DY 2H A 3 1110 5 500 1615
2458 + 612527 x5kkkk4%0425 A FPAE AT P4 X T2 =Y 1 470 5 500 975
2459 Bk 61252 7kksickkiok [ 819 A PPAEAT PP AL X L2, — k4 1 575 5 500 1080
2460 ZEIE R 61252 Tskktkstototok [ 817 PR PR X 20 i 3 1110 5 500 1615
2461 EONU 61252 Tkkkkk%08 19 BIEEA I IX ) — 1Y 1 575 5 500 1080
2462 g 61252 Tkl 1816 TP PEAE X DY 2H A 4 1615 5 500 2120
2463 ] 612527kl 1818 PP PR X L2 -y 2 740 5 500 1245
2464 EER 61252 Tkkkokdokk 1817 AP S A X L Y 4 1840 5 500 2345
2465 {53 BH 61252 Tskkiltotolok [ 829 TP PR X DU 2H - 1 575 5 500 1080
2466 EHFE 612527 xkkkk k%% 1828 A PR B A X U — 1Y 2 1015 5 500 1520
2467 WK 61252 Ttttk 1819 PRI X = =4 3 960 5 500 1465
2468 25 612527k 1825 APPSR X = kY 1 370 5 500 875
2469 Jinda 612527 kkkkkokokk 1866 A FEAE A 4 X U 2H — 14 1 575 5 500 1080
2470 LER 61252 Teksolotoiok | 827 AP A IR X L AH Y 3 1470 5 500 1975
2471 FEH 61252 Ttk 1 822 TP AL X AL Y 1 370 5 500 875
2472 A2 61252 Tickekokkk 1846 PP I X T 4] — 1 575 5 500 1080
2473 ZEAEHT 612527 kkkkkkk%1815 AP P4 X L2 kY 2 740 5 500 1245
2474 B 61252 Ttk 1812 BPPEEA PR X 2 Y 5 2525 5 500 3030
2475 AN 61252 Tskktkstetolok 1819 PR PR X —2H i 1 595 5 500 1100
2476 FTRZE 612527 xkk45k% 1 838 ASPPEEAT I AR X — 40 — 14 4 1975 5 500 2480
2477 XUFEE 61252 Txkkkskkk 1827 TP PR X FS 2 B 1 370 5 500 875
2478 TS 61252 7kskkoktor | 84X S PEEEAS PR X 2 — kY 4 1750 5 500 2255
2479 /N 611026tttk 1822 BIPEEAPEAE X 2 — 1 1 575 5 500 1080
2480 X 612527k ksikkok [ 813 AP A TR X S = 2 875 5 500 1380
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2481 R 612527 xkkk5k% 1815 ASPPEEAT I AR X — 40 — 14 1 595 5 500 1100
2482 EIGH 61252 Tsksktottotolok [ 812 PR PR X =2 =4 2 490 5 500 995
2483 L3 61252 Tkkkokiork 1824 TP AL X = =14 1 470 5 500 975
2484 & 61252 7Tk%kkkx%%1815 PP P X =41 — 3 1320 5 500 1825
2485 MR AR 61252 Tskktltototok 1819 TP PR X T2 Y 4 1750 5 500 2255
2486 EREE 61252 Tkkkkx%%2024 A PPAEA P X FL4H -y 1 595 5 500 1100
2487 EEN 612527tk [ 832 PP A IR X - 1 595 5 500 1100
2488 [ibirg] 61252 Tkkkkkkk 1818 7S PEARL AT B4 X DU B =Y 5 1585 5 500 2090
2489 R 612527k 1817 A IEAE A T X 75 B =R 3 960 5 500 1465
2490 [ A T5 61252 Tskkiokteotolok [ 822 PR PR X U =4 3 870 5 500 1375
2491 MK T 61252741819 A IFAEA T X B =14 2 625 5 500 1130
2492 WEH 61252 Tkksikkok [ 825 AP AT AR X =4 - 1 595 5 500 1100
2493 TR 612527 kkkkkkkx 1818 AP I X LA kY 5 1985 5 500 2490
2494 AR 612527 x4kk45k% 1813 ASPPEEAT I AR X — 40 — 1 665 5 500 1170
2495 e 18 o 612527 kksikk0k 1 838 e = Ay o A | = 3 1335 5 500 1840
2496 E B 612527 kkkkkokx 1816 AP AL X L — 2 1105 5 500 1610
2497 R 61252 Tskskioltotolok | 838 TP PR X T2 — 1 665 5 500 1170
2498 R4 HI 612527 %kkk k4% 1818 PR PP AL X N2 — 4 1 575 5 500 1080
2499 B 61252 7kkkkkk 18] 1 PP AL X 2 — 1Y 2 880 5 500 1385
2500 B 61252 skttt 1 822 TP PR X DU 2H A 3 1245 5 500 1750
2501 A% R I 612527 kkk k%1835 A5 FEARLAY B X U2 Y 3 1245 5 500 1750
2502 2R 61252 Ttttk [ 839 TP PEAE X DY 2H -y 1 595 5 500 1100
2503 XS 61252 Tkkskkkkk 1827 APPSR X LA kY 1 595 5 500 1100
2504 JE 3 61252 Tk 1 83X AP X L =1 2 625 5 500 1130
2505 A1 U 61252 Tskkiltotolok | 858 PSR X — 2 Y 1 370 5 500 875
2506 HEF 37 612527 xkkkk%%%2615 PP A X T 20 — 4 1 665 5 500 1170
2507 £ Pirkss 61252 Tkl 2626 IPEsE A X T4 A 2 965 5 500 1470
2508 1 AE W 61252 7 kksklokick2620 BIPESE A X —2H — 1Y 1 440 5 500 945
2509 R AR 61252 7ksickokskok 26 1 1 BIPEE A X —2 — 1Y 1 575 5 500 1080
2510 BXH AT 61252 Tsksttototokk 261 1 APPSR X PY2H Y 1 595 5 500 1100
2511 iR 61252 Takkkkkk:2630 AP SE A X PY2H — R 3 1335 5 500 1840
2512 KA 61252 Ttoketolkxk 2637 EPPEE A X =] A 3 1470 5 500 1975
2513 fr] R 61252 7%k k2646 AP A X PUH =} 2 490 5 500 995
2514 RHEL 612527k 4% 261X AP A X — 20 — 1Y 1 595 5 500 1100
2515 ZFE % 61252 Tskklokstotolok26 19 PP AR X =2 =4 3 1095 5 500 1600
2516 SEH 61252 Tkkskkk3k2613 PSR X — — kY 4 1840 5 500 2345
2517 bEU K] 61252 Tkl 262X PP AR X 2 =4 2 625 5 500 1130
2518 RN 61252 7klkolooktk 2638 PSR X —H =} 3 960 5 500 1465
2519 dork 61252 Tkkskkx5k2617 PSR X —1H Y 2 965 5 500 1470
2520 {545 EH 61252 Tskkiolteotolok26 17 TP AR X T2 == 3 8170 5 500 1375
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2521 HE 3% 61252 Tkkkkkkk 2623 PSR X — =4 1 245 5 500 750
2522 BEAH B 61252 Tskskiokteotook26 15 PP AR X T2 =4 2 625 5 500 1130
2523 AR 61252 7k%ikk5k26 16 AP A X PUH — R 3 1815 5 500 2320
2524 5% gk 611026%kH0kkx3k261 1 BPPEE A X T 20 — 1Y 1 575 5 500 1080
2525 SH 61252 Tskktltotolok26 12 APPSR X P2 =4 1 245 5 500 750
2526 FE 61252 Txkkkk % %% 2622 PP A X — 20 Y 4 2290 5 500 2795
2527 R {H 61252 Tskkeleloletolok26 16 PP AR X 2 —1Y 3 1335 5 500 1840
2528 SRR 61252 7%tk k2610 PP A X — 2 — 1Y 2 1240 5 500 1745
2529 3 61252 Tksokkkik262 1 BIPEE A X —2 — 1Y 1 665 5 500 1170
2530 (DESES 61252 Tkt 2628 PP AR X — 2 - 1 665 5 500 1170
2531 HHE 612527 kkkkikx2620 AIPAH S FE AL IR AL 4 1 440 5 500 945
2532 Tk 61252 Tskkllotstotok 26 1X PP AR X 2 — 4 3 1815 5 500 2320
2533 ] 611026% K3k x5k2613 PP A X T 20 — 1Y 1 575 5 500 1080
2534 IRt 61252 Tkt 2611 PP X —2 Y 3 1245 5 500 1750
2535 SRR 61252 Tskkelolelolok26 16 PP AR X — 2 — 4 1 440 5 500 945
2536 T % 61252 7ickolotok k2616 AP A X PUAH — kY 4 1615 5 500 2120
2537 TR 61252 Tksktoltotook26 18 PP AR X 2 —1Y 1 370 5 500 875
2538 R 61252 T#kkokkkik262 1 AP A X PUH — R 2 1105 5 500 1610
2539 Bl 612527k %% 2610 P X — kY 4 1750 5 500 2255
2540 0 61252 Tskkeloltotolok26 25 HFEETSE At X 2 — 4 1 665 5 500 1170
2541 TkE 611026% %3tk %xk2614 APPSR XS Y 1 595 5 500 1100
2542 & IHEH 61252 Ttttk 26 18 PP AR X =2 —1Y 1 595 5 500 1100
2543 [ A 61252 x%kkk%%%2616 PP A X — 20 — 1Y 1 595 5 500 1100
2544 HH #3% 61252 Tkktolokkk 2625 PSR X — — kY 1 595 5 500 1100
2545 % B 61252 Tskkloltotolok 2629 PSR X — 2 R 1 595 5 500 1100
2546 A 61252 Tkkskkx3k2615 APPSR X PUH — R 2 1150 5 500 1655
2547 FEMSL 61252 Tskstetototokk 261 1 PSS AR X PY2H B 3 1110 5 500 1615
2548 IR /INFHE 61252 Tkolkololokkk 2623 PSR X = — 1Y 1 665 5 500 1170
2549 ZBi5E 61252 7kokotolokkk 2629 PSR X —H A 1 370 5 500 875
2550 e 61252 Tskkkloletolok 265X PP AR X T2 R 2 965 5 500 1470
2551 FiEE 61252 THkkkik®2613 I ESE AL X — Y 4 1480 5 500 1985
2552 e = 61252 Ttttk 26 17 PP AR X T2 — 4 1 665 5 500 1170
2553 NS 612525% Kk k3k2645 e s T 8 o o R — kY 1 595 5 500 1100
2554 IR 61252 7tokototokek 1813 AR N Y AV A: — R 1 665 5 500 1170
2555 et 611026kl 1816 o = . — 4 1 575 5 500 1080
2556 T 61252 Tkt [ 823 75 FEAR BE £ 20 — 1Y 3 1470 5 500 1975
2557 ALK 61252 Tskskioletotolok [ 833 PP AT — 2 — 4 3 1680 5 500 2185
2558 FiEx 612527 %5kkkk4% 1 820 SR RN —H — Y 1 665 5 500 1170
2559 ThIEER 612527kt 4x 1818 A PEAEE E A =40 =AY 6 1875 5 500 2380
2560 ot =t 61252 Ttckkekkkk 1816 PP AT LA — 1 440 5 500 945
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2561 1A 61252 Tkkskkk3k1819 PP E A —2H Y 3 1470 5 500 1975
2562 AR/ 61252 Tkttt 1813 PP AT 2 — 1 665 5 500 1170
2563 B 61252 Tkkksk% 1816 A PEARIE A =4 =AY 5 1495 5 500 2000
2564 Bk 61252 Tkkkkkkk 1810 AT A A =14 2 625 5 500 1130
2565 ESis 612527k 1 834 oA =N Y NAYAEN =1 4 1250 5 500 1755
2566 ik 61252 Tkt k1827 AP F A — 2 — 1Y 1 595 5 500 1100
2567 TH% 61252 Tsksktoktotolok [ 829 PP AT =2 A 4 1750 5 500 2255
2568 A 61252 T kkkokiork 1818 AP A =2 Y 4 2065 5 500 2570
2569 P 61252 Tkskksokk 1812 AP E A —2 — Y 1 440 5 500 945
2570 T4t 61252 Tskkiokteotolok [ 822 PP AT L — 1 665 5 500 1170
2571 LEETS 61252 7kskkokotkor | 82X A PR EE F A DUZH. — R 1 665 5 500 1170
2572 ES T 612527k ksikkkk 1818 IR VY - 1 440 5 500 945
2573 w3 61252 THkkkk% 1820 AT A A — 4 1 575 5 500 1080
2574 B 61252 Tkkksk% 1810 A PEARIE A =40 =AY 6 2010 5 500 2515
2575 IoRs 612527 kskkokoskskk 1818 o = . — 2 1240 5 500 1745
2576 BT 61252 Tkkkokiokx 1814 AT AT VU4 Y 6 2850 5 500 3355
2577 BB 6124248 %5k845k2428 IR — 4 B 3 1380 5 500 1885
2578 L 61252 7xkkkkkkk 1814 75 B4R B E A DU 2H =4 5 1495 5 500 2000
2579 o 612527 kkktokkk 1817 PR E A — 20 =4 2 760 5 500 1265
2580 (Fantin: 61252 Tskkelokteotolok [ 818 PP AT — 2 i 2 740 5 500 1245
2581 BN 612527 kkkkkkk 1815 AT AT VU4 Y 1 595 5 500 1100
2582 BB 61252 Tkl 1816 PP AT VU2 =4 6 2010 5 500 2515
2583 e 61252 Tkskksok® 1825 A PEARE A =4 — Y 1 665 5 500 1170
2584 g3 61252 Takkkokookk 1823 PR E R —2 — 1Y 2 880 5 500 1385
2585 Wil 61252 Tkttt 0827 AP LA — 2 880 5 500 1385
2586 T Y& 612527 kkk k4% 2428 AP A — A Y 1 595 5 500 1100
2587 K 61252 Ttttk 24 14 roea s Lty n L E:] A 2 875 5 500 1380
2588 FHE 61252 7xkkkkk%%2416 PP LA YR — B 2 965 5 500 1470
2589 ks 61252 Tk 2413 A5 PR b [ U 2 =Y 1 380 5 500 885
2590 ZRGiE Fe 612527 kskkekeekekek 2415 P LA R 3 1110 5 500 1615
2591 GRF 612527 kkkkikk 1816 AP A LA PO Y 1 595 5 500 1100
2592 BRoETY 612527 kkskekeokokek 1825 BFPEE A LA R 1 595 5 500 1100
2593 DN 61252 Tkkkokokk24 13 AP LA PO — 4% 2 1240 5 500 1745
2594 AT 61252 7Kkt [ 815 PP A —2 — B 1 595 5 500 1100
2595 44 61252 ksksketeokokek 2417 A A T Y 1 370 5 500 875
2596 e 61252 75k xx%%2426 AP A —4H — Y 2 880 5 500 1385
2597 BeALiT 61252 Ttk x 2418 e R H A B 3 1245 5 500 1750
2598 £ e 612527 x%kkkk%k%184 1 PR A 4 — 14 1 575 5 500 1080
2599 ZEGEf 612527 kkdokiork24 14 R LA —4 — 2 1240 5 500 1745
2600 HIEA 61252 Tskkelololetook24 14 i = A AN < A 2 965 5 500 1470
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2601 A8 58 612527 kkkoktokx 1814 I LA =4 Y 2 740 5 500 1245
2602 WALy 61252 Ttk 24 14 e A AL A 1 370 5 500 875
2603 BEKE 612527 kkkkkkx 1813 PP LA YR — B 2 875 5 500 1380
2604 PXE 61252 Tkkskkk%k2412 AP A T2l 4 3 1335 5 500 1840
2605 VTR AN 61252 kskkekeokokk 2418 TR A — 2 - 1 440 5 500 945
2606 KA 61252 Tkl %2416 25 B4 e LA DU 2E — 1Y 5 2965 5 500 3470
2607 X B 61252 Tkkskkk0k24 15 TP R =4 A 3 1335 5 500 1840
2608 Fhie 61252 7%k 24 13 AR A — 2 — 1Y 2 1015 5 500 1520
2609 Toh% 61252 7 kkkkok k%2429 PP A — B 5 2120 5 500 2625
2610 WAL 61252 Tkskkekeiokokek 1822 TR A =2 Y 3 1245 5 500 1750
2611 H B 61252 7x5kkkk%%x2417 A PR A 4 kY 1 370 5 500 875
2612 BT 61252 Tkkskkk2416 e R — 1 1 575 5 500 1080
2613 F 61252 Tx5kx4kx%241X PR A 4 — 14 1 440 5 500 945
2614 194 612527 kkkskok4% 2419 PP LA YR — B 3 1245 5 500 1750
2615 2RI v 61252 kskkekeiokkek 1813 A A —H Y 4 1750 5 500 2255
2616 GxY 612527 kkkkrk %241 1 AP A LA PO Y 2 875 5 500 1380
2617 AR 61252 Tkksktk24 17 TP R =4 A 3 1110 5 500 1615
2618 2 vt 61252 Tx5kk40k%%1 82X Z: PP A DU ZH =Y 2 490 5 500 995
2619 XA 612527 kkkkokkk 1812 5B A LA =40 =4 6 1965 5 500 2470
2620 XIAFE 61252 Tskskttototok 1811 b - e aR Ul e — 3 1905 5 500 2410
2621 EEES 612527k %% 1820 AP A =2 A 3 1005 5 500 1510
2622 g tHPT 61252 Tkttt 1813 foea s Lty nLE:] =4 1 470 5 500 975
2623 K fa A 61252 7%k k%1838 AP A A = Y 2 875 5 500 1380
2624 AN 61252 7ksickkik 2410 AP Lk —A — kY 2 1100 5 500 1605
2625 BrAt-EH 61252 kkkkeekekek 1815 TR A — 2 =Y 5 1495 5 500 2000
2626 % 61252 Tkktiol 1812 s N n N o Y | =Y 3 870 5 500 1375
2627 s bk 61252 Ttttk 24 17 A LA =4 —1Y 3 1110 5 500 1615
2628 FH = 61252 7#kkokkkiok 242X PP LA YR R 1 370 5 500 875
2629 B 612527 skkkk%% 1810 A5 PR b [ U 2 —AY 2 490 5 500 995
2630 IR 61252kl 24 11 R A — 2 =Y 4 980 5 500 1485
2631 BHZE 61252 Tkt [ 819 5B LA 4] — Y 5 1985 5 500 2490
2632 BHSE BT 61252 Ttoktkok 241 1 e R ] 2 1100 5 500 1605
2633 T 612527 %kkk k4% 2419 AP A —2 =AY 2 850 5 500 1355
2634 [k 55 612527 kkkkokkk 1822 AP A —2 —AY 1 245 5 500 750
2635 FHAELE 612527 kskkekekekekek 2410 BFPEE A LA IO =Y 7 2390 5 500 2895
2636 EAE 61252 Tkl 2429 A5 B4 A Y 2H kY 1 505 5 500 1010
2637 FHHE 61252 Tskstestototokk 183 1 o = il B ¢ — 1 575 5 500 1080
2638 25 B 61252 7kksickkik [ 815 PR SR LA A 5 2345 5 500 2850
2639 PLE 612527 kkkkokkk 1837 IEP SR —H Y 2 875 5 500 1380
2640 2RI R 612527k ksikkok [ 813 o = e s AR = 4 1750 5 500 2255
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2641 MRkE 61252 T#ksokkkiok 1811 e Ry k= L) Y 3 1470 5 500 1975
2642 BEAH 61252 Tskstestototeok 1811 o 5= = e ¢ A 3 1470 5 500 1975
2643 2RI 61252 7kskkkkkok | 81X e my s k= L) — B 3 1335 5 500 1840
2644 BRI 61252 Tkt k2217 HIE SR =4 — 1Y 2 625 5 500 1130
2645 Nt 612527tk | 81 1 o = e v NI ARAEN —14 1 665 5 500 1170
2646 JiME 61252 Tx5kx4k%%1846 AP S A \H — 2 1015 5 500 1520
2647 T 61252 Tsksktoktetolok 1819 LR H R\ A — 2 1015 5 500 1520
2648 ISYEEA 61252 Tx5kx4%k%%1816 PR S A \H — 3 1320 5 500 1825
2649 S 612527 k4% 1819 A5 B4 R G R 2 =4 1 470 5 500 975
2650 Ju K 61252 Tskkelltotok22 1 X i = Al I < — 1 440 5 500 945
2651 EUNE| 612527 kkkkk k%221 7 AP SR —4 — 1Y 2 1150 5 500 1655
2652 R 61252 Ttttk 2212 AraiE SR —4 A 1 595 5 500 1100
2653 R YE2 612527 kkkkkkkx1814 PR SRS kY 1 595 5 500 1100
2654 B kEF 61252 7kkktkkik 18] 1 A PEAE T SR N Y 1 370 5 500 875
2655 St g 61252 kskskekeekekek 1812 o Pam k=Y W WAVA:N =Y 2 625 5 500 1130
2656 i FE ] 611026%5kkkk%%1 825 AP S AT PUH -y 1 595 5 500 1100
2657 B i 61252 Ttk 1810 o - L Al b o A 2 1100 5 500 1605
2658 Zs 3 ] 61102535 %sickksk [ 492 AP SR 1L — 1Y 1 665 5 500 1170
2659 THERR 61252 7kksickk5k2015 A BRI A DU 2. Y 4 1705 5 500 2210
2660 Ju g 61252 kskskekeiekekek 1877 BB EA W — 4 2 1015 5 500 1520
2661 A 61252 Ttk 1 822 I SR -EA — 1Y 3 870 5 500 1375
2662 [t X 61252 Tsksktottototok 845 o - L Al b o =4 1 380 5 500 885
2663 EAT 61252 7kkkkk%% 1810 P SR LA =4 6 2010 5 500 2515
2664 ki 612527kt kk 221 2 A PEAHEE SR — 40 = 6 2100 5 500 2605
2665 2 61252 7kksikoksok [ 849 IS VY H —14 1 575 5 500 1080
2666 EEA 612527 kkk k4% 2213 APPSR — 2 Y 2 1010 5 500 1515
2667 i 61252 Ttttk 2213 PP A2 B 1 505 5 500 1010
2668 [ 61252 Takkkkkk%2210 PSR —2H —Y 2 490 5 500 995
2669 A4 61252 Tkkkxx%%2236 APPEBA A —H — Y 2 1240 5 500 1745
2670 WAEHT 61252 Txkkkkxxx 1818 A PPEICA Y ZH — 1 1 575 5 500 1080
2671 XL 61252 7kksickkik2217 A PPAHEE SR — 4 = 4 1340 5 500 1845
2672 PRt 61252 Tskskiottetook22 19 PP A T =2 A 2 875 5 500 1380
2673 1555 54 612527 %kkk k4% 221 3 PR AR — 40 — 1Y 2 880 5 500 1385
2674 B 61252 7kickkiok 1 830 A PEAHEE SR — 40 = 5 1855 5 500 2360
2675 HH KB 61252 7kksikoksok [ 832 IS VY EH Y 4 1885 5 500 2390
2676 i L E[ 61252 Takkkkkk%2215 APPSR — 2 =Y 2 625 5 500 1130
2677 Z17 X 61252 Tskkiotetotolok [ 812 PP A T — 2 A 4 1975 5 500 2480
2678 E P 61252 Tsksksokskkkk22 15 PO R 4 — Y 2 875 5 500 1380
2679 BRE 61252 Tkkkkkkx22 15 TR AT — A — 1 575 5 500 1080
2680 e 61252 Tskktktototok [ 847 PP A A L Y 1 595 5 500 1100
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2681 2z B 5 612527 x4kkkk%2223 ISPPAREES AT — 40 — 14 1 595 5 500 1100
2682 PEXEH 61252 Ttttk 22 15 PP A2 A 1 505 5 500 1010
2683 S 2 612527 %kkk k4% 2215 e ] =4 4 1385 5 500 1890
2684 BT 61252 Tkkkokiork 1 82X TS — A 4y 1 595 5 500 1100
2685 WoeTs 612527k ksikoksok | 828 IS VY EH Y 1 595 5 500 1100
2686 ES s 61252 Tkkskkkkk1817 A PR EE SR DUZHE, — kY 3 1110 5 500 1615
2687 By Ep 61252 Tkl 1810 PP A T VU2 =4 4 1205 5 500 1710
2688 B IK 612527k 1812 PPERA A LA Ry 1 595 5 500 1100
2689 A5 5% 61252 Tkskskskkokk 1 840 75 FEAR BE A ) F2H kY 1 595 5 500 1100
2690 R 61252732 21X IS VY EH Y 1 505 5 500 1010
2691 XEFE 612527 kekolokokekek 2213 SEFEBES T = — kY 3 735 5 500 1240
2692 BrE A 61252 Tkkleloletokok22 16 PP A2 A 3 1245 5 500 1750
2693 IERER 61252 T#ksokkkiok 1831 PO R H A =4 7 2390 5 500 2895
2694 A 61252 Tkkkkk%1 820 AP GH—2 — 1 6 1965 5 500 2470
2695 XK 61252 Ttektokkk 1815 PP A A =2 =AY 7 2120 5 500 2625
2696 XIfEAE 61252 7kksickkik 2217 APPSR — 2 =Y 2 490 5 500 995
2697 S 61252 Tskstetototokk221 1 PP A — 2 A 2 740 5 500 1245
2698 P 612527 kkkokdokk 1817 I A — — 1 665 5 500 1170
2699 X 5E 2 61252 7ksickkiok 1810 PR EEA 2 — k4 1 440 5 500 945
2700 At fe 61252 Tskkekeioletolok 1830 TP R A DU 2H — 1 440 5 500 945
2701 T4 612527 Hkkkkkk%1811 S PPAR P PEA —H — Y 1 665 5 500 1170
2702 ZHRER 61252 Ttttk [ 823 o 5= o =4 2 490 5 500 995
2703 FEEC 61252 Tkkkkkkkk 1816 25 P4 R A T 20 =1 4 1115 5 500 1620
2704 B 611026% %%k %%k 819 A5 B4R T B A DU 2, — kY 1 595 5 500 1100
2705 JEKE 61252 Tskkiktetotok [ 817 P e i 2 R 2 =4 1 245 5 500 750
2706 R 612527 %kkk k4% 1815 75 PP R A F4H — 4 2 1015 5 500 1520
2707 B 61252 Ttk 181X AP T4 4 2 965 5 500 1470
2708 E S 61252 7%k xkk1817 PR R A L2 =4 2 490 5 500 995
2709 SR AR 61252 Tksokkkiok 811 PR TR A 2 = 3 870 5 500 1375
2710 [R5e 61252 Tsksktetototekk 1811 i = i o I £ A 1 370 5 500 875
2711 XI5 611026tk 1814 A PPED™ PR A T 2H — Y 1 440 5 500 945
2712 R 61252 Tkskiottotolok | 828 o 5= e e — 3 1590 5 500 2095
2713 A 61252 Tkkxkkrkk 181X PR A — 2] — 1 440 5 500 945
2714 ETENIR 612527 %kkkkk4% 1815 25 BRAR ™ B A T 2 — kY 2 1010 5 500 1515
2715 ZR{E 61252 Tskkiokstototok [ 839 TP AT F 2 — 4 2255 5 500 2760
2716 FAL 61252 Tkksikkk] 814 A B4R T B 4, — kY 1 595 5 500 1100
2117 TE= 61252 Ttttk 1812 e - W o ) B =AY 2 760 5 500 1265
2718 TR 612328 %kkk k443120 75 PP R AT FH -y 2 875 5 500 1380
2719 hEE 61252 Tkkskkkik] 848 25 BRAE ™ PR — 2] — kY 4 1750 5 500 2255
2720 FHEIK 61252 Tskkiokstetolok [ 813 o 5= o < =4 5 1495 5 500 2000
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2721 EST 612527k 1817 A EFPAE™ PR A PU 2 kY 5 2255 5 500 2760
2722 (9 61252 Tskskiottototok [ 852 P i o 0 o R4 =4 2 625 5 500 1130
2723 RN 4= 612527 %%kk%kx%%205 1 APPE N Sk — 1 — 14 1 665 5 500 1170
2724 e 612527kt 4%201 2 A5 B4R B SR 2 — 4 1 665 5 500 1170
2725 A 61252 Tkl 2020 Y AR —H A 1 595 5 500 1100
2726 FEN 2 61252 7%tk kik] 814 AP Sk 4 — kY 2 1190 5 500 1695
2127 B TR 61252 Tkl 2030 HHEE G =4 =4 5 1630 5 500 2135
2728 2 JER% 612527 xkkk8k%2017 APPE N S h =1 =14 1 245 5 500 750
2729 TkiosK 61252 Tkkskkx3k2012 AR Y S R DUZH — kY 2 965 5 500 1470
2730 [rfe 61252 Tkl 2020 HHEE AR —H A 1 370 5 500 875
2731 Liillie 61252 7ksikokiok 201 1 A5 PRAR Y Sk = 2 — kY 2 740 5 500 1245
2732 EkiE 61252 Ttttk 201 1 Ty AR A 2 875 5 500 1380
2733 bAE 45 61252 Tkkkksok %2010 AT AT UUA — 4% 3 1815 5 500 2320
2734 KA 61252 Tkwkkrkk2011 AP AR —A B 3 1560 5 500 2065
2735 BAEH 61252 Ttttk 2013 e A==l evas) — 2 1015 5 500 1520
2736 s 61252 7kkkkk%%2030 PR S8 L = 2 625 5 500 1130
2737 R 75 612527 kksikx3k2014 A E SR PYAH - 2 740 5 500 1245
2738 X FAE 61252 Tkt k20 12 T SR EA — 4% 1 575 5 500 1080
2739 e 61252 Tkt x2018 IEE SR HA Y 6 2850 5 500 3355
2740 BYRED 612527k ksikk3k2017 A E SR PYH - 2 1105 5 500 1610
2741 EITIE 61252 Tkktior 2012 AIPEE A AA — 4 2 625 5 500 1130
2742 Bk 61252 Tkl 2026 foeaasI=R=yaPAYA:] — 1 665 5 500 1170
2743 HH SR 61252 Tkl 2027 PR SRS kY 2 965 5 500 1470
2744 YT 61252 Tkkskskkkk 2024 75 AR B G R L2 kY 2 965 5 500 1470
2745 FHAE 61252 Tkl 2026 T S A =4 3 1005 5 500 1510
2746 TR 61252 Tkt :2028 25 B4R B & ) DU 2H — 1Y 1 370 5 500 875
2747 T IR 61252 Tksktttetolok2025 LIy G fd A 1 595 5 500 1100
2748 k7 61252 Takkkkkk:2020 IEE SR A A 1 595 5 500 1100
2749 B e 61252 Tkl 2033 AP A AA B 2 1190 5 500 1695
2750 AN 61252 Tkttt 1810 e A== ki) A 4 2065 5 500 2570
2751 FhiEE 612527 kkk k4% 201 7 PR S8 —4 = 1 470 5 500 975
2752 X AR 61252 Tkttt 2016 HEE Y G —H B 2 1100 5 500 1605
2753 H 61252 Tk k2018 T G EA — 4% 1 575 5 500 1080
2754 e 61252 Tkt :2026 PR SR LA — 4 1 575 5 500 1080
2755 BE6EH 61252 Tkkilstetolk2029 e A== ki) i 3 1380 5 500 1885
2756 SATHE 61252 Tkksikxxk2014 PR S8 —4 — kY 1 665 5 500 1170
2157 XL 61252 Ttttk 201 1 LY G =4 =4 3 735 5 500 1240
2758 25 61252 Tk k2025 T SRR A 1 595 5 500 1100
2759 e 61252 Tkkktiol 2017 AP E SR ISA =Y 2 625 5 500 1130
2760 KT E 61252 Tkl 203X T Y S A =4 2 760 5 500 1265
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2761 B 61252 Tkksikkik] 814 AP SR IUA Y 1 595 5 500 1100
2762 BT 61252 Ttk 2016 HHEE G =4 -y 1 595 5 500 1100
2763 B 61252 7%k k4% 2018 AP Y SR B A 1 370 5 500 875
2764 il 61252 Takkkkokokk 1832 A5 B4R B G R =2 — 1Y 1 595 5 500 1100
2765 EAREE 61252 Tskkeeloletolok20 14 foeamsA=h=ya LKl Y 2 1010 5 500 1515
2766 TRde & 612527 kkk k%% 2018 PR SR L = 5 1630 5 500 2135
2167 ik 4 61252 Tskstestototekk 201 1 Ty G —4 — 1 665 5 500 1170
2768 HIEH 61252 Tkt :201 2 75 AR B & R DU 2H — 1Y 4 1840 5 500 2345
2769 EEX 61252 Tkkkkkkxx2016 25 AR B G R — 2 kY 4 1885 5 500 2390
2770 ZEGEF 61252 Tkttt 20 1X HHEE G A Y 5 2120 5 500 2625
2771 RE RS 61252 Tkt k2017 TN SR LA =14 5 1720 5 500 2225
2772 MR E 612527k 01X AR A T A - 1 665 5 500 1170
2773 T 7 612527 %kkkk44%2019 75 PP A L 4H — 1Y 1 665 5 500 1170
2774 fi] S 3k 61252 Tkt k204 1 2SI R =20 — 1Y 1 575 5 500 1080
2775 LR 61252 Ttttk 2019 BPPEEAE A = — 4 2 1105 5 500 1610
2776 A I HE 61252 75k kx%%2019 ASPPEEIE AT 20 =14 1 470 5 500 975
2177 EET 61252 Tsksktttetook 2012 A PPN A 2 — 1 575 5 500 1080
2778 RS 612527 %kkk k4% 2028 75 PP A L 4H — 1Y 1 575 5 500 1080
2779 [ H A6 612527 kkkkk%%2016 75 PP A L2 =4 4 1340 5 500 1845
2780 BT 61252 Tkttt 2044 A PPN A VU 2H Y 1 595 5 500 1100
2781 X 25 612527 xkkkkk%%2016 A BRI A LA, — 1Y 3 1335 5 500 1840
2782 FHT 61252 Tsksktoktetotok [ 817 i 5= 1 o A 1 595 5 500 1100
2783 B 61252 Tkt x2025 AR A =4 Y 1 595 5 500 1100
2784 SR 612527 kkkokiork2018 PR A T Y 2 965 5 500 1470
2785 TR 61252 Tkl 2030 PPN AT — 2 Y 4 2065 5 500 2570
2786 & DY 61252 Ttk 2017 A PPEEE A —2H — i 2 1150 5 500 1655
2787 FAL 61252 Ttttk 2017 PP A — A — A 1 470 5 500 975
2788 AR L 61252 7#skkkkkk 181X A PRI A =20 A 1 595 5 500 1100
2789 THE 61252 TH5kkkk4%2014 25 B4 A — 2 -y 3 1335 5 500 1840
2790 TR 61252 Tskkeelotetolok20 14 TP A Y 2 1100 5 500 1605
2791 [ Y 2 61252 7kkkkk201 | A PRI A — 40 — kY 1 595 5 500 1100
2792 I BEHT 61252 Ttttk 2015 b 5= 1 o I A 1 595 5 500 1100
2793 [l 61252 Tkkkkkx5k2017 A PR A PUZH — kY 1 370 5 500 875
2794 LSy 612527 kkkk4%2015 A BRI A DU 2. — 1Y 3 1590 5 500 2095
2795 W 61252 Tkl 2024 TP NE A F 2 Y 1 505 5 500 1010
2796 XEHEZ 61252 Tkkkkkkxx2024 245 B4 A DY 20 kY 1 595 5 500 1100
2797 = 61252 Tkttt 2029 TP A — 2 -y 1 595 5 500 1100
2798 R 612527 x4kskkkk %2014 ASPPEEIE AT — 20 =14 4 1115 5 500 1620
2799 RNE 61252 7kkkkkkk202 | A PRI A =20 — R 1 595 5 500 1100
2800 T 611026%kkskeksteototok [ 817 TP AT 2 — 1 575 5 500 1080
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2801 wEE 61252 7kskkckkkok 20 1 X A PPAEE A A YA — 1 1 665 5 500 1170
2802 WEE 61252 7kkokkkk201 1 A SR A D_l'léﬂ —14 2 880 5 500 1385
2803 I E 61252 7%k k4% 2018 75 BRAR I A — — R 3 1245 5 500 1750
2804 Attt iR 61252 7 skkkokkx201 4 5 B }%wr:éﬁ =AY 5 1585 5 500 2090
2805 R 61252 Tskkeloletolok2044 PP vLéﬂ A 1 370 5 500 875
2806 BARE 61252 7x%kk4k%% 1842 745 1 R A — kY 2 965 5 500 1470
2807 SHE 61252 Ttttk 2012 AP ETH e 1 vrlﬂléﬂ -y 2 875 5 500 1380
2808 Bk 61252 7%k k4% 2015 25 BRAE I b — =AY 7 2480 5 500 2985
2809 FEEER 61252 7 kkk k4% 2027 75 PRAEI ﬁm:za — kY 5 2120 5 500 2625
2810 SR 61252 Ttttk 2019 A PEEE I P At VU 2H — 3 1725 5 500 2230
2811 XA A 61252 7kkkkkxk202 | 25 BRAE I A N 2 — kY 1 595 5 500 1100
2812 RATEVE 61252 Tkl 202X PP At =2 — 1 575 5 500 1080
2813 [ 61252 Tkt k2033 PR A VO H — 1Y 3 1245 5 500 1750
2814 B PCHR 61252 Tkt 2018 A PR A VU2, — R 2 965 5 500 1470
2815 ZE{H AR 61252 Tskkeleletolok2050 P P #EIQE Y 2 875 5 500 1380
2816 K wH 61252 7kskkokkkok 20 1 X 25 BRAE I ks — =AY 2 625 5 500 1130
2817 TK#= 61252 Tkttt 2014 TP At — ﬂ A 1 370 5 500 875
2818 B s 61252 7skkkokkx 202X A BRI A — — Y 1 575 5 500 1080
2819 Tk FH4R 612527 kkkk4k4%2019 25 BRAE I b — ’ZE =AY 3 870 5 500 1375
2820 BEHAR 6125278432018 A S e A — éﬂ Y 2 875 5 500 1380
2821 FrIER 61252 Tx5kk4kx%201X 25 PR A — — Y 1 440 5 500 945
2822 8 61252 Tkt 201 1 AP e vLéﬂ =4 2 715 5 500 1220
2823 ETHR 61252 Takkkkkk%2015 A BRI Ak — 4 — 1Y 1 370 5 500 875
2824 i) 61252 Tsksickkiok 2044 25 BRAE I A — 2 — R 4 1480 5 500 1985
2825 XM 61252 Tskkioltototok 848 TP A 2l Y 4 1615 5 500 2120
2826 [ 37 22 61252 7kskkekedetokk201 1 SO Rk FL2E — 1 370 5 500 875
2827 FE{HAR 61252 Tkttt 2019 PP et gl B 2 875 5 500 1380
2828 Ji e 61252 7kskskkekedokk20 19 SO Bk FL2E — 1 370 5 500 875
2829 g 612527kt 4%201 2 5 BRI kst U 20, — kY 2 875 5 500 1380
2830 [ i 61252 Tkl 2026 PP At =2 — 1 575 5 500 1080
2831 XA AR 61252 7%k k4% 2015 25 BRAE I A = 2 Y 1 595 5 500 1100
2832 KT 61252 Tkttt 2010 A PEEE I e At VU 2H — 3 1995 5 500 2500
2833 it 61252 Tkl k2014 A BRI A DU 2, — Y 1 370 5 500 875
2834 [t 75 61252 Tk k2027 25 AR A — 2H — Y 2 740 5 500 1245
2835 B E AL 61252 Ttttk 2017 TP At 2l — 5 1855 5 500 2360
2836 TR SAN 61252 Ttk x2017 AT A N Y 4 1705 5 500 2210
2837 FHE 61252 Ttektotekxk 2029 A PP e At VU2 — 1 575 5 500 1080
2838 2=t 61252 Tkt k2027 FuSaR Rl AN Y 2 965 5 500 1470
2839 gk & Ep 61252 7%kt 4% 2032 25 BRAE Y A = 2 — kY 2 875 5 500 1380
2840 {fiif 61252 Tsokskotokoork2023 A5 PP R A 2 = 1 380 5 500 885
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2841 K40 1 612527 xkk45k%2015 A PP At — 20 =R 3 870 5 500 1375
2842 SE 61252 Tkttt 2019 P 7S A =4 3 1005 5 500 1510
2843 TENHR 61252 Tkskkktedokk 2012 A SPEAE At PU2E — kY 2 490 5 500 995
2844 T 612527 %%kk%kx%%2028 ASPREE AT — 20 — 1 665 5 500 1170
2845 [ Rl B 61252 Ttttk 201X A PR PR N2 kY 1 595 5 500 1100
2846 2k B 1] 61252 7x%kx4k%%2010 A PR AT S =Y 3 960 5 500 1465
2847 G 61252 Tskskiltetolok2022 A PP e At VU 2H — 1 575 5 500 1080
2848 SRy 61252 7%k k4% 2012 25 BEAE E A L 4H =4 2 625 5 500 1130
2849 [ Y 3% 61252 7skkkokkx 2024 A BRI A DU 2. — 1Y 1 595 5 500 1100
2850 R 61252 Tskksikkk2 022 AP P A DY EH Y 1 595 5 500 1100
2851 YAR=1 2] 61252 7ksickkik20 18 A BRI Ak =2, — kY 1 595 5 500 1100
2852 i ES 61252 Ttttk 201 1 PPt —2H =4 4 1385 5 500 1890
2853 [ B o 61252 7skkkkk% 201X 75 BEAE E A L 4H =4 7 2390 5 500 2895
2854 2 5d 61252 7kt 2013 NP A — 2 — 1Y 1 665 5 500 1170
2855 Tk 61252 Ttttk 2019 PP At — 2 — Y 2 740 5 500 1245
2856 A 61252 Ttokoktkxx 2028 75 PR A DU ZH — R 1 665 5 500 1170
2857 TRt 61252 Ticktekkxx2016 I AT—2 =AY 7 2120 5 500 2625
2858 H R 612527 %kkk k%% 2628 P SR —4 — 1Y 1 440 5 500 945
2859 Tk 61252 7kksickkiok [ 819 A5 PRAR W Sk = 2] — kY 1 370 5 500 875
2860 SRAL 61252 Tskkeleloletolok20 14 o = A= B Y 2 875 5 500 1380
2861 THE 612527 5kkkk%%2023 SIS =4 — Y 1 440 5 500 945
2862 S| 61252 Tkttt 2014 LA —4H -y 1 505 5 500 1010
2863 XA 61252 7kksickk5k20 19 A EEA A Sk N =AY 4 1385 5 500 1890
2864 N 612527kt 4%201 7 AR Sk N Y 3 1335 5 500 1840
2865 M 61252 Tskkioltotolok2023 TN —H - 1 575 5 500 1080
2866 TEE 61252 Ttttk 2013 AP a1 — R 3 1605 5 500 2110
2867 A 61252 Ttttk 2017 i 5= W =4 4 1565 5 500 2070
2868 TEFH 61252 Tkkskkkkk 2021 PR S —2H kY 4 1480 5 500 1985
2869 o A 61252 7skkkokkx2034 AR SR — = 4 1250 5 500 1755
2870 SHE 612527k ksikk3k2012 A AR Y 1 505 5 500 1010
2871 JET) 61252 T k5kkkx%%2022 PR S —H =Y 1 245 5 500 750
2872 AT 61252 Tkttt 2014 LA =4 =4 7 2615 5 500 3120
2873 Rl 61252 7skkkkkx 201X AP Sk =4 A 4 1705 5 500 2210
2874 AR 61252 Tkt k201 1 75 AR v G ) — 2 kY 1 595 5 500 1100
2875 LAy 611026kttt [ 818 LA —H Y 1 595 5 500 1100
2876 FEFEHE 61252 7ksickkik2025 A PRAR W Sk 2 Y 1 595 5 500 1100
2877 e 61252 Tkl 2040 LA —4H — 1 665 5 500 1170
2878 LT 61252 7skkkokkx 202X A EEA A Sk —2H A 1 595 5 500 1100
2879 IESS 61252 7 kkkk k4% 2023 A5 PRAR W Sk 2 — kY 1 595 5 500 1100
2880 RS 61252 Ttttk 201 1 B EN W — 4 1 665 5 500 1170
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2881 ER ko] 61252 Tkksokkkik261 1 PR —A — 1 2 880 5 500 1385
2882 B4 61252 Tkkioletetolok26 35 LRt —4 -y 1 370 5 500 875
2883 H & HE 61252 THkkkkx%%2634 PR B YA —4H — 14 1 440 5 500 945
2884 i 61252 7kkkkok k%261 X AP E ek — 4 — k4 2 1105 5 500 1610
2885 EBRE 61252 Tskkeeloletolok26 16 LRt fid =4 2 715 5 500 1220
2886 HH M A 61252 7kksickkik26 18 I S YR —4 = 3 1005 5 500 1510
2887 HH 2 61252 Ttttk 2617 LRt —4 A 3 1335 5 500 1840
2888 NN 61252 7kickkk26 14 AP E ek — 4 =4 2 490 5 500 995
2889 EHE 612527k 4% 261 7 75 B4R 2 e k) = 20 =4 4 1475 5 500 1980
2890 et 61252 Tkt 2628 B Rt —4H Y 1 595 5 500 1100
2891 HH 2 612527 5kkkk %2618 SEEE AN —A — 1Y 1 440 5 500 945
2892 MRk 61252 Tkkleloltook26 16 LR —4 -y 3 1470 5 500 1975
2893 K 612527 kxkckiokk 261X TR A =4 =14 3 1005 5 500 1510
2894 HH #:EH 61252 Tk %2615 IS YR —28 =Y 6 1875 5 500 2380
2895 KFERE 61252 Tskkelolelolok26 16 LA R et VU2 Y 3 1335 5 500 1840
2896 Stk 612527 kkk k4% 261 7 AP E ek — 4 — kY 4 1885 5 500 2390
2897 KFEAR 61252 Tkl 26 16 B R et VU B 5 2345 5 500 2850
2898 Kt E 612527 kkkokkok k2615 TR A =Y 3 735 5 500 1240
2899 N1 61252 Tkkkkkkk 2629 A5 R4 B et T 20 =1 1 470 5 500 975
2900 PR 612527k ksikk3k2618 AR Y 2 965 5 500 1470
2901 it 4= 612527 kkkkk k%261 4 75 AR T B A )\ ZH — 1Y 1 665 5 500 1170
2902 oAb 61252 Tskskioltotolok26 19 PRI — 2 - 1 665 5 500 1170
2903 A Y 61252 7#kkk k%% 2610 AP R B A — 2. A 5 2120 5 500 2625
2904 Ju R 61252 7kt k%% 2626 N Y 1 595 5 500 1100
2905 e 61252 Tskkloletolok 262X PRI — 2 Y 1 595 5 500 1100
2906 VL2 612527 kkk k%% 2618 5B A =40 = 4 1475 5 500 1980
2907 FHA 61252 Ttttk 26 15 PP R I AT VU 2H -y 4 1615 5 500 2120
2908 A A 61252 7kkkkkkok 262X S PRAR R B A U2 A 3 1380 5 500 1885
2909 TR 61252 7kksickkik26 19 A PR R B AT AR A 2 875 5 500 1380
2910 L R 6125274342618 IR 7S —14 2 1105 5 500 1610
2911 ] R 612527 kkk k4% 261 7 PR R B A S 2 Y 5 1985 5 500 2490
2912 JE 76 & 61252 Tkttt 1819 PRI\ 4 -y 1 595 5 500 1100
2913 i K 61252 7kkkkk k%261 4 N I A 1 370 5 500 875
2914 BF A 612527 kkkkikk2619 IR RN =4 Y 3 1335 5 500 1840
2915 BRI 612527 kkik%3k26 36 AP R =4 =1 6 2010 5 500 2515
2916 ik 612527 kkkxx%%262X PR AT —H — 14 1 575 5 500 1080
2917 [yt =2 61252 Ttoktokxk 2629 P R =4 B 2 875 5 500 1380
2918 THEZ 61252 7%k 2625 N SN e — R 1 595 5 500 1100
2919 JEITE 612527 k4% 2619 A PR R B A DU 2. — 1Y 1 665 5 500 1170
2920 [~ [ 61252 Tskklolteotolok 2637 BRI I Y 3 1605 5 500 2110
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2921 77 W 4 61252 Tkl 2630 A5 PRAE R A — 4 —4 3 1815 5 500 2320
2922 ki 612527k ksikk3k2617 A PRELR I Y ZH —14 1 575 5 500 1080
2923 AR 612527 #kkokkkik221X PRI — 2 — kY 2 965 5 500 1470
2924 RS 61252 Ttk %26 1X SR AR = — Y 3 1110 5 500 1615
2925 [ v 612527 kkikx3k26 30 AP R VY EH Y 4 1615 5 500 2120
2926 FER 61252 Tkkkkkxkk2613 PR A )\ 2 R 1 370 5 500 875
2927 Y 61252 7kkokkkok261 1 A PRELR I Y ZH - 1 595 5 500 1100
2928 fEAL 61252 Tkkksk%26 10 I A — 4 — 4 2 1015 5 500 1520
2929 Mrut s} 612527 x%kkk%%%2610 5 PEAE R A DU ZH A 1 595 5 500 1100
2930 fR[ 75 61252 Tskksikk3k0027 S i N Y B —14 1 575 5 500 1080
2931 FH M40 61252 Tkkkkk%2619 AP AR =20 =Y 1 245 5 500 750
2932 PNk 612527k kskkk3k2619 AP R — 4 =B 6 1965 5 500 2470
2933 3 61252 TH#kk3k%26 10 SE AN — 4 1 665 5 500 1170
2934 AL 61252 THkskkik®2419 S EEEMN A — k4 3 1455 5 500 1960
2935 R 61252 T#kkkkxx%1816 i 5= P I == 2 625 5 500 1130
2936 R 61252 Tkkkoiok k2434 I A = Y 1 370 5 500 875
2937 ITH 61252 Ttttk ] 838 I S =Y 4 1250 5 500 1755
2938 B 61252 Tkkkokiok k241X I A A Y 6 2715 5 500 3220
2939 TR 61252 Tkkkkkx%%1819 PP < A — — 4 1 665 5 500 1170
2940 T 61252 Tkkkkkkk2412 i = W == 2 625 5 500 1130
2941 EE 61252 Tk%kk%4%1810 I A A — i 2 1240 5 500 1745
2942 e 61252 7 ktdotiokk 2410 I LA Y 2 740 5 500 1245
2943 EaanY 612527 kkkkikk2419 FuS AR e W] A 3 1470 5 500 1975
2944 {48 61252 T wkkkokiok k2612 T < AT VU A 3 1335 5 500 1840
2945 s 61252 T#*kkkx%%2616 BHE AN —14 3 1815 5 500 2320
2946 {352 61252 THkkkrk%26 14 EEE SN A — k4 2 1150 5 500 1655
2947 THEAE 61252 T ketkotok k2619 I LA Y 2 965 5 500 1470
2948 PEEE R 61252 Ttololelokkk 2618 A PRAE < A U - 1 575 5 500 1080
2949 E 5% 61252 Tkl 1824 I A = Y 1 505 5 500 1010
2950 EELLE 61252 Tkokkkkk%2433 i 5= W Y 1 595 5 500 1100
2951 THER 61252 THkskkik® 1827 I A S 4 —4 1 575 5 500 1080
2952 T e 61252 Ttttk 26 18 I A LA —F4 2 1240 5 500 1745
2953 FIER 61252 Ttk *2613 SE N — 4 1 665 5 500 1170
2954 IR 61252 Tkkxkkrkk261 1 AIE MU — k4 3 1725 5 500 2230
2955 bakiitli} 612527 skksikx3k 1 820 TP A SN - 2 1150 5 500 1655
2956 =R 61252 Tkkkkrk%2410 I A S — 4 — 3 735 5 500 1240
2957 fREES 61252 Tk %%2610 o 5= P - 1 440 5 500 945
2958 B L] 61252 THkxkk5k%2636 SE AN =14 4 1340 5 500 1845
2959 A5z 61252 T wkkkkiokk2617 T < AT VU A 2 875 5 500 1380
2960 LR 61252 Tsksticterokk 26 1 1 I SN VU — 4 1340 5 500 1845
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2961 R 61252 Tkkonkiork 2618 P ] - - L
2962 EYea 3 612525 %kskskokokkk 5427 e ‘,rjgﬂ — ; 440 5 500 945
2963 FRE 61252 Tktkiork 2634 e — 5 1 1245 2 200 1750
2964 XL 7K 61252 Tkkorkonk 1830 SN — T 665 5 500 1170
2965 NS 61252 Tkkkkkk %2619 P ] ‘Tﬁ;ﬂ — o 1615 5 500 2120
2966 | T 61252 Ttttk 184 1 e = 3 740 5 500 1245
2967 AN 61252 7xkkkkx%%2619 e *’Ti;ﬂ = o 740 5 500 1245
2968 EHRN 612527 kkrrttdk24 17 e ] == ? 740 5 500 1245
2969 it 61252 Tkksokkkiok241 1 I L o = ; 505 5 500 1010
2970 X & 61252 Tkkkkkkk%1814 T "Ti;ﬂ — = 370 5 500 875
2971 i Ci% 61252 Tttt 184X e ] — i 440 5 500 945
2972 LR 61252 Ttk x 2618 & P o) YT =i 595 5 500 1100
2973 | BESGE 61252 Tk 2623 SR —L 2 1240 5 500 1745

s AP 2 SN 2 = 1 575 5 500
2974 A 61252 Tkkiokk 1819 P S — 2 = - 1080
2975 XU 61252 Tsksksokk k261 3 S *’Hi;ﬂ =5 1495 5 500 2000
2976 WRI5) 4R 61252TH*kkkkx%2615 A L — if 1455 5 500 1960
2977 XIR 61252 Tk 83X e ‘,rjgﬂ — ; 440 5 500 945
2978 4 BE 61252 7scksiopiork ] 842 R A —L 380 5 500 385
e s AN Y 1 505 5 500
2979 Mk 61252 Txkkorkiok2414 SN = 5 1010
2980 Wit~ 61252 Tkt 2426 &R A — 5 : 760 5 500 1265
2981 = 61252 Tkkokiokk2421 F T H = - 1005 5 500 1510
2082 | mtEJy 61252 Tkt 241X G A — i 665 5 500 1170
2983 X{F2 61252 Ttk 2622 e e — . 665 5 500 1170
2984 {5 A5 4R 61252 Ttttk 26 15 e ST — ; 665 5 500 1170
2985 | JBOREY 61252 Tkttt 262X Sz A LA — 665 5 500 1170
2986 VR 5% 612527 krtttdk 1822 E s b =2 == 1; 1110 5 500 1615
2987 | gkulp 61252 Tbrpei8] T T 5% LI S [ )\ AL =T i 295 2 500 1100
2988 IR 61252 Tkt 3838 AR L — i 440 5 500 945
2989 R 61252 Trtiirik3815 BB A AL X ] =5 : 370 5 500 875
2990 KT 61252 THkkkkikk383 1 L LV B A [X U2 = - 870 5 500 1375
2991 ZEREE 61252 7%kkk ko 4%3835 E}%D%ﬁﬁfiﬁﬁ;[gﬂ;ﬂ — : 665 5 500 1170
2992 | 250, 61252 THHtrkk*3821 W AL K L =T - 1100 5 500 1605
2993 R 61252 Ttttk 3816 R L —2 —5 i 440 5 500 945
2994 SR 61252 Tkkkiorsk381X W AL X T2 — . 665 5 500 1170
2995 Epadill 61252 Ttttk 3819 TR Al — ; 440 5 500 945
2996 RMNE 6125273810 TR R —2 —5 i 440 5 500 945
2997 s 61252 Tkkkiortk382 1 W L1 A X 2] — : 440 5 500 945
2098 | TiEJ 61252 Ttttk 381X L 53 LU L [X L AL — 3 L. 2 200 1520
2099 | Bl 61252 THkkakkHk 3833 B AR e A X DU =5 - LT - ST 1975
3000 gk Th e 612527 **kkkkkkk 3869 B AR A X B2 — p 5 5955 = 200 oI
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3001 AR 61252 Tkt k3818 T D E X —4 —4 3 1095 5 500 1600
3002 BRI 61252 Tkl 38 10 B3 DA R A X A B 5 2255 5 500 2760
3003 [T 61252 Tkl k3816 T D E X —4d — 1Y 4 2065 5 500 2570
3004 ko 61252 Tkolotokkk 381 1 L U X\ 4H Y 1 595 5 500 1100
3005 KU 61252 Tskkekelltolok 38 1 X FLE DA X 4] R 1 595 5 500 1100
3006 ESETE 61252 7%k %x%3817 T D E X LA =4 2 715 5 500 1220
3007 XI4ED 61252 Tskkioketotolok 3837 L5 DA E A X Y4 B 1 370 5 500 875
3008 Zs B 61252 7%k %%%3829 T D E X A — 1Y 1 595 5 500 1100
3009 sk E 612527 xkkkkkx%381 | T D etE X LA — 1Y 1 370 5 500 875
3010 F AR 61252 Tskkioltotolok 38 15 B DA IR A X N4 R 1 370 5 500 875
3011 ok Lk 61252 7%k %%%3819 T D E X LA — 1Y 1 370 5 500 875
3012 i [F1E 61252 Ttttk 38 12 B DA E A X 4] =4 1 245 5 500 750
3013 B o 61252 Tsksksokskkk38 10 T D eE X — A A 1 595 5 500 1100
3014 T8 61252 Ttk 3829 FL 7 OV A SR 4 X LA =AY 1 470 5 500 975
3015 F AR 61252 Tskklltotolok 38 17 B DA X A =4 1 470 5 500 975
3016 AT 61252 Tkt k3820 T D E X — A =4 1 470 5 500 975
3017 A E 61252 Tsksktolteotook 38 12 FL5E DA E A X 4] =4 1 470 5 500 975
3018 e 61252 Tkt k3813 T DeEt X — A =Y 1 470 5 500 975
3019 g Rl 22 61252 Txkkkk%%%3820 T Dt EA X PUH =Y 1 470 5 500 975
3020 L 61252 Ttttk 382 1 FL5 DR E A X A =4 1 470 5 500 975
3021 [ Ak i 61252 7%k %%%3826 T DA EA X A =4 1 470 5 500 975
3022 ) = 61252 Tkttt 3828 L5 DA E A X\ =4 1 470 5 500 975
3023 EE 61252 7%k %%%3823 T D eE X LA =4 1 470 5 500 975
3024 IR 612527k 4x38 18 T Dt Ed X L =Y 1 470 5 500 975
3025 iK2E % 61252 Tskkekleletolok 38 10 FLE DA X 4] R 3 1335 5 500 1840
3026 AR 611026%kkk5%%%7621 T D E X —4 — 1Y 1 370 5 500 875
3027 KSR 611026kl 7620 L5 D E A X\ B 1 595 5 500 1100
3028 KIE 61252 Tkt 38 17 T D E A X\ =4 4 1205 5 500 1710
3029 Al 61252 Tkt 38 18 T D Ed X =4 — 1Y 4 1840 5 500 2345
3030 FH[EED 61252 Tskkekeloltook 38 1 X B DA E A X\ - 1 665 5 500 1170
3031 &k 61252 7%k %%3814 T DA EA X A =14 2 490 5 500 995
3032 KT 61252 Tkl 3820 L5 DA E A X\ =4 1 470 5 500 975
3033 B 612527 x%kkk%%%3810 T D Ed X A — 1Y 4 1975 5 500 2480
3034 ATH 61252 Takkkkkk k3816 T Dt EA X PU A 4 2065 5 500 2570
3035 R 61252 Tskkiktotolok 38 17 FLE DA X — 4] =4 3 1095 5 500 1600
3036 25 RREE 612527 xkkkk%x%3812 T D E A X\ — 1Y 3 1470 5 500 1975
3037 mAEE 61252 Tickkekkkk 3814 LG DA R A X Y] B 5 2075 5 500 2580
3038 5T 61252 Tx%kkk%%%3826 P A EZ A A 1 595 5 500 1100
3039 TIKE 612527kt 4x381 3 POz A = 4 1475 5 500 1980
3040 CiSasiil 61252 Tkt 38 18 WA M 2 o e A — 4 2030 5 500 2535
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3041 i 612527 kkkokiokk3816 AR E A ] —4% 2 1150 5 500 1655
3042 Eie 61252 Tkskk45k3829 L7 HEZ I A-E — 1 1 575 5 500 1080
3043 KB 612527kt 383 | POz A A 3 1335 5 500 1840
3044 GRS 61252 Tkt k3852 PLg D A A — 1Y 3 1335 5 500 1840
3045 g EAAE 61252 Tskkiltotolok 38 12 BLE DR 7S Y 4 1480 5 500 1985
3046 16 61252 7%k %x%3817 PLg D A A =4 3 870 5 500 1375
3047 TR 61252 Tkttt 3828 P A — 2 1015 5 500 1520
3048 BERK 61252 sk %x%3817 P A — 4 1 665 5 500 1170
3049 LA 61252 7k 4%3829 P A=A = 3 870 5 500 1375
3050 HHRETR 61252 Tskkioltotolok 38 15 P AR A —2H — 2 1150 5 500 1655
3051 KBRS 61252 7Kkt 3823 L D A — — 1Y 1 575 5 500 1080
3052 TR 61252 Tkttt 38 18 P AR AR — 1 575 5 500 1080
3053 kST RE 612527 xkkkk%x%3813 P A EZ A A 1 370 5 500 875
3054 TR 61252 Tkttt 38 1 1 PL7 D R A DY AR — 1Y 2 875 5 500 1380
3055 R 612527k ksikk3k381 7 DL DR R — 20 = 5 2345 5 500 2850
3056 £ N 612527 xkkkk%%%3825 PLg D A VYR — 1Y 2 740 5 500 1245
3057 gk XAE 61252 Tkl 3830 L AR A 7S =4 6 2100 5 500 2605
3058 x4 61252 Txkkkkkx%382 1 B D ZE R S — 1Y 4 1975 5 500 2480
3059 WL TS 61252 Txkkkk%x%3822 L D A — 1Y 2 965 5 500 1470
3060 IR MHT 612527 kkkekekekekk 3830 DTN HA =Y 4 1250 5 500 1755
3061 g 61252 7%k 4%3819 L D A H A =4 4 1205 5 500 1710
3062 RE 61252 Tkl 3830 P A = A 1 370 5 500 875
3063 AR 61252 7ckolotokkx381 0 L A2 AT PUZE =} 4 1250 5 500 1755
3064 KR 612527 xkkkk%%%3813 Lo D A — =4 1 245 5 500 750
3065 FAE 61252 Tskkekelolelolok 3846 P A =4 1 380 5 500 885
3066 XA 612527 xkkkk%x%3812 PL7 D A VYR =4 2 625 5 500 1130
3067 K2R 61252 Tkttt 38 18 L OB AT 7S =4 7 2120 5 500 2625
3068 FER 61252 7%k %%%3823 P A2 B =4 3 870 5 500 1375
3069 ITIEE S 61252 Txkkkk%%%3825 Lo D AR H A — 1Y 1 505 5 500 1010
3070 HH RS RH 61252 Tkttt 3832 BLEE D E R 7S =4 5 1585 5 500 2090
3071 JE TS 61252 7%k %%%3829 L D A — =4 1 470 5 500 975
3072 JE{HBH 61252 T kkkeekekk 383 1 A OEEZTER—H =Y 1 470 5 500 975
3073 BISH 61252 7ckololokkek 381 4 L A2 AT PUZE =} 1 245 5 500 750
3074 BHE 61252 Txkkkkkx%3822 L D AR H A — 4 1 665 5 500 1170
3075 ey aNiss 61252 Tkl 3820 P A = Y 4 1840 5 500 2345
3076 R 61252 7%kt 3828 PLg D A\ = 1 470 5 500 975
3077 WET 61252 Tkl 3820 L OB AT VU =4 1 470 5 500 975
3078 ReLEE 61252 7%kkk3836 P AEZ AN R 4 1615 5 500 2120
3079 s 61252 7kt 3828 L D A H A Y 1 505 5 500 1010
3080 G R 61252 Tskkioketotook38 12 WA M 2 o e A A 1 595 5 500 1100
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3081 B TEE 612527 kkk sk k%3827 L A2 AT PUZE —1 1 245 5 500 750
3082 T 61252 Ttttk 38 12 P A = =4 6 1875 5 500 2380
3083 VAR 61252 Txkkkkkx%3812 P A EZ A A 1 505 5 500 1010
3084 S IE 61252 Tkkskkk5k3817 PL7 D R A DY AR — kY 3 1110 5 500 1615
3085 RER 61252 Tskkiolteotook38 15 L O ZT N —H =4 2 625 5 500 1130
3086 IR 61252 Txkkkkkx%3443 L D A =4 =4 3 1095 5 500 1600
3087 Rt X 61252 Tskstetototokk 382 1 L AR AT S =4 1 380 5 500 885
3088 FAE 61252 7%k %x%3813 P A=A — 4 1 665 5 500 1170
3089 iz 61252 7kickkik38 20 PLg D A\ A 1 595 5 500 1100
3090 L s 61252 Tkt 3825 P A = A 2 965 5 500 1470
3091 IRk 612527 kkkkkk %3816 L E A =4 Y 4 1975 5 500 2480
3092 B 61252 Tkl 38 14 P A = =4 3 870 5 500 1375
3093 FEASEQ 612527 %kkkkk4%381 2 P AN = =} 5 1495 5 500 2000
3094 KA 61252 7ksoickokior38 1 1 PLg D A A =} 4 1475 5 500 1980
3095 AE 7 B 612527 kkkeekkokk 3834 FLbs D2 E M DO — Y 1 595 5 500 1100
3096 BE B % 61252 Tkkskk k3820 PL BRI — 20 — kY 1 370 5 500 875
3097 EF{HEE 61252 Tkttt 38 1 X L VB R YA A DU 20 B 3 1470 5 500 1975
3098 1 H 61252 Tkkskkxk3819 PLJ FEE RV AT DU 2H — R 1 575 5 500 1080
3099 TR 61252 7 kkkkokkx383X PL R BRI AT PU2H — 1Y 2 1240 5 500 1745
3100 PG 61252 Ttk 38 19 PLE VR EE VA AT DU 2H — Y 1 370 5 500 875
3101 [ 61252 7%kt 38 14 PL FEE BRI AT PU2H — R 2 1240 5 500 1745
3102 Fia 8 61252 Tkkskk0k3812 B VR R VA A DO 2 —k4 1 665 5 500 1170
3103 R =KA 61252 7k%ikkk38 16 L VBRI T2l — 1Y 2 1105 5 500 1610
3104 R 612527k 4x381 3 L R BRI T2l Y 6 2850 5 500 3355
3105 HH RE A 61252 Taikksksk38 19 PL VRV AT 2l — Y 7 3085 5 500 3590
3106 Tk 612527 kkk sk k%381 7 L VR L2l Y 1 370 5 500 875
3107 il 61252 Tkt 383X FLJ7 T B VA A 7S 2 —k4 2 1240 5 500 1745
3108 (=0 61252 7kksickkik3815 L BRI 7S 2 — 1Y 1 665 5 500 1170
3109 IR 61252 Tkkkkkk k381X B OV VA A LA A 3 1470 5 500 1975
3110 Ut 61252 Tkttt 38 1 X PLg VRV AT LA — Y 3 1470 5 500 1975
3111 AURIE 61252 Tkt k3812 PLs VBRI L2 — 1Y 2 1015 5 500 1520
3112 B oZH 61252 T#kskk45£3819 FL7 U B A A —k4 2 1240 5 500 1745
3113 BoRH 61252 7%kt 3817 L R E 2 — 1Y 1 575 5 500 1080
3114 R 612527k 4%3832 L R BRI 7S 2 A 2 1010 5 500 1515
3115 B 6110263k 7642 PLg VR EE VAT 2l — 1 575 5 500 1080
3116 TR 611026%kkkk%%%7618 PL BRI — 20 Y 1 595 5 500 1100
3117 2 i ate 61252 Ttk 3814 FLJ7 U B VA A LA —kY 5 1720 5 500 2225
3118 s 61252 7%kt 38 19 L VRV )\ 2] — kY 1 505 5 500 1010
3119 EEZE 61252 7skkkokkx38 1 X PL FEE R VA AT PU2H — 1Y 1 665 5 500 1170
3120 TR 61252 Tskkiokteotook 38 19 PLg VR BRI A — 2 Y 5 2345 5 500 2850
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3121 KR 61252 7skkkokkx 381X PL7 VRV A J\ 20 Y 1 595 5 500 1100
3122 BRI 61252 Tkkskk4k3818 TLJ7 AR ER A T gl A 2 875 5 500 1380
3123 g 61252 Takkkkkk k3814 PL VBRI L2 — 1Y 1 595 5 500 1100
3124 205 i 61252 Tkt %3819 L R E 2 — 1Y 1 595 5 500 1100
3125 & 612527 kskketekekk 381 1 L TR R YA A DU 2H =Y 3 1005 5 500 1510
3126 WEYS 61252 Tkt k384 1 PL VBRI L2l — 1Y 1 505 5 500 1010
3127 BEE 61252 Tkttt 3822 PL g VR RV AT 2l A 1 505 5 500 1010
3128 IRIRKIE 61252 Tkktokokx383 1 B DU VA A /4 =Y 1 470 5 500 975
3129 W N 612527k %%3810 PL AR BRI L2 A 5 2255 5 500 2760
3130 T 61252 Tk x%3820 DL VBRI A — 20 == 1 470 5 500 975
3131 Fued 612527k % 382X PL BRI )\ 20 =14 1 470 5 500 975
3132 ER Al 61252 Tkskk4£3839 TLJ7 AR BRI A T gl =AY 1 470 5 500 975
3133 IR 61252 T kkkkkok %3810 FLps VLR VA A LA — 1 440 5 500 945
3134 TiEE 61252 7Kkt 3813 L R BRI 7S 20 — 1Y 1 665 5 500 1170
3135 AE )% 612527 kkkokkkok385 1 DL VBRI A — 20 = 3 1245 5 500 1750
3136 AT 61252 Tx%kkk%%%3820 PL BRI — 20 =4 1 470 5 500 975
3137 Bt 61252 Tkttt 3832 L VB ER YA A DU 2H =4 4 1115 5 500 1620
3138 B 612527 xkkkk%%%3814 L VBRI T2l =4 2 760 5 500 1265
3139 TR 61252 7Kkt 3837 L R BRI AT T2l = 2 625 5 500 1130
3140 HIEE 61252 T#kkkkxx%3810 DL DU I A — 20 Y 4 1705 5 500 2210
3141 e 612527 xkkkkkx%381 | L HE R A 7S 2] — 1Y 5 2210 5 500 2715
3142 a4 612527 kkskekekekekek 3819 LG DR A — 2] -y 4 1615 5 500 2120
3143 Bk 61252 Tkl k3810 L HE R A /S 2 — 1Y 2 965 5 500 1470
3144 HIERE 61252 7%k %%3814 PL HE R A — 20 — 1Y 3 1470 5 500 1975
3145 e 61252 Tskkeeloletolok 3824 PLm VR =21 A 3 1335 5 500 1840
3146 ARG 61252 7Kkt 3813 L HE R AT =20 — 1Y 1 440 5 500 945
3147 Rz 61252 Ttttk 38 17 LB DR ] B 6 2850 5 500 3355
3148 IRIFKAR 61252 Tk x3818 FLp VBT A )\ 4 — 4% 2 1015 5 500 1520
3149 I 61252 T kkkkkkkx 3829 L5 DRI A — 20 — 1Y 2 1240 5 500 1745
3150 /N E 61252 Tkl 38 14 PL VR I AT DU 2H R 2 875 5 500 1380
3151 MK AE 61252 7%k %%3834 PLs R AT — 2] — Y 3 1380 5 500 1885
3152 B4 612527k kskkkk3812 BL7 DV A =20 — 5 1945 5 500 2450
3153 e R 61252 Tkt k3821 FL R A PUZH — 1Y 1 665 5 500 1170
3154 HFELL 61252 7 kkkkokkk3842 L HE R AT =20 A 2 965 5 500 1470
3155 KT 61252 Tskkeloletolok 38 1 X LG DR =20 Y 1 370 5 500 875
3156 [ tH R 61252 7Kkt 3818 PL R A PU2E = 3 735 5 500 1240
3157 FEET 61252 Tkkskk44k3819 TLJ7 R A —2] =AY 2 490 5 500 995
3158 HIEZL 61252 7%k %%%3815 L R AT — 2] =Y 4 1340 5 500 1845
3159 22t 61252 Tx%kkkx%%381X L HE R A 7S 2] =Y 6 2100 5 500 2605
3160 J7 M 61252 Tkt 38 14 L5 DR A —2H Y 1 370 5 500 875
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3161 HIE R 61252 Tkktiol 3832 B VBRI A — 20 =Y 1 470 5 500 975
3162 K2 61252 T ktkottokk4015 LG OEERE A HA =1 1 470 5 500 975
3163 TARK 61252 Tkkkkkx5k3815 B VBRI A — 20 — kY 4 1750 5 500 2255
3164 HiE A 612527 wkkkokiork3817 B O A PUAH =Y 1 470 5 500 975
3165 R 612527k ksikkk3813 BL L VBRI 7N 20 —B 1 370 5 500 875
3166 HiEi 61252 Tkl 3810 B VBRI A — 20 R 2 740 5 500 1245
3167 B8 612527k ksikk3k381 7 BLE DU A =20 - 2 875 5 500 1380
3168 [GRARE] 612527 kkkkiokk3812 B VBRI A 75 20 =Y 2 490 5 500 995
3169 HIE A 61252 Tkl 3816 B VBRI A 20 —Y 1 665 5 500 1170
3170 YR BH = 61252 T#kkkkkxx3814 DL VI A =20 —14 1 665 5 500 1170
3171 et 612527 kkkkiokk3813 B VBRI A — 20 — k4 1 665 5 500 1170
3172 Riwica 61252 Tkksikk3k3814 INZARE SNy | — | 1 440 5 500 945
3173 T 61252 Tkkiol 3829 B VBRI A — 20 R 3 1380 5 500 1885
3174 NS 61252 T wkkkkiokk3822 BLs VBRI A — 20 — Y 1 595 5 500 1100
3175 JitaAE 612527 kkikx3k4014 L E SR e A = 3 1560 5 500 2065
3176 IR 61252 Tkt k4012 LSRG IIA — 1Y 2 1105 5 500 1610
3177 WA 61252 7kkokkdokq 01 1 DL S R G A U - 1 575 5 500 1080
3178 77 78 bk 61252 Tkktokokx401 1 EOHSREMNHA — 4% 1 440 5 500 945
3179 TN 61252 Tkl 4026 P LRGN —H — k4 2 1240 5 500 1745
3180 ji A 612527k ksikk3k4 017 LSRG —H Y 3 1110 5 500 1615
3181 Bk E 612527 xkkkkikx4016 L O R EMIIA —4% 1 440 5 500 945
3182 JE K& 612527k ksikk3k4 017 DL D R GRS =B 1 245 5 500 750
3183 15 2% 610402%kkkkk4k%519X s DL R GRS E — Y 3 1590 5 500 2095
3184 KT 61252 Tkksktiol4017 s DL R ERNE Y 1 370 5 500 875
3185 JELE 612527k ksikk3k4 025 LSRG —H —14 2 1015 5 500 1520
3186 AR 612527 kkkkiokk4014 AR SV avay) Y 2 965 5 500 1470
3187 TiatE 612527 kkikx3k4036 DL D R GRS —14 1 575 5 500 1080
3188 KEK 61252 Tkkktiok4010 N AR L Sl ) Y 5 2120 5 500 2625
3189 Bro 25 [5] 61252 Ttk ®4012 L OB RGN —14 2 1150 5 500 1655
3190 s 61252 Tskkikxk4034 LSRG —=H —14 1 575 5 500 1080
3191 ERia0nd 61252 Tkkkkxkk4012 L TS R GRS — k4 2 1015 5 500 1520
3192 IMITR 612527k ksikk3k4015 LG E S RGN —H - 2 1100 5 500 1605
3193 KR 612527 kkkkiokk4013 WAL D Sl ) Y 2 1010 5 500 1515
3194 i M 612527 wkkkokiork4017 N AR Sl ) 4y 3 1245 5 500 1750
3195 Tt 612527 kkikx3k4014 NIk e Sslavav:| =1 2 760 5 500 1265
3196 LS 612527 wkkkkiokk4049 N AR St L ) =14 1 380 5 500 885
3197 (EAR] 61252 Ttttk 012 AN E =Y al L] =1 4 1385 5 500 1890
3198 fi it 61252 Tkxkkrk%4014 N AR Sl ) Y 2 875 5 500 1380
3199 K 61252 THkskkrk*4018 WAL Sl ) — 4 1 245 5 500 750
3200 Bt R 612527 kksikx3k4014 NIk e Sslavav:| — A 1 245 5 500 750
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3201 R 61252 Tkt k4017 N AR St L ) — 1 575 5 500 1080
3202 JE] A AR 612527k ksikkkk4 013 I OES R e A =1 2 490 5 500 995
3203 L 61252 Tkkiol 4028 N AR Sl aVAY:) — 4 1 380 5 500 885
3204 REAEHE 61252 Tkktrkkd 021 N AR Sl ) Y 1 505 5 500 1010
3205 [V e 5 612527 skkikx34020 Ik e SSlavav:| =1 1 380 5 500 885
3206 S VEED 61252 Tkktior4039 AR St L ) R 2 1190 5 500 1695
3207 JeEE 61252 Tk ksikk3k4 028 L E SR e —H =1 2 625 5 500 1130
3208 [EPN 61252 Tkkiok4015 s DL R GRS E Y 1 370 5 500 875
3209 K% 612527 wkkkkiokk4017 N AR Sl ) =14 4 980 5 500 1485
3210 (e 612527k ksikk3k4018 NN ek | Y 3 1335 5 500 1840
3211 KM 61252 Tkkpktiok4016 N AR Sl ) — 4 5 1630 5 500 2135
3212 TR 6110263kkskkx 76 1X B S R AR SH =Y 1 470 5 500 975
3213 DN 61252 Tkkior4018 WAL Sl aVAY:) — 4 2 850 5 500 1355
3214 EES A 61252 Tkkskaiolx3815 s NEL RGN A — k4 1 665 5 500 1170
3215 Pl 612527 kkikx3k4014 DL DS R G A U = 1 505 5 500 1010
3216 KA 61252 Tkl 4019 L S RGN 4 Y 3 1380 5 500 1885
3217 g M2 61252 7kkokkdokq 01 1 L OE SR e H - 3 1110 5 500 1615
3218 PR 61252 Ttttk 4220 N AR Sl ) Y 1 505 5 500 1010
3219 B P 61252 T wkkikiokk4013 N AR Sl ) 4y 1 505 5 500 1010
3220 B8k 612527834018 L E SR e A - 1 440 5 500 945
3221 PR 612527 kkkkiokk4018 EOHORENHA —4% 1 665 5 500 1170
3222 THH 612527k ksikk3k4 025 DL S RGN - 6 2715 5 500 3220
3223 e 61252 Tkkskkx3k4032 e e — 4 — kY 5 2255 5 500 2760
3224 MRk 5 61252 Tkkskkx3k4013 s NS SR —H — k4 5 2470 5 500 2975
3225 78 AT 612527k ksikk3k4039 G BN FH Y 3 1335 5 500 1840
3226 MRt 61252 Tkskksk 4039 s S GRS A —FY 2 1240 5 500 1745
3227 TRAE 612527834018 L SR FAH — | 2 1240 5 500 1745
3228 FEHTX 61252 Tkkkkkxkk4028 s NS SR AAE — kY 2 740 5 500 1245
3229 T 0 61252 Tkkkkkxkk403 1 L e G —3 kY 2 875 5 500 1380
3230 [ B 61252 Tkt 401X L AEesar—4 —14 2 1240 5 500 1745
3231 kAN 612527 kkkkiork4039 LA Ode e —8 —1% 2 1015 5 500 1520
3232 ZE 61252 Tkksikokk4 024 SR —H - 3 1245 5 500 1750
3233 ROl 61252 Tkt %4036 L e G =4 — kY 2 965 5 500 1470
3234 7 61252 T kkkkkxx4014 L e G =4 — kY 3 1245 5 500 1750
3235 kA 612527 kkikx3k4014 L G B =4 Y 4 1840 5 500 2345
3236 TR 611026%kkkkxkk481X B S R A — kY 1 595 5 500 1100
3237 Bk o 61252 7kksikx34020 LS HR 8 — 2 875 5 500 1380
3238 Tir= 612527 xkkkkk401X s NS SR —H —1 1 245 5 500 750
3239 HE Hifj 61252 Txskoksokxx402X L DG G 7S A — 1Y 1 575 5 500 1080
3240 R 61252 Tktolotetokok4 01 1 L e G =4 —F4 2 880 5 500 1385
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3241 T 61252 7kkktkokkk402 | W HEEaER =4 A 3 1335 5 500 1840
3242 KM EE 61252 Tkl 4010 P A e AU - 1 665 5 500 1170
3243 XEEf 61252 Tkt k4012 P A S SR IUE — 1Y 1 575 5 500 1080
3244 WAL 61252 Tkt k4022 EHEEaER —H Y 2 740 5 500 1245
3245 B AR 61252 Tskkioltotolok4032 EOEesar 4 — Y 5 2345 5 500 2850
3246 2 5 61252 7kksickkiokd (18 L A GRS A = 5 1720 5 500 2225
3247 1ok [F] bk 61252 Tskskiottotook 4017 P A AR - 1 440 5 500 945
3248 AT 61252 7%k %%402X P A R NA — 1Y 2 965 5 500 1470
3249 ML 61252 7 skkkokkx 401X L A S GRS A — 1Y 2 1150 5 500 1655
3250 A 61252 Tkttt 4016 WA e N A - 1 665 5 500 1170
3251 BT it 61252 Tkl x4016 L A S SRt PUZE =14 4 1205 5 500 1710
3252 FE 61252 Tkttt 4013 P A AR U B 1 370 5 500 875
3253 R 61252 7xskkkk%%4010 EHEeEahA — kY 2 1010 5 500 1515
3254 IR 61252 Tkkkkkk%4016 LEOe e —8 =14 3 960 5 500 1465
3255 BB 612527 kkikx3k4014 L G AR —H — 2 625 5 500 1130
3256 TEE 61252 7xkkkkk%%4016 EHEEaENTA — kY 2 1010 5 500 1515
3257 PEME 61252 Ttttk 4013 P A AR I =4 4 1115 5 500 1620
3258 Fi5E 61252 Tkl 405X s NS SR AAE — kY 2 875 5 500 1380
3259 e it 61252 7kkkkkk40] | W HEEaE—H =Y 2 490 5 500 995
3260 5 [H I 612527 kskketekekek401 1 HEOEsaMN—H kY 3 1110 5 500 1615
3261 BRE 612527 kkkkk4%4019 W HEEaER =4 = 4 1250 5 500 1755
3262 Ebus/e 61252 Tkkkkk4026 PLs g SR YA — kY 4 1615 5 500 2120
3263 HRA 61252 Tkkiol4015 P NS SR A — kY 2 740 5 500 1245
3264 At 4 61252 7skksickkiok5412 EH#EEENTA =} 6 2100 5 500 2605
3265 B & 612527834019 G BN FH Y 5 2120 5 500 2625
3266 TSV 612527 xkkkkkx%4028 L A GRS E — 1Y 1 595 5 500 1100
3267 X8I 61252 Tskkiololetook 4014 P A AR U B 2 965 5 500 1470
3268 KM 61252 7#kkkkk%%4016 P A S SR IUE A 1 505 5 500 1010
3269 E L 61252 7kksickkiokd (15 EH#EEENTA = 5 1630 5 500 2135
3270 Jéi fn gt 61252 Teksolotoiek4019 L e SR A =AY 1 470 5 500 975
3271 TEM 61252 Tkt k4012 PLm A GRS E =14 2 625 5 500 1130
3272 T E#E 61252 Tkkskk45k4029 A EE SR A =AY 1 380 5 500 885
3273 A 61252 Tk x%422X P A GRS A =4 1 470 5 500 975
3274 REE 612527 kkkkk4%4015 W H#EE RN =4 =R 1 470 5 500 975
3275 gk e i 61252 Tskklolteotolok 38 13 DTN HA =4 1 470 5 500 975
3276 PSR 61252 Tx%kkkx%%4010 W HEEaER =4 Y 3 1335 5 500 1840
3277 K Ih P 61252 Tkttt 4013 pOEesart 4 —1Y 1 370 5 500 875
3278 Sk 61252 Tx%kkkkx%4014 EHEeEar—4 A 1 505 5 500 1010
3279 IR 61252 T k%4019 L DS SR VUA =Y 4 1115 5 500 1620
3280 R % 61252 Tkt 4014 REOHEORENHH — 4 1250 5 500 1755
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3281 HE= 61252 7%kt k%4022 W HEE e —H =4 6 2100 5 500 2605
3282 R 61252 Ttttk 4 103 EOEesatt 4 A 2 875 5 500 1380
3283 1ENE 612527 xkkkkkx%4018 EHEesEar —4 =4 2 760 5 500 1265
3284 BB 61252 7skksickkiokd ()12 T e R =4 — 1Y 2 880 5 500 1385
3285 JE ST 612527 kkkekekkokk 4016 WA S R e e - 1 575 5 500 1080
3286 Espt 61252 7%k 4%4025 L S AT PUZE — 1Y 1 575 5 500 1080
3287 KHD 61252 Tkkkkkokkk 3823 DS EMN R —1Y 1 595 5 500 1100
3288 EE % 612527 x%kkk%%%3810 P HEEEN — 4 1 440 5 500 945
3289 FEHTE 612527 xkkkkx%%381X W HEEENTA — 4 2 1150 5 500 1655
3290 HEITikEE 61252 Ttttk 402 1 OB RN = — Y 1 595 5 500 1100
3291 25 7 61252 Tx%kkkxx%4014 LSRN =H — Y 3 1245 5 500 1750
3292 F gk 61252 Ttoktokxk4018 Lo g A — 4 A 3 1380 5 500 1885
3293 e B 61252 7%kkkkk%%4016 PSRN —H — 4 2 1015 5 500 1520
3294 Lk 61252 Takkkkkk k4074 PSRN —H — 4 1 440 5 500 945
3295 JEEEIRR 612527 kskkeekekkek 381X DS RN HA =Y 4 1250 5 500 1755
3296 B 61252 7ikololok k3816 T e B NE = 2 850 5 500 1355
3297 ki 61252 Ttk 3812 R I B =AY 1 380 5 500 885
3298 B 61252 Tkkkkkk k3826 P A S ENTA =4 1 380 5 500 885
3299 R 612527 kkkk4x38 18 s R TiE — kY 1 505 5 500 1010
3300 ZER 61252 Tskkloktotook 38 12 L HEES R TIE Y 1 370 5 500 875
3301 R 61252 Tkt k4039 R OEEsREMN=H =4 2 760 5 500 1265
3302 H2 61252 Tkskkk4022 L g A =4 =AY 1 380 5 500 885
3303 BUiE 61252 Txkkkkx%401 | W HEEEN=H =4 2 760 5 500 1265
3304 BRE R 612527kt kx401 7 LSRN = — 4 1 575 5 500 1080
3305 RbEAE 61252 Tskkioltotolok 4022 L HE SRR —H =4 1 245 5 500 750
3306 e piia 61252 Takkkkkk:4020 PSRN — 4 1 575 5 500 1080
3307 R T 612527 kkkeeekk 381 1 R O ES B R-EAH =Y 2 850 5 500 1355
3308 [ B B 61252 7xkkkkk%%4010 R OEsREN—H =4 2 715 5 500 1220
3309 T 61252 7 skkkkkx38 1 X s B TiE =R 4 1250 5 500 1755
3310 HE=E 61252 Tskkekeloltook 38 1 X L RS RS =4 2 760 5 500 1265
3311 2B ERLS 61252 7ickolotokerkd01 4 s R =40 Y 5 2120 5 500 2625
3312 A 61252 Tkttt 38 18 LA HES RN TIE =4 4 980 5 500 1485
3313 T 61252 Tkl 4010 L G R A Y 1 505 5 500 1010
3314 B T 612527 kkkkk4%4015 L A S B AT U =R 3 735 5 500 1240
3315 B 2 61252 Txkkkxx%4018 L5 DG B PYAH == 3 870 5 500 1375
3316 [ERIENE53 61252 7Kk 4%3828 Lo e 2R A =4 1 470 5 500 975
3317 253t 61252 Ttoktolokk5647 R B —4 =AY 1 470 5 500 975
3318 g 61252 Tkt 384X P A AN A =4 1 470 5 500 975
3319 NG 61252 7%k %%3824 L S AT U =Y 1 470 5 500 975
3320 BT 61252 Tskkkelolelolk 3826 L RS RS — 1 470 5 500 975
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3321 B Y 61252 Tk k3818 Ly O8ie B AT —4 — 1Y 3 960 5 500 1465
3322 YAl 612527 kkokkkokd 021 B 1B R N2 — 1 595 5 500 1100
3323 Yk 61252 Tkktrkt3821 s SRR —Y 3 1590 5 500 2095
3324 JE& I FE 61252 Tkkkkkx%3824 L5 G BRI 7S H — 4 1 470 5 500 975
3325 B Rt 612527kt 027 L5 DG B =4 =B 2 760 5 500 1265
3326 e 61252 Tkl 3810 s S B —H — A 1 470 5 500 975
3327 XIIE M 61252 Tk 4019 L O8I R A —H =1 2 625 5 500 1130
3328 RIS 612527 kkkkikk4015 L G R A — Y 1 440 5 500 945
3329 e~ 61252 Tkkkkkxxk4033 L DG B 7S — 1 1 440 5 500 945
3330 5 R B 612527 kkkokkdok381 | L5 DG B DY —14 1 665 5 500 1170
3331 1T it 61252 Tkktiol k5642 s S B A — A 1 380 5 500 885
3332 BEE 61252 Ttk 4027 FLp VR AT PO A =1 5 1810 5 500 2315
3333 AT 61252 Tkl 4016 L G B A — A 4 980 5 500 1485
3334 EIEE 611026%Fk530k% 7619 L G B AA — A 1 470 5 500 975
3335 TR 612527k ksikkk 3827 B 1B RN =B 3 960 5 500 1465
3336 EET 61252 Tkkkkiokx402X FLps VB A — 2 =14 1 470 5 500 975
3337 EFERR 612527k ksikk3k4 037 PL DV A — 2 - 3 1335 5 500 1840
3338 fi vk 61252 Tkkkkk*4035 BLs VS EN —2H Y 3 1245 5 500 1750
3339 BER 61252 Tkkktikx4010 FL 7 VAR A — 20 — 2 1150 5 500 1655
3340 LA 61252 Tk x%4016 L VB R =4 == 5 1720 5 500 2225
3341 ¥ L3 61252 Tkktior4012 FLps DV A — 21 Y 4 1705 5 500 2210
3342 FiET 61252 7kkokkkokq 01 1 PL DV A — 2 - 5 2345 5 500 2850
3343 RE 61252 Tkkskk kx4 028 BLs VBN — 21 —Y 1 440 5 500 945
3344 D 61252 Tkkpktiokcd034 BLs VS ER DY 2H — k4 3 1815 5 500 2320
3345 =t 61252 Tsstietokx4 014 FL OB A 21 4 3 1110 5 500 1615
3346 e Eiss 61252 T wkkkkiokk4027 L O N H A Y 2 965 5 500 1470
3347 Nl SE 61252 Ttttk 40 1X BL DV ER A =1 3 960 5 500 1465
3348 AN\ 61252 Tkkxkkrkk401X BLs VS ER 2 Y 3 1335 5 500 1840
3349 ARisaIl] 61252 Tkksktiol4015 BLs DVEEEN A Y 2 965 5 500 1470
3350 VAR 612527 kkikx3k4014 FL DV A B Y 3 1335 5 500 1840
3351 BT 61252 Tkktiol4012 BLs VS EN LA — k4 3 1590 5 500 2095
3352 LA 8 61252 Ttttk 4011 1 LG OEERE A HA Y 3 1335 5 500 1840
3353 oVl 61252 Tk%3kkxxk4010 BLs VB EA DY 2H R 2 1190 5 500 1695
3354 Sl 61252 Tkl 4038 BB VIR AT I\ Y 2 1190 5 500 1695
3355 M AT 612527k ksikk3k3012 PL VR A\ 2] Y 1 505 5 500 1010
3356 R 61252 Tkt %4036 FLps VB AT VY20 =14 2 625 5 500 1130
3357 PIESE 61252 Tk 4035 LG O8I —4 Y 4 1615 5 500 2120
3358 i 61252 Ttk *4012 BB VB A — 2 — 14 2 880 5 500 1385
3359 5 HOR 61252 Tkktkkd011 B VIR A — 2 Y 1 370 5 500 875
3360 e 612527434020 PL VR A — 21 — 4 980 5 500 1485
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3361 KBTS 61252 Ttk *4023 FL 7 VAR A — 20 — 1 665 5 500 1170
3362 fh A= 612527 kpkerickx4010 BLJ VB R A I\ 4 4 3 1335 5 500 1840
3363 E AR 61252 Tkpkkkkx4018 B VB FEAT VY20 Y 4 1975 5 500 2480
3364 TER I 61252 Tkkpktiokd014 FLp VB A HA — 4 4 1475 5 500 1980
3365 0PN 612527834019 FL DV A LA =1 4 1475 5 500 1980
3366 MR 61252 Tkkktiok4016 FLps VB A — 2 R 5 2210 5 500 2715
3367 FHE 612527 ipioiokk4014 BLJ VB R A DU 4 3 1245 5 500 1750
3368 EAR I 61252 Tkxkkrkx4014 BLs VB ER 7S 21 Y 4 1750 5 500 2255
3369 &Y 61252 Tkl 4013 FL 7 VAR FEA — 20 —14 1 575 5 500 1080
3370 TIf4E 61252 Tkkkkxx%4019 L VB R =4 —14 1 440 5 500 945
3371 A 61252 Tkktrkkd 021 FL 7 VAR A — 20 —4 1 665 5 500 1170
3372 HiT 612527 kpieopiork4028 BLJs VB A — 4 4 1 595 5 500 1100
3373 e 61252 Tkkptiokd014 FLps VIR FEAT DY 20 — 4 1 440 5 500 945
3374 R T 61252 Tkkktiol4013 FLp VIR A H2 — 4 4 1115 5 500 1620
3375 B2 TE R 61252 Tkt k%4022 L VB R =4 - 1 575 5 500 1080
3376 Fi% 61252 Tkkior4013 BLs VS ER DY 2H — k4 3 1455 5 500 1960
3377 2B A 612527 kkpieiokx4 01X FLp CUEB R FE R 7S 4 R 2 875 5 500 1380
3378 VLR 61252 Tkl 4016 BLs VS EN A — 4 1 470 5 500 975
3379 PR Bt 61252 Tk wkrkirk401 1 FL 7 VAR A — 20 — 1 2 965 5 500 1470
3380 VR B 612527 kpeopiorkd 012 BLJs VB R A LA 4 1 595 5 500 1100
3381 ] 612527 kkkckokx401 1 FL OB A\ A 3 1245 5 500 1750
3382 X 25 B 612527 kkkoriokx40] | LG OEERE EAEA 4 1 595 5 500 1100
3383 FizH 61252 THkkkrk*4032 FLps VB A — 21 — kY 8 3860 5 500 4365
3384 T 61252 Tkkkaior4019 FLp VB A H 2 — 4 5 1630 5 500 2135
3385 e 61252 Tskkkkxx401X DL DV A — 4 == 4 1250 5 500 1755
3386 FithE 612527k 02X BLs VS ER )\ 1 1 380 5 500 885
3387 X022 61252 Ttttk 028 BLJs VB A — 4 =1 1 470 5 500 975
3388 B BE 61252 Tkkkkkx4025 BLs VB EN FL 20 — 4 1 470 5 500 975
3389 KL 61252 Tkktiol 4047 FLp VR A HA — 1 470 5 500 975
3390 EMIL 61252 Tkkkkxx%4029 DL DV A 7S 4 == 1 470 5 500 975
3391 SLE 61252 Tkkior4018 BLs VSN FL 20 R 6 2625 5 500 3130
3392 AR 612527 kkiepiork4015 BLJ VB A LA R 1 595 5 500 1100
3393 [ 61252 Tkl 4020 BLs VBN — 21 — 4 2 760 5 500 1265
3394 VA E R 61252 Ttk %4020 FLp VR A EA =14 1 470 5 500 975
3395 i A 612527 kkkkkok4 01 1 DL DV A B =1 3 1095 5 500 1600
3396 SR 41 61252 Tkkktiok4016 FLps VB A — 21 — 4 1 470 5 500 975
3397 REE 61252 Tkt 026 BLJs VB A = 4 =1 1 470 5 500 975
3398 e 61252 Tkl 4016 BB VB FEA LA Y 3 1245 5 500 1750
3399 au:id 61252 Tkt k4027 BB VIR FEA LA =14 1 470 5 500 975
3400 PiEds 612527834019 PL DV A Tl = 4 1615 5 500 2120
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3401 e 61252 7sksickokiokd (17 PLs DV A 7S 20 R 4 1750 5 500 2255
3402 A4 61252 7 etdotiokk4014 LG OEERE A =4 1y 5 2255 5 500 2760
3403 Ko 61252 Tkkskkx3k4017 BLs VBN — 21 —1 4 1340 5 500 1845
3404 e 6125276401 1 IWANEE e A — k4 1 665 5 500 1170
3405 e S 61252 Takiikkkk4010 BLBE DB SR A — =] 1 440 5 500 945
3406 a4 61252 Tketkorickx4010 FL s VAR A — 20 — 1 440 5 500 945
3407 XI5 61252 T ttotiokk4024 FLG OB A LA =Y 4 1340 5 500 1845
3408 HH hint 61252 Tkskksk 4029 BLs VS ER 2 — Y 2 740 5 500 1245
3409 T2 R 61252 Tkkkkkxx4014 BLs DVEEEER LA — kY 5 2120 5 500 2625
3410 HEF 6125253k %ikx3k3440 DL DV A — 4 kY 2 875 5 500 1380
3411 E 61252 Tkkskkk3k4013 WANEE e A — kY 2 740 5 500 1245
&it: 3411777303 A 7303 3218950 17055 1705500 4941505

586 Tl




